RRB PO (MAINS)-02/2021

Passage for Question 1, 2, 3, 4, 5 (ST-02RRBPOMAINS(1-5R)2021)
eng/eng Passage

Study the following information carefully and answer the given question.

rafafad STasTa F 1 sq\ga T AFITH AT ITIT FTIACRN

Five friends i.e. J, K, L, M and N have decided to visit the zoo, so they have visited the nearest zoo, where they see that there are ten animals- Tigers, Elephants,
Foxes, Crocodiles, and Reptiles. Each has two pairs. The enclosures in the zoo are named X, Y, Z, P and Q and each enclosure is allotted to one of the following
attendants; D, E, F, G and H. Two animals of different species are housed in each enclosure. A Tiger and a reptile cannot be together. An elephant cannot be with
either a reptile or a fox. M meets D attendant. G is attendant of animals among fox, reptile and Elephant only. E is attendant of a Tiger and an Elephant. D is not
attendant of reptile, tiger or fox. K goes to see enclosure Z. X, Y and Z are allotted to E, D and H respectively. J has seen Tiger and crocodile together. X and Q
enclosures have one animal of the same species. Z and P have the same pair of animals. L meets attendant E.

T Zredt AT I, K, L, M 3ie N iR &1 s a1 daar B g, safe s Meaeaw Sz s & G &, sei 7 3= € a1 sSwae -
a1, greft, e, s 3T TG 1w i 21 e 81| A § aret A7 X, ¥, Z, P #iiw Q A Rt =t B siie wede ang v Awferfa D, E, F,
G 3T H & § U e[Sz Arated AT AT g o Iier # AT ISl & &1 SHaY T U g1 979 ¥ G997 UF 979 T21 g1 dahd| g a1 a1 9097
T ATHET % AT A1 21 aFaTl M stee D & Hear 81 G Fae AHeT, 99T 37T g1 % fi= el 77 dece gl E UF ard 3T UF greff #7 sz 81 D
LT, AT AT ATHET 7 3ESE A21 g1 K, 912 Z F 3@ AT g1 X, Y i< Z 7 F7er: E, D ¥ H &7 siafed 3 73w 81 J 7 919 sfT #-ee=eg &l UF 912F
ATl X 3T Q ATET H U &1 TSI T UF AHa< gl Z 3T P H FAa< il Uk GHE =T g1 L, 1S E 7 fHerar 21

eng hin Passage

Study the following information carefully and answer the given question.

e TTasTd &1 eamyd® AegaT L A fRrrr g FTITTR)

Five friends i.e. J, K, L, M and N have decided to visit the zoo, so they have visited the nearest zoo, where they see that there are ten animals- Tigers, Elephants,
Foxes, Crocodiles, and Reptiles. Each has two pairs. The enclosures in the zoo are named X, Y, Z, P and Q and each enclosure is allotted to one of the following
attendants; D, E, F, G and H. Two animals of different species are housed in each enclosure. A Tiger and a reptile cannot be together. An elephant cannot be with
either a reptile or a fox. M meets D attendant. G is attendant of animals among fox, reptile and Elephant only. E is attendant of a Tiger and an Elephant. D is not
attendant of reptile, tiger or fox. K goes to see enclosure Z. X, Y and Z are allotted to E, D and H respectively. J has seen Tiger and crocodile together. X and Q
enclosures have one animal of the same species. Z and P have the same pair of animals. L meets attendant E.

= great AT ), K, L, M 3T N 7 T2amee &1 3@ &1 wqer 391 €, 390 Seai (Heaean iEamee &1 27 5T 8, sigi 7 39q ¢ T 29 Sae -
T, AT, FHET, A= ST HLgT 2| T4 6l &1 (=1 g A= § arst #1 X, Y, Z, P 3% Q 7 {47 137 8 &% 94 a1s #1 Mefertaa D, E, F,
G 3T H ¥ § U S Arated BT Tam g o qiers # A9 Isiaai & <1 SHaw T T0 g1 8T ST TG99 UF 97 781 21 Tehd| gt 71 a1 997
T AHET & AT Tal &l 9hdTl M siéce D & et g1 G Fad Awet, G497 i< grefi & d= Srast &7 s1ese g1 E UF are i U grefi &7 s7ese 81 D
LG, AT AT AT HT Aeee Aal gl K, AT Z HT 3@ AT gl X, Y T Z FT FHT: E, D 3% H FT Srated B T g1 J 7 9T $iiT a9 =g, F1 UF 97
T 1 X 3fT Q ST H Teh & I =0T U AT g1 Z 3T P H SIHa< 300 Ush 9979 Sst gl L, 3723 E ¥ T 21

Q-1 N meets which attendant?

N 3 erdge o fHerar 22

01. D 02. E
03. F 4. G

05. H
Q-1 N meets which attendant?

enghin N f3# erdSz & ferar 22

01. D 02. E
03. F 04. G
05. H
Solution for Question 1 Ans Key: 4
eng/eng  eng Enclosure Attendant Animal
X E Tigers and Elephants
M Y D Crocodiles and Elephants
K Zz H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
EALS | araT HEET TR
L X E arg 3 emeft
M Y D TRA A BT
K z H T iR wwEt
N P G U R At
J Q F g AN ARES




eng hin

Friend Enclosure Attendant Animal
L X E Tigers and Elephants
] Y D Crocodiles and Elephants
K z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
EAL arer ot ElECr
L X E amg R gedt
M Y D TRE R
K z ] gy 3 wmEt
N P G WY ofiy At
J Q F Y R TRAS
Q-2 Enclosure Z is attended by which attendant?

eng/eng AT Z T 2@WTe % foru e srdSe it vt w22

01. H 02. D
03. G 04. E
05. F

Q-2 Enclosure Z is attended by which attendant?

eng hin  ATS Z FT F@siar % forg e srdSe =it var 1 82

01. H 02. D
03. G 04. E
05. F
Solution for Question 2 Ans Key: 1
Friend Enclosure Attendant Animal
L X E Tigers and Elephants
M Y D Crocodiles and Elephants
K Z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
L X E amy 3ty erht
M Y D TRAw Y gTdt
K z H wig oY dwet
N P G w9y oty Amet
J Q F 19 IR AR
Friend Enclosure Attendant Animal
L X E Tigers and Elephants
M Y D Crocodiles and Elephants
K Z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
g areT e AT
L X E arg oy BTt
M Y D TRAS 3R w14
K z ] gy i wmEt
N P G WY ofiy At
J Q F Y R TRAS
Q-3 In which enclosure Tiger and Elephant live?
eng/eng  THH AT | &1 ST Zrefl T2 22
01. X 02. v
03. 7 04. p
05. Q
Q-3 In which enclosure Tiger and Elephant live?
eng hin T a2 o are oite gl wa g2
01. X 02. Y
03. 7 04. P
05. Q
Solution for Question 3 Ans Key: 1
eng/eng Friend Enclosure Attendant Animal

L X E Tigers and Elephants



M ¥ D Crocodiles and Elephants
K z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
g aret edT R
L X E amy afty gt
M Y D TREwS i et
K z H Ty o @t
N P G wHY oY dwdt
J Q F Y R TRAS
enghin coond  Enclosure Attendant Animal
X E Tigers and Elephants
M Y D Crocodiles and Elephants
K Z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
g arer IEdT R
L X E ary i gt
M Y D TRE N et
K z H FEY o Wt
N P G TIY R AHSt
J Q F arg i AR
Q-4 The animals attended by D are
eng/eng WDW%W%WWE&W?
01. Fox and Reptile 02. Crocodile and Fox
ST T AT =g, 37T ATHE]
03. Crocodile and Tiger 04. Tiger and Fox
05. Crocodile and Elephant
=g, T gt
Q-4 The animals attended by D are

WD?W%WW?%?@WE&W??

01. Fox and Reptile

02. Crocodile and Fox

AHET T T =, 31T ATHEN
03. Crocodile and Tiger 04. Tiger and Fox
T 3T T T AT ATHST
0S. Crocodile and Elephant
W=, 3T greft
Solution for Question 4 Ans Key: 5
Friend Enclosure Attendant Animal
X E Tigers and Elephants
M Y D Crocodiles and Elephants
K Z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
ared arar ST W
L X E ary oy gt
M Y D TRE S Bt
K z ] gy fY wEt
N P G TIY R AHSt
J Q F Ty IR TRESS
e Friend Enclosure Attendant Animal
L X E Tigers and Elephants
M Y D Crocodiles and Elephants
K z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
EAr arer ede SR
L X E amy ity gt
M Y D RS R et
K z H Ty o @t
N P G Y ok Awdt
J Q F Y IR TR
Q-5 G is attendant of which enclosure?

eng/eng

qeZe-G o ars it TEaTe FXar 82



01. X 02. v
03. 7 04. P
05. Q

Q-5 G is attendant of which enclosure?

eng hin qeSe-G o ars it TgaTe Far g2

01. X 02. v
03. 7 04. P
05. Q
Solution for Question 5 Ans Key: 4
eng/eng  ciend  Enclosure Attendant Animal
X E Tigers and Elephants
] Y D Crocodiles and Elephants
K Z H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
ared arar ST W
L X E ary oy gt
M Y D TRE S Bt
K z H wqU offv wmet
N P G FqU oY Fwdt
J Q F g AN AT HSS
Friend Enclosure Attendant Animal
L X E Tigers and Elephants
M Y D Crocodiles and Elephants
K Zz H Reptiles and Foxes
N P G Reptiles and Foxes
J Q F Tigers and Crocodiles
L X E arg 3 graft
M Y D HIRADS 3§14
K z H WU oY FaSt
N P G WYY oY St
J Q F MY AT AR

Passage for Question 6, 7, 8, 9, 10 (ST-02RRBPOMAINS(6-10R)2021)
eng/eng Passage

Study the following information and answer the question given below.

fratrfaa TR s erra R TS fTrrruyg FTITT )

Eight people — O, P, Q, R, S, T, U and V are sitting around a circular table facing the centre. Each of them is of a different profession- PO, Clerk, Teacher,
Businessman, Financial Analyst, Lawyer, Professor and Scientist but not necessarily in the same order. P is sitting second to the left of T. The Scientist is an
immediate neighbor of T. There are only three people between the Scientist and O. Only one person sits between the Businessman and O. The Clerk is to the
immediate right of the Businessman. V is second to the right of T. R is the Scientist. Q and S are immediate neighbors of each other. Neither Q nor S is a
Businessman. The Financial Analyst is to the immediate left of P. The Lawyer is second to the right of the Clerk. The Professor is an immediate neighbour of the
Businessman. Q is second to the right of the PO.

ASART -0, P,Q,R, S, T, U T V b i AT UF TATRTT T o AT 3N T G| ITH F T A T- T U9y - e, wrh, foverss, sqaamdt, o=t
ey, e, TTHa 3T AT &1 ¢ Afsha s=dt 7t o =ofy & & 20

P, T 3 a0 Y T U% 927 g1 IATF T T TewTer TSIET g1 FATAF 3T O F 1= el o1 oANT 21 ST 37T O F i et U A<k I37 gl T,
FAFATAT F T 20 g1 V, T % I0 TAL I T2 | R TATF g1 Q 3T S UH-FHAL F [Adfead T2l g1 T AT Q 3T T & S UF AT 5| faiia fFgws
P qeHT dTS 3T gl Tl Feh a2 AT FEXT gl TTHH, SATATAT FT Tt T2t g1 Q, FYel F 3T oY AT 3

eng hin Passage

Study the following information and answer the question given below.

frafafag STasTd Frasgra R AR fRrrrwg w3

Eight people— O, P, Q, R, S, T, U and V are sitting around a circular table facing the centre. Each of them is of a different profession- PO, Clerk, Teacher,
Businessman, Financial Analyst, Lawyer, Professor and Scientist but not necessarily in the same order. P is sitting second to the left of T. The Scientist is an
immediate neighbor of T. There are only three people between the Scientist and O. Only one person sits between the Businessman and O. The Clerk is to the
immediate right of the Businessman. V is second to the right of T. R is the Scientist. Q and S are immediate neighbors of each other. Neither Q nor S is a
Businessman. The Financial Analyst is to the immediate left of P. The Lawyer is second to the right of the Clerk. The Professor is an immediate neighbour of the
Businessman. Q is second to the right of the PO.

WASAR -0, P, Q,R, S, T, U T V hg il AT UF TATHTT T 3 AT 3N T G| ITH F T A T- T U9y - e, wrh, foverss, sqaeamfy, o=t
ey, e, TTHa 3T AT &1 € Afshe st 72t o =ofy & v & 20

P, T 3 a0 Y TTH U% 927 g1 IATF T T TewTe TSIET g1 FATAF 3T O F 1= el o1 oANT 1 ST 37T O F i et U A<k 937 gl T,
AT F Tt 274 g1 'V, T3 270 g8 219 9¥ g1 R I3 21 Q ¥ S UH-gaY & ey ugdl 81 7 a7 Q T 7 2 S Us =t g1 fo<h= fagmw=




P 3 ThT TS AT 1 TohTeT, Tk o 2TE T AT 21 THAL, SATHTAT F7 TohTer T2t 81 Q, AT F ard A gaer g1

Q-6 Who sits second to the left of O?
eng/eng O F ATHT ST TAY TATH T HI 937 82

01. The Lawyer 02. Q
FhT

03. The Businessman 04. P
BEEIpil

05. T

Q-6 Who sits second to the left of O?
enghin O % T ST AL TATT TTHIT 9237 22

01. The Lawyer 02. Q
EEIE]

03. The Businessman 04. p
EELIp

0. T

Solution for Question 6

el
dirait v
o

caaarAT,
u

gfrE, S

T, urcames,
Q
; R,
Rt P Tt
TS,
1
Clerk
A :
PO Businessman
0 l U
Lawyer 5 T Professor
Q R celanth
Financial Anal T Scientist
P
Teacher
e,
i, v
caraarf,
T, urcam,

Ans Key: 3




Q-7 Which of the following statements is true according to the given arrangement?

engleng A TS AT & ATAT, Meforfed § & Fi9-87 F97 97 82

01. UisLawyer 02. R is scientist
Uafra g R 35T
03. PisPO 04. Only four people sit between the Clerk and T.
PaF M g F ¥ T % I = Fad 91 AE 98 2l
05.  All of the given statements are true.
fau mw T e w7 B
Q-7 Which of the following statements is true according to the given arrangement?

enghin & T2 7a#T & FqAT, Meforfad § ¥ F9-a1 F97 97 82

01. UisLawyer 02.

Uafag

03. PisPO 04.

PaF dTar g
05.  All of the given statements are true.
fau w T e T B

Solution for Question 7

U,
U

i s : " =1,

P

Lawyer S T Professor

Q R erianti
Financial Anal centst

T, urcHmges,

Q-8 Who amongst the following is the PO?
engleng THETITEd # & i = 22

R is scientist

R 3T

Only four people sit between the Clerk and T.

Fh AT T N Faer AT ATE 9 2

Ans Key: 2



01. O 02. p
03. Q 04. R

05. s

Q-8 Who amongst the following is the PO?
enghin  FferfEa & & i e 22

01. O 02. p

03. Q 04. R

05. s
Solution for Question 8 Ans Key: 1
eng/eng

Clerk
PO 5 ‘1 G Businessman
Lawyer 5 T Professor
T R Scientist

Financial Anal

diai v
0 S,
U

afird, S T, urcamges,

Q
i fagres B it

HEHTUS,

Busines 1

T, uramges,

Q-9 Who is Teacher?
engleng THHTITET # & STLATTH F 22

01. T 02. v
03. § 04. O
05. p

Q-9 Who is Teacher?
eng hin  TFIETCIET & & ST&ATTF Tl £2



01. T 02.

v
O

Ans Key: 5

03. S 04.
05. p
Solution for Question 9
eng/eng
Clerk
PO v Businessman
0 l U
Lawyer 5 T Professor
Q I
Financial Anal Scientist
P
Teacher
e,
i3, v

afird, S

T, urmg,
Q
) R,
i fadms P GEEC
FTHTOSE,
Bu
| tist
Teacher
e,
dirit v
Q AT,
u
adrd, S T, urcangs,
Q
) R,
e T, P AT,
P,

FHEATOS,

Q-10  Whatis the position of S with respect to the Clerk?
engleng ¥ % Heaw H, S T T FAT2?

01. Third to the left 02.

AT T

03. Second to the left 04.

ELLA G
0S. Immediate right
i
Q-10  Whatis the position of S with respect to the Clerk?
eng hin FTh o qeaW H, S T TATF FT 82

01. Third to the left 02.
ELLI R
03. Second to the left 04.

T AT

Second to the right
T ZAT

Third to the right
T =T

Second to the right
T ZAT

Third to the right
0 AT



05. Immediate right

ElEEEU
Solution for Question 10 Ans Key: 2
eng/eng
Clerk
PO \'lr Businessman
. U
Lawyer 5 T Professor
Q R eclanth
Financial Anal Scientist
P
Teacher

T, urcamges,
I
X ' X
[ \
r [
HN >/
] -
0 ! ‘ f
; K /’
e,
L) T ‘\.'l
e
U
afird, S T urex

Passage for Question 11, 12, 13, 14, 15 (ST-02RRBPOMAINS(11-15R)2021)
eng/eng Passage

Study the following information carefully and answer the question given below.

frafafya srasrd &1 sqmgd® aggaa R TR fRroag g srsacd
D, E,F, G, H, I, J and K sits in a straight line but not necessarily in the same order. Some of them are facing south while the remaining are facing north.

Note- Facing the same direction means if one person faces north then the other person also faces north and if one person faces south then the other person also
faces south. Facing the opposite direction means if one person faces north then the other person faces south and vice versa.

E and I face opposite directions and I sits fourth to the right of E. J sits second to the left of H. The immediate neighbour of G faces the same direction as G. D sits
second to the left of I. The immediate neighbour of D faces the same direction as J. K is not an immediate neighbour of J. Both the immediate neighbours of E face
opposite directions. One of the immediate neighbours of K faces north. F is at the fourth position with respect to D. K is not facing south. Both the immediate
neighbours of J face same direction. J is third to the right of E. F is not facing north. H is not third from the right end if we face north. H sits second to the right of G.

D,E,F,G, H, I, ] 3T K U " a1 § & g oifohet Sedt A1 Foh Tof %7 | 211 A0 7 Feg 01 7 S Safeh a9 39 67 37 39 72 8l

ST §- A 29T § T &7 3 g T 7T v =5tcr 397 it << a@ar g ar g1 t<n | 32 AT 3T F@T i< Ffs Ush o7i<h aferor 1 ofe a@ar g ar
AT =At<h o Zferor &1 T | A fRem § S #7 o 8 15 At v saixe S it Y T@ar 8 a1 gee Af<h Fferr Y S 3@ &7 3w |
E 3t | faqdia fRemsti # T@d g o< 1, E 3 313 =17 927 81 J, H 3% 970 §89% #219 92 81 G 7 Aeeqw 92t G % 907+ f3om # 3@ar g1 D, 15 ard ga%
TIT T2 957 81 D FT et T2 J o FH (@97 § 3@q1 81 K, J FT T T2 q2i g1 E % F1 (Mohead T2r€l f@adid fRermsti # qrer #3d 3@ 71 2
K % Tl T8t § § U 392 6l AT 3@dr g1 F, D Taf § 51 w1 9% 21 K aferor f e 78 3=ar g1 J % 241 qe et a9 fRem #3@a €1, EF
T AT 1 F ST T 3T 981 <@l gl T1e g9 I AT AT §g F7d & af H 3TH B § TaT 981 g1 H, G ¥ 10 g8 &1 97 gl




eng hin Passage

Study the following information carefully and answer the question given below.

frafafag STasrd £ 1 5qmga T steggT F AT RurrawFrswac
D,E, F, G, H, I, J and K sits in a straight line but not necessarily in the same order. Some of them are facing south while the remaining are facing north.

Note- Facing the same direction means if one person faces north then the other person also faces north and if one person faces south then the other person also
faces south. Facing the opposite direction means if one person faces north then the other person faces south and vice versa.

E and I face opposite directions and I sits fourth to the right of E. J sits second to the left of H. The immediate neighbour of G faces the same direction as G. D sits
second to the left of I. The immediate neighbour of D faces the same direction as J. K is not an immediate neighbour of J. Both the immediate neighbours of E face
opposite directions. One of the immediate neighbours of K faces north. F is at the fourth position with respect to D. K is not facing south. Both the immediate
neighbours of J face same direction. J is third to the right of E. F is not facing north. H is not third from the right end if we face north. H sits second to the right of G.

D,E,F,G, H, I, ] 31T K U e 3@ # 95 § oo STel dal (o THI /7 | 2T ITH & g 2107 T 3T ST AT I 6T AT 39 T 2

AT 3- HHE (29T § 3@+ #7312 g % afS us =ai=p S it Y T@qr g a1 gaer =i € I 1 3T 380 siT 7w v =xfcr aferr it e T=@qr g ar
FavT =ten oft aferor & e e A feem § S &1 o § 5%ty v =aixe soe Y e S 8 v geer =i aferr £ §re 3@ s zmE o
E 3 [ favdia fRermsti § T@q g T I, E 3 313 A197 927 81 J, H % 370 g8% #9 92 81 G 7 Meeqq T2t G % 967 fem # Z@ar g1 D, [ % a0 ga7
T 9T ST 81 D FT et TSI J o J8 (297 § 3@q1 81 K, J FT aehTe T2 721 g1 E % Tt sheaw q2r€t faadid femstt & ammer #3d 3@ 71 2
K % JenTe TEITaal § § U 302 60 A< a@qr gl F, D & §&9 § =19 ©I19 97 g1 K e 7 A< g1 a9ar g1 J % 41 T2 6t a9 fRem H#3@a g1 L, EF
T ATERT g F ST AT oY T a@dT g1 TTE g8 I 0 A7 §g Fd 3 af H I3 S F AT 751 21 H, G F 370 o #I1 I

Q-11 Who among the following sit at the extreme ends of the line?

Rrerfertaa # & F19 i & faw g a7 as 22

01. GD 02. HG
03. KL 04. K
05. None of these
T AL TN
Q-11 Who among the following sit at the extreme ends of the line?

Freforfaa @ & #19 ufee F w8 = as 82

01. GD 02. HG
03. KL 04. TK
05. None of these
TAH | S A8l
Solution for Question 11 Ans Key: 1
G f H K
eng hin G E H F J | K D

Q-12  Which of the following statements is true?
eng/eng THHTCITET § | &9 AT FoI T 22

01. K is at extreme end. 02. Hi sits to the immediate right of E.

K, 3" g 92 J1 8 H, E % 21 a1 AT 927 8
03. I sits between K and D. 04. Only three persons are facing north.

I, K 3T D% f= J21 3 FAA A ATHAT FT TG I AT AT F
05. None of these

TAH F ATE TRl

Q-12  Which of the following statements is true?
enghin  EfeIfEa & & i &7 Fore 77 22

01. K is at extreme end. 02. Hsits to the immediate right of E.
K, 3" g 97 JaT1 28 H, E % 2% a1 AT 927 2



03. T sits between K and D.

04.

Only three persons are facing north.

I, K 3% D % = =71 8 FA T ATHAT T TG I T AT &
05. None of these
TAH F FIS TRl
Solution for Question 12 Ans Key: 2
eng/eng G E H F ] | K D
eng hin G H F ] | K D
Q-13  Whatis the position of E with respect to F?
eng/eng F % gae § E 7 furfa 82
01. Immediate left 02. Second to the right
T AT T AT AT
03. Immediate right 04. Third to the left
qohTe TT0 aT0 AT T
05. None of these
TAH FATS Tol
Q-13 What is the position of E with respect to F?
F % #ae | E it feafa #=m 82
01. Immediate left 02.  Second to the right
03. Immediate right 04. Third to the left
05. None of these
TAH FATS Aol
Solution for Question 13 Ans Key: 2
G F H £ J J K D
& " " i
v l T ¥
eng hin G E H i ) K D
A & A L A
| v v | v
Q-14  How many person faces south direction?
engleng [+ SATTHAT T @ Ireror fZom T A7 82
01. 4 02. 5
03. 3 04. 6
05. 1
Q-14  How many person faces south direction?
eng hin  Fhae =f<rat =T W@ aferor faerm it e 82
01. 4 02. 5
03. 3 04. 6
05. 1
Solution for Question 14 Ans Key: 3
eng/eng G E H F J | K D
eng hin G H . J | K D



Q-15  Whosits 2nd to the right of K?
eng/eng K ¥ 3TC THL T 9 Fl 427 &2

01. D 02. E
03. F 04. G
05. No one

EIEE K]

Q-15  Whosits 2nd to the right of K?
eng hin K % 270 THL &9 9T FIF 37 22

01. D 02. E
03. F 04. G
05. No one
FIE TEN
Solution for Question 15 Ans Key: 5
eng/eng G E H F | I K

D
R A T N N R

eng hin

o)
e,
-

Passage for Question 16, 17, 18, 19, 20 (ST-02RRBPOMAINS(16-20R)2021)
eng/eng Passage

In the following question consists of three statements labelled I, IT and III. You have to decide whether the data given in the statement(s) is/are sufficient for
answering the question. Read all the statements carefully and seek all the possible combinations which could be sufficient for answering the question. A single
combination of statements with least number of statements which could be sufficient for answering the question would be your answer.

Freferfera swer & 1 10 372 111 & Arafera i e omfier 81 saat 78 93 37 ¢ T3 e § 130 10 Sar wer ot 3 a9 & forw oate € / 21 oY serei &
AT I ¥ it FATTT FATSIAL T ATT F3 ST T FT IAL & 6 (1 TATH ST FH T FHH7 HAT 6 97T FAAT FT TF HAMSTT AT T FT IAL 3 5 (70
T 2 ThdT &, STTHT 3T 2T

eng hin Passage

| In the following question consists of three statements labelled 1, IT and I11. You have to decide whether the data given in the statement(s) is/are sufficient for
answering the question. Read all the statements carefully and seck all the possible combinations which could be sufficient for answering the question. A single
combination of statements with least number of statements which could be sufficient for answering the question would be your answer.

Trerferfera o 5 1 11 3T 111 & Arafera d o et g1 Tt I8 93 7 ¢ 3 o | 130 70 Sar w7 o7 3e 29 & forw gty € / 21 oy e =1
ST T U 3T THT TATET FHATSIAT 67 ST < ST T3 T IAL < o6 (70 TATH N1 FH F T HAT o AT FAFT BT T HATST ST T T IAL < o 70
TIATH T HhaT &, ATTHT STL 2T

Q-16  Inwhich year was Raushan born?
eng/eng 9 T STH T o | g3 o2

1. Raushan is six years older than Puja.

II. Puja’s brother was born in 1982.

I1I. Puja is two years younger than his brother.
L. FT9r, ST & o7 § g a9 92T 8

11 T 3 TS 7 S0 1982 H g =Tl

L. T 379 A7 & 27 a9 BT 2

01. Tand I only 02. Tl and II only
Faet [ ST 11 Fae 11 3T 111
03. AIlLIIL I 04. Tand Il only
gl L, 11, 111 Fae [T 1L
05. None of these
TAH T FIE TR1

Q-16  Inwhich year was Raushan born?
enghin V9T T SR e e & gatr o2



1. Raushan is six years older than Puja.

II. Puja’s brother was born in 1982.

I1I. Puja is two years younger than his brother.
L. F19I, ST & o7 § B 99 92T ¢

11 T 3 ATE T ST+ 1982 H g =Ml

L. T 37 A7 & 27 a9 BT 2

01. Tand I only 02. 11 and II only
Fae 1 =T 111 EEERIE RS
03. AILIL I 04. TandII only
T L 11, 11 EEEREIRS||
05. None of these
TAH TS TR
Solution for Question 16 Ans Key: 3
eng/eng  From statements IT and ITI, it is clear that Puja was born in 1984 and combining first statement it is clear that Raushan was born in 1978.
FAT 11 3T 111 &, Tg T2 3 T T F7 S0 1984 H AT T i< TIH FAF F G4 § T £ g T T &7 7 1978 H gam =m
eng hin  From statements II and III, it is clear that Puja was born in 1984 and combining first statement it is clear that Raushan was born in 1978.
AT 11 377 1M1 &, Tg T2 3 T T H7 S0 1984 H AT T i< TIH FAF F G4 § T £ 7 T T &7 7 1978 H gam =m
Q-17  How old was Manshi on 30th July 2012?
30 S[ATE 2012 T ATAET T A0 foha=t 72
I. Manshi is six years older than his brother Aman.
II. Aman is twenty nine years younger than his mother.
I11. Manshi’s mother celebrated her fiftieth birthday on 15th June 2012.
. WA 379 9T 3TH 7 o7 | B 99 927 2
I1. S8 ST At 7 29 79 FreT 8]
L. ATET T AT T 15 S 2012 FT ST 5087 STt q97T|
01. OnlyIandII 02. AIIL 1T and III are required
Faer [T aelT 1, 11 3 [ 979 3
03. Only IT and ITI 04. None of I, IT and I1I is sufficient to answer the question
Faef 11 37 111 [, 11 3% 111 5 & 7S < 27 37 S99 24 % o g3te 721 2
05. None of the above
SUIIE | S Aol
Q-17  How old was Manshi on 30th July 2012?
30 S[ATE 2012 T ATAET 0T 07 feher=t 72
1. Manshi is six years older than his brother Aman.
II. Aman is twenty nine years younger than his mother.
I11. Manshi’s mother celebrated her fiftieth birthday on 15th June 2012.
L. HATHT ST ATS STAA | o0 § T2 99 F=1 g
1. 78 ot at 7 29 79 FreT 8]
L. 9T 7 71 7 15 7 2012 ¥ 94T 5037 STeqiad 71|
01. OnlyIandII 02. AllL IT and III are required
FAA [T 10 T I, 10 &2 [ 7oTe 8
03. Only IT and III 04. None of I, Il and I1I is sufficient to answer the question
Faef 11 3T 111 L I3 [0 & & &S ofF 7o T 3% 39 & forw waty =) 21
05. None of the above
IYLE | H FS Al
Solution for Question 17 Ans Key: 2

eng/eng  All statements L, IT and III are required to answer the question.

5T T ST & o ToIT T 24 1, 11 3T 111 9T g

eng hin  All statements [, IT and III are required to answer the question.

T5T T 3T & o TorT Tl 24 1, 11 3T 111 a9 T g

Q-18  Whoamong P, Q,R, S and T is in the middle while standing in a line?
eng/eng P, Q,R, ST TH ¥ ufth & wex § #1 @71 87

1.Q s to the right of T.

IL. S is between P and T.
L. Q is between T and R.
1. Q, T T AT 2



Q-18

eng hin

ILS,PATTHA=H LI
L. Q, TMTRF A F Bl

01. Tand I only 02. IIand Il only
Faer [ T I Faet 11 3T 11
03. Tand Il only 04. AIL I, IIT
Faer [ 3T 11 aoft 1,10, 11
05. None of these
TAH T ATE TAl

Who among P, Q, R, S and T is in the middle while standing in a line?
P,Q, R, S 3% T H ¥ 4f<F F wex | hid @1 22

L1.Q is to the right of T.

IL. S is between P and T.
III. Q is between T and R.
L Q, T aTff AT Bl

IL S, P 3T T &= 7 B
I Q, TSTRF AHF Bl

01. Tand I only 02. 11 and II only
Fae [T I Faer 11 3T 110
03. Tand III only 04. AIlLIL I
Faer [T 11 Tl L, 11, 111
05. None of these
TAH H S ARl

Solution for Question 18

From the statements, II and 111, the order of ranking of P, Q, R, S and T in a line.
FAAT, 11 3T [ T, U Uik § P, Q, R, S ¥ T & IF=T 7 78|
[ ] & ® & ]

] -
|

OR/AT

From the statements, Il and lll, the order of ranking of P, Q, R, S and T in a line.

YL 1T Y, TH YR AP, Q, R, S 3N T & IfPT HT1HHI

L L ] ® L
ORAT
. 92— v @
R Q T ) P

Ans Key: 2

Q-19

eng/eng

How is ‘food’ written in a code language?
TFHE ATITH “food’ FT Fora THTT forar sTQarT?

1. ‘ram and shyam yesterday’ is written as ‘tom kanasa’ in that code language.

II. “you come yesterday ram’ is written as ‘jaka ta sa’ in that code language.

III. ‘yesterday food ram and shyam’ is written as ‘na ho kasa tom’ in that code language.

L. T %2 ATYT § ‘ram and shyam yesterday’ #T “tom kanasa’ % #7 & foraT STaT g1

1. =9 %= ATIT | “you come yesterday ram’ T ‘jaka ta sa’ % &7 H forar S[Tar g1

III. 3] e AT H “yesterday food ram and shyam’ #T ‘na ho kasa tom’ % ¥ § foraT StTaT %’I

01. Only I and III 02. Only Il and IIT
EEEREIRS|| Fae 117 11
03. OnlyIand I 04. All L II and III are required to answer the question

EEERE R Tl 1 11 3/ I 957 7 372 3 % fore o g



Q-19

eng hin

05. None of these
TAH IS T
How is ‘food’ written in a code language?
TH T ATITH “food’ HT Frg THTT Forar Srgarm?

1. ‘ram and shyam yesterday’ is written as ‘tom kanasa’ in that code language.

1. ‘you come yesterday ram’ is written as ‘jaka ta sa’ in that code language.

III. “yesterday food ram and shyam’ is written as ‘na ho kasa tom’ in that code language.

1. T FZ ATYT § ‘ram and shyam yesterday’ #T “tom kanasa’ % #7 # fora STaT g1

I1. =9 %= ATIT | “you come yesterday ram’ T ‘jaka ta sa’ % &7 H for@r S[Tar g1

III. 3] e AT # “yesterday food ram and shyam’ #T ‘na ho kasa tom’ % &9 ¥ fer@T stmar %’I

01. Only I and III 02. Only IT and IIT
EEEREIRS|| Fae 11 &7 11
03. OnlyIand I 04. AlIL, 1T and III are required to answer the question
Faer [T et I 11 3/ 0 o7 7 32 3 o for o €
05. None of these
=7k 4 7

Solution for Question 19

eng/eng  Statement- I and III

Q-20

Q-20

eng hin

Code for ‘food” is ‘ho’.
FI- [ ¥ 111
“food’ 3 ToIT #TE ho’ Bl

Statement- I and 111
Code for ‘food’ is ‘ho’.
FIA- [ 37 11

“food’ T i%l'l'f FIE ‘ho’ ?I

Who among Nilesh, Vasu, Deepak and Ashish is the youngest?
fAerer, arg, 9 ST smefie # 7 o1 & Fa9 Brer #4982

I. Deepak is younger than Ashish but older than Nilesh and Vasu.
II. Ashish is the oldest.

I11. Nilesh is older than Vasu.

1. Eeh, el & et § e fAerer siT arg & o # =7 3
I1. STefTe &7 7 Ja9 F=T 2

11, fAerer, 3T & & § 97 2

01. TandII only 02. Tand I only
Faer [T 11 Fae [T 1
03. II and I only 04. Tonly
Fae 11 = 11 FaeT 1
0S. None of these
TAH HFIS Tl

‘Who among Nilesh, Vasu, Deepak and Ashish is the youngest?
fRrer, o, AT oY smefier & & s H T FreT w7 22

1. Deepak is younger than Ashish but older than Nilesh and Vasu.
II. Ashish is the oldest.

III. Nilesh is older than Vasu.

L. 3T, smefte & Zrer g Afshe foerer o amg & sy § 927 81
1. srefte o & Ja 8 F=T 8

1L T, a9 & o § 92T &)

01. Tand I only 02. [and Il only
Faer [T Faer [ < 1
03. II and II only 04. Tonly
et 11 3T 11 Fae I
05. None of these
=73 1 F5

Solution for Question 20

eng/eng  From statements I and III we can find out who is the youngest among Nilesh, Vasu, Deepak and Ashish.

eng hin

FAT 1 37 11 | g0 AT F T g {3 Arorer, g, S o7 swefie § & g9 grer #19 21

From statements I and III we can find out who is the youngest among Nilesh, Vasu, Deepak and Ashish.

Ans Key: 1

Ans Key: 2



o 1 ST 11 & 21 311 T Tohd 2 o wfreter, oy, $e o< smefter & # qady grar 19 2

Passage for Question 21, 22, 23, 24, 25 (ST-02RRBPOMAINS(21-25R)2021)
eng/eng Passage

Study the following information carefully and answer the question given below.

Fafafaa FTasrd &1 samgd® segaT L A= RoagyrsrIacd

Seven people P, Q, R, S, T, U and V live on eight different floors of a building, but not necessarily in the same order. The lowermost floor of the building is
numbered 1; the one above it is numbered 2 and so on till the topmost floor is numbered 8 and one floor is vacant.

V lives on the fifth floor. P lives below U. Two people live between V and T. Neither R nor U lives on sixth number floor. Q does not live on third number floor. S
lives immediately below T. R lives above U. Q does not live on an even-numbered floor. More than one person lives between U and R.

A =ARE P, Q, R, S, T, U 3T V UF THILT % TS AeT-3TNT HiSTe I¥ T8d &, AAfohed STt At {oh U THT 1 %7 | g 0red it qa A=ett 9fore 1
T ST € 39% SOY ATelt 2 3 THT a8 a9 Ul §iord 8 ¥ U Hiore @t gl

V =t wf5rer 9% Tgar 21 P, U % A= TgaT 81 V 3T T 3 &1 &1 AT T84 &1 3t §ear it /et 92 7 a7 R 3T 7 &1 U ¥gaT 21 Q, ey dwar &t #ivrer
T Al Tgar g1 S, T & 31 A= Tgar g1 R, U ¥ U< TgaT g1 Q, TH-HEAT il IS ¥ Ag! ¥gar gl U 3iiT R % &= UF | fe =Af<h T&d &l

eng hin Passage

Study the following information carefully and answer the question given below.

Fafafaa ITasTd &1 samgd® segaT L AT A= fRoagwrsrIacd

Seven people P, Q, R, S, T, U and V live on eight different floors of a building, but not necessarily in the same order. The lowermost floor of the building is
numbered 1; the one above it is numbered 2 and so on till the topmost floor is numbered 8 and one floor is vacant.

V lives on the fifth floor. P lives below U. Two people live between V and T. Neither R nor U lives on sixth number floor. Q does not live on third number floor. S
lives immediately below T. R lives above U. Q does not live on an even-numbered floor. More than one person lives between U and R.

I =ARF P, Q, R, S, T, U 3T V U THILT & 33 FA-IT HoTAT TC T2d &, Ao STol Aal 196 U THT ol 9 § 2| AT il qay A=y @it |
T ST 8 59 O ATl 2 ST THT a9g qed Ui Giore 8 3T us Hierer |rett 2

V qi= el A#fSrer 9% T2at 81 P, U 3 A= Tgar g1 V 3iiT T i a7 17 Tgd 2| 31 T 1 Hiorer 92 9 a7 R 3 7 21 U TgaT1 21 Q, ey wear it Hiore
g7 gt TEar gl S, T 3 31 419 T2ar 21 R, U & 9% T2t 21 Q, H9-5&AT i1 Hiorel U¥ Agt T2ar g U 3fiT R F 1= U= & ofae =4f~r w=d 2l

Q-21 Who among the following person lives on floor number Eight?

Feferfaa § 3 F19-97 =2i~n 9iore 937 38 9% @ar g2

01. R 02. p
03. S 04. T
05. Q

Q-21 Who among the following person lives on floor number Eight?

e § & i=-ar safRe 9o ge1r o o w=ar 22

01. R 02. p
03. s 04. T
05. Q
Solution for Question 21 Ans Key: 1
/ .
e Floor/ HfeTd Person/ Sfad
8 R
7 Q
6 Vacant floor/ @Tell HfoTe
b v
4 U
3 P
2 T
1 S
H
HEM boor HfvTE Person/ Sfad
R
Q

s b oW oD~



Q-22

Q-22

eng hin

eng/eng

Who lives immediate below P?

eng/eng P 3t 1= F Lgar %?

01. s 02. v
03. T 04. Q
05. None of these
e T A
Who lives immediate below P?
P % &7 A= F1 TZaT 872
01. s 02. v
03. T 04. Q
05. None of these
TAH A FIS Tl
Solution for Question 22
Floor/ HfeTe Person/ SfaT
8 R
7 s Q
6 Vacant floor/ TTell HiTe
5 A"
4 U
3 P
2 T
1 s

Q-23

Q-23

eng hin

Floor/ HfoTel Person/ Sfad

- M WA~

R

Q
Vacant floor/ @Il AfoTd

- T o<

Who lives on floor number Seven?
TSI T&=AT A7 U FiE LgdT 82

01.

03. The person who is immediate above vacant

0s.

S

floor.

g SATE, ST @TAT HiS & 21 FAT 2

None of these

T A AE T

Who lives on floor number Seven?

HTSrer TeAT |1 9% i AT 8?

01.

S

02.

04.

02.

The floor is vacant.
PERIEERCIEIE
T

The floor is vacant.

71g T 9rett

03. The person who is immediate above vacant 04. T

05.

floor.

g =ATE, ST @t Jioer & 21 F¥ 2

None of these

T ATE TE

Solution for Question 23

Floor/ HfeTer Person/ e

eng/eng

Ans Key: 3

Ans Key: 3



= MWDo~ 8

Vacant floor/ @Tell HioTe

W= ToCc<g

eng hin

]
|

= MWD~ @

W= TmCc<g

Q-24  How many persons live between Q and R?
eno/enc Q ﬁ?R%@'ﬁ'ﬁﬁﬁWﬁﬁl@%%"

01. None 02. Three
Frs T e
03. Two 04. Four
ar 1K
05. None of these
Q-24  How many persons live between Q and R?
Q T R F o= o =AT<F T2 22
01. None 02. Three
EIEEE ikl
03. Two 04. Four
ar RS
05. None of these
TAH T FIS ALl
Solution for Question 24 Ans Key: 1
Floor/ AT Person/ Sfad
3 R
7 Q
6 Vacani floor @Teil @ivici
5 v
4 U
3 P
2 T
1 s
enghin o or TiReTET Person/ STad
a R
7 Q
6 Vacant floor/ ETelt Hfora
5 \"J
4 U
3 P
2 T
1 S

Q-25  IfUisrelated to T in a certain way and P is related to S in the same way, then which of the following is related to R?

eng/eng e U et Rfera oo & T & #aifaa g i S8 92 & P, S & #afeq g, a1 Feforfa # & 19 R & #afeq 82



01. v 02. Q

03. None of these 04. U
LK EIEE ]
05. Vacant floor
EIEIRISE
Q-25 If U is related to T in a certain way and P is related to S in the same way, then which of the following is related to R?

enghin e U et RfSa oo & T & #aifaa § sffe S8t a2 & P, S & wafeq g, a1 FMaforad # & #19 R & wafeq 82

01. v 02. Q
03. None of these 04. U
TAH HA(E ARl
05. Vacant floor
AT wiorer
Solution for Question 25 Ans Key: 5
engleng b o TRET Person/ SIfad
a8 R
7 Q
6 Vacant floor/ @Tell HfeTd
5 Vv
4 U
3 P
7 T
1 S

Floor/ HfeTer Person/ STad
R

Q
Vacant floor/ @Fﬁ Hfora

== N WA ~N®

=T Cc<g

Passage for Question 26, 27, 28, 29, 30 (ST-02RRBPOMAINS(26-30R)2021)
eng/eng Passage

Study the following information carefully to answer the given question.

froagwa FTITC IR F fag fFMafafas st &1 samaga s stegaa #3)

Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. All of them buy a house in different floor viz. 1st, 2nd, 3rd, 4th, 5th, 6th,
7th and 8th but not necessarily in the same order. F is third to the right of D, who does not have a house in 7th or 8th floor. The one who has a house on the 6th
floor is an immediate neighbour of G and C. The one who has a house on the 7th floor is second to the left of F, who has a house on the 4th floor. The one who has
a house in 8th floor is opposite to F. H is not an immediate neighbour of either C or F but is third to the right of B. The person who has a house in 6th and 3rd floor
sit opposite to each other. H has a house on the 2nd floor. The one who has a house in 7th floor sits third to the left of the one who has a house on the 3rd floor. The
one who has a house on the 1st floor and the one who have a house on the 8th floor are immediate neighbours. A does not have a house on the 1st floor. E is
second to the right of A, who is an immediate neighbour of F and H.

Az T A, B, C, D, E, F, G 3T H %% &7 31T U TATHL TT % AT AT IS 1 T THT STeRT- 37T "HiSsrert Tgett, Ay, Tasy, 3, ar=et, 221, aradi
T Sl § UF °T G g AR ST&LT Agl 1% THT 07 § g

F, D % a3 e g, foreet 741 a7 841 wivrer # =2 721 g1 Sraawt 641 65 92 =72 8, g G 3T C &7 U=l g1 9 AT (ot 741 7o 92 UF 97 g, F
F ATE MY TAT &, o 4 A wfore o v =2 81 a8 #f5rer 9% us =2 g F % i €1 H, C T F &7 Gk I219T A5l 8, A1 B & a7 oY
Freer 21 o =rfe &1 = 6 e fadt w5 # € 9 vh-ge % o 9% €)1 H S @@t @i 9% v uw 1 ag =t S 74 s ae ew g,
T A ATS AT AT & ToreT Ao 7 | =2 81 g =A(<h (St Taell Hivre 92 U 57 g e {Sreer 8 A1 #ivrer 0% =% &, T &1 A FT 9gett
HIreT 9 9 TE B1 B, A F 7€ T O, T F 3T H FT FohTe T2 2

eng hin Passage

Study the following information carefully to answer the given question.

froagwg FTITTIR F v faafafas sttt w1 samagds stegaa w30

Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. All of them buy a house in different floor viz. 1st, 2nd, 3rd, 4th, Sth, 6th,
7th and 8th but not necessarily in the same order. F is third to the right of D, who does not have a house in 7th or 8th floor. The one who has a house on the 6th

floor is an immediate neighbour of G and C. The one who has a house on the 7th floor is second to the left of F, who has a house on the 4th floor. The one who has
a house in 8th floor is opposite to F. H is not an immediate neighbour of either C or F but is third to the right of B. The person who has a house in 6th and 3rd floor




sit opposite to each other. H has a house on the 2nd floor. The one who has a house in 7th floor sits third to the left of the one who has a house on the 3rd floor. The
one who has a house on the 1st floor and the one who have a house on the 8th floor are immediate neighbours. A does not have a house on the 1st floor. E is
second to the right of A, who is an immediate neighbour of F and H.

sz T A, B, C, D, E, F, G 3% H %% ¥ 3l U MATHTE T % AT AT 95 F1 T TfY SoT-s7en it ageft, gady, Sy, Jef, ai==t, =21, ardad
T AT H UF I GG & AR STl 75l 1% €T %7 | g
F, D % 313 e g, fSoraeer 741 = 841 wivrer # =< gt 81 et 641 6o w2 5w 8, 9 G ¥ C 1 9=t 81 7 =i Srewr 74 4 ww uF =2 g, F
F ATE oMY TAT &, o 4 91 w5 92 U =2 2| S|y 831 #5rer 9% UF =72 g F % f3uda g1 H, C T F &7 GohTo 96T 75l 8, A1 B & a7 oY
T 21 o =afe &1 =Y 647 Y AT 95 | § 98 Uh-ga & a9 €1 H S @it @i 9% us w7 ) 38 =tw S 741 #fa woaw g,
g IHF ATS AT A6 & Foreat qre<t Jioe § =¥ g1 a8 =teh SrEawt Tgell #ioe 9% U =¥ g o< et 8 4 #iere o2 = g, T2l g1 A FT Igat
HHer 9% 5T TS 81 E, A % 2TE ST AT &, ST F 3 H &7 qehTel TSI6T 21

Q-26  Who among the following has house in 5th floor?
engleng TEferfera # & et 54T wisrer w2 82
01. D 02. C
03. A 04. B
05. None of these
=it & 7 T
Q-26  Who among the following has house in 5th floor?
e ® & frae 59 w@foer 7w 22
01. D 02. C
03. A 04. B
0S. None of these
TAH HHE Tol
Solution for Question 26
afe Floor mifera
! 8
-
6
2
4
3
2
1
afe Floor refSrer
; 8
7
o
F. 5
4
3
2
1
Q-27 On which of the following floors is C's house?
eng/eng C &1 =2 fwferfea § 7 fr d@fver ww 22
01. 7th 02. 8th
74t g4t
03. 6th 04. 5th
6t L]l
05. Either 7th or 8th
RICIVE IR
Q-27 On which of the following floors is C's house?
eng hin  C &1 =% fAwferfea & 7 e d@fver ww 22
01. 7th 02. 8th

Person ;=afag
G/

G/C

mI > T.0mE

Person /=ofaq

G/
iy

A

o
B
F
A
H
E

C

C
C

Ans Key: 4



74} 84t

03. 6th 04. 5th
6t sat
05. Either 7th or 8th
aTar 7 A AT AN
Solution for Question 27 Ans Key: 5
eng/eng
afe, Floor rifsra  Person =faa
8 G/C
7 G/C
6 D
F. 5 B
4 F
3 A
2 H
1 E
eng hin
afs, Floor nifsra Person j=fda
8 G/C
7 G/C
6 D
’ 5 B
4 F
3 A
2 H
1 E
Q-28 If G is to the immediate left of B, then who among the following sits between D and E?
engleng I G, B 2% a0 2, O1 f99 § § %17 D &lT E % e 937 2
01. H 02. B
03. C 04. E
05. None of these
TAH HHE T4l
Q-28 If G is to the immediate left of B, then who among the following sits between D and E?
enghin T G, B ¥ 21 T4 2, T1 {99 § § %17 D T E % & 957 7
01. H 02. B
03. C 04. E
05. None of these
TAH HHE Tol
Solution for Question 28 Ans Key: 3
eng/eng
afe, Floor mifsrm  Person 1 aafd
8 G/C
7 G/C
6 D
F. 5 B
4 F
3 A
2 H
1 E
eng hin
o, Floor nifsra Person =faa
G/C
G/C

“NWhO~N®

MIPrTNWO




Q-29  Who among the following sits second to the right of F?
engleng ¥ H & A F % a0 gL #4197 9347 22

01. One who have a house in 5th floor. 02. One who have a house in 6th floor.
g ST =7 ai=e 2l 17 g T ST =2 godl #fve T 2l
03. One who have a house in 2nd floor. 04. One who have a house in 8th floor.
g et =7 gt Al e ) T foreet =77 st @foer 1 3l
05. None of these
TAH TS AR

Q-29  Who among the following sits second to the right of F?
enghin ¥ ® & F F % a0 gL #1972 9347 22

01. One who have a house in 5th floor. 02. One who have a house in 6th floor.
g et =72 gi=dt 7o 97 g T ST =2 godi #fve T Rl
03. One who have a house in 2nd floor. 04. One who have a house in 8th floor.
g et =7 gt Al a2 8 T freet =77 st @i 1 2l
05. None of these
TAH HFS Tl
Solution for Question 29 Ans Key: 3
fe Floor mifSrer  Person 1 aafea
' : 8 G/C
, 6 D
' =l 5 G
>< /< 4 F
T—— E 3 A
J.r 2 H
1 E

Floor maferer  Person  safag

: L 8 G/C
a ‘X T G/C
; 6 D
¥ a3 ; c 5 E
X 4 F
-+ 3 A
! 2 H
1 E
Q-30  Which of the following is true?
fFreferfea & F fim-ar Fuaa a7 22
01. One who have a house in 2nd floor sit 02. A and F are immediate neighbours.
opposite to one who have a house in 6th AT F Aeeay g2t €
floor.
g T et =7 gy i 12 8, 98
39 =TF % 3t fAada 9o1 8 e =%
oAt 7o 9T g
03. D sits between one who have house in 8th  04.  H sits on the immediate left of one who have house in 5th floor.
floor and 2nd floor. H 39 =7f<h o S 970 337 8 Foresht =2 qi=re @forer 9
D, STad ¥ ZaLT #iSrer 9% @ At
AT F e T T3 B
05. None of these
TAH FFIS TR0
Q-30  Which of the following is true?
eng hin  FEfIEa & & Fi9-77 For 77 82
01. One who have a house in 2nd floor sit 02. A and F are immediate neighbours.
opposite to one who have a house in 6th A ST F Aeeaqw a2t %I

floor.

g =i o e g oo 91X g, 98



3 = F 2 i do1 § e aw

Fodl HIST T &
03. D sits between one who have house in 8th  04. H sits on the immediate left of one who have house in 5th floor.
floor and 2nd floor. HW@%%@?W@W%WWWWW%I
D, STl 3T THLT Ao % T8 aTer
R % WeT I3 B
05. None of these
TAH H (S ARl
Solution for Question 30 Ans Key: 2
eng/eng
ofe. Floor mifere Person ;=faq
8 G/C
7 G/C
6 D
F. 5 B
4 F
3 A
2 H
1 =
eng hin
fE Floor mifsrer  Person /aafaq
: 8 G/C
7 G/C
6 D
afc 5 B
4 F
3 A
o 2 H
1 E

Passage for Question 31, 32, 33, 34, 35 (ST-02RRBPOMAINS(31-35R)2021)
eng/eng Passage

Study the following information carefully to answer the given question.

frg T aT FTITTIA F fou Maforfaa Trasrd #71 samgd® Aesgq7

Ram, Shyam and Mohan are walking in a park. All of them starts from the same point O in the centre of the park.

[. Ram starts walking 30 m to the north to reach point V. He then takes a right turn and walks 80 m to reach point T. Then he turns 45° in the clockwise direction
and stops at point X after walking some distance.

I1. Shyam starts from point O walks 40 m in the south direction to reach point S. He then turns right and walks 60 m to reach point U. Then he turns 45° in the
clockwise direction and stops at point Y after moving certain distance.

[1I. Mohan starts from point O walks 60 m in West direction to reach point W. From point W he takes a right turn and stops at point Z after walking 30 m.

TH, $FTH T HIgH UF 96 § I7 T2 g 9 G I & %% § T (65 O F THAT % F7d 2

I TR &g V T Tg= & o 392 it 3T 30 Hiex FaaT 4F F2ar1 2| T a8 310 g2aT ¢ 7 &g T % g+ & o0 80 Hiex 7aar g1 The ag 7=t il
39T H 45" H{=dT g AT 8 gL A 6 d1a (6§ X T¢ @ S(1dl gl

11 9719 &g O | & F3AT ¢ i< g S T a1 & forw afer fom # 40 Wiex =7ar g1 e 9 212 T e=aT ¢ i< g U T ag= & forw 60 #iex
FAaT g T a8 =T AT e & 45° a1 ¢ 3 [Af%a g a7 F37 F a1 @5 Y w=Far 2l

1L 71gA 63 O & & 7ar & 3T g W a& ag= & forw afery fZem § 60 Hex =rerar 81 g W  ag 210 q2a7 € 37 30 Hiex 9@ & 972 &g Z 7w &%
STAT gl

eng hin Passage

Study the following information carefully to answer the given question.

frg T ag FTITTIF F fou Rafeafaa srasrd 1 samgd® wegaT :2

Ram, Shyam and Mohan are walking in a park. All of them starts from the same point O in the centre of the park.

1. Ram starts walking 30 m to the north to reach point V. He then takes a right turn and walks 80 m to reach point T. Then he turns 45° in the clockwise direction
and stops at point X after walking some distance.

II. Shyam starts from point O walks 40 m in the south direction to reach point S. He then turns right and walks 60 m to reach point U. Then he turns 45° in the
clockwise direction and stops at point Y after moving certain distance.

III. Mohan starts from point O walks 60 m in West direction to reach point W. From point W he takes a right turn and stops at point Z after walking 30 m.

TTH, $ATH 3T Wigd UF T § I8 78 8| F T 90 F %% § TH (65 O F AT L& Fd 2

1. 71 T3 V aF ag=e # forg 3 &1 oY 30 Hiex Fe«r 0= F2at g1 e ag a7d qear § si &g T 9% wg=e % forg 80 Hiew wrerar 81 o ag =3 #7
or 9 45° H=qT1 8 oY ;i 3T 994 & a1 f6g X T %% ST 2

I1. 9 fag O ¥ (= FXar ¢ i fig S a6 ug= & forw afemr frem & 40 e =rear 21 fFe a2 212 AT g=ar 2 i< fig U a% vg= & forw 60 Hiex




T g R ag T A Rem H 45 grar g e At g ar s s ar g yw sk 21

1. 712 &g O & ¢ F¥ar g ¥ f6g W % 9g= & forg afere e # 60 Hiex 7aar g f6g W & 98 270 H=4T 8 #i7 30 Hiex 7o & 972 (43 Z 7 &%

STET 2

Q-31  Which of the following points lies in the same straight line?
engleng THETITEd # & Fi-H fag wm et Ty ow far &2

01. S0,V
03. UW,G
05. YWV

02. VTX
04. YWS

Q-31  Which of the following points lies in the same straight line?
enghin  eferfEa & & Fi=-7 fog wm et Tar ow g &2

01. S,0,v 02. VTX
03. UW.G 04. YW,S
05. Y, WV
Solution for Question 31 Ans Key: 1
F 4 v I
: L P
¥ “ X
F v T
¥
W i T b X
N
Q-32 If a point G lies exactly between W and O then what is the shortest distance between points S and G?
Ttz U &g G, W T O 1% wea # Raa g, a1 {63 S 3T G o /e =[Aaw g1 fha+t 82
01. 100 m 02. 50m
03. 60m 04. 40m
05. 30m
Q-32 If a point G lies exactly between W and O then what is the shortest distance between points S and G?
enghin T2 TF fdg G, W aiiT O F 2t wex & fRorq 2, 1 g S #ii¥ G ¥ wex =gaw g fraet 22
01. 100 m 02. 50m
03. 60m 04. 40m
05. 30m
Solution for Question 32 Ans Key: 2
eng/eng 80m T
g X
Him |
W E
5
u Gillm 5
eng hin z " #0m T




Him
L E

Q-33 Point T is in which direction with respect to point Y?
engleng (93 T, T3 Y ¥ awasf & fry frem # 82

u G0m 5

01. South-east 02. North-west
Fferr-qd IAL-TiET
03. East 04. North-east
Ecl ST
05. West
gfary

Q-33 Point T is in which direction with respect to point Y?

eng hin 3 T, &g Y & wvaef & frmr e & &2

01. South-east 02. North-west
Fferr-ag IAe-qfae
03. East 04. North-east
7 T
05. West
gfsrm
Solution for Question 33 Ans Key: 4

L

,

&

-

W

u 60m

Q-34 If a person starts walking from point S to reach point T via point V then calculate the total distance travelled by him?

engleng (< FE =AMH (6 Vo ATead & &g T % ag=+  forg fag S & =1 0% F7a1 € 1 S8 5127 aF 1 T2 ATAT 07 F[eA LT T 01 HL?

01. 70 m 02. 120m
03. 210 m 04. 110m
05. 150 m

Q-34 If a person starts walking from point S to reach point T via point V then calculate the total distance travelled by him?

enghin T2 FE =00k &g V & Areaw & &g T % ag=e  forg g S & =7 9% F7a1 € q1 S8 5127 a7 i1 T2 ATAT 60 FeT 20 6 01 HL?

01. 70m 02. 120m

03. 210m 04. 110m

05. 150 m
Solution for Question 34 Ans Key: 5
eng/eng z v 80m T

-:IJ|||




Him

u 60m 5

eng hin

80m

Him

u &0m 5

Q-35 Point Y is in which direction with respect to point V?

engleng &3 Y, g VFH I | o e § 82

01. South-West
Fferor-afary
03. North-east
05. North
IAL

02. South
aferor

04. South-east

Q-35 Point Y is in which direction with respect to point V?

gy g vaa=ddmfaras?

01. South-West
aferor-gfam
03. North-east
05. North
Solution for Question 35

£ v

02. South
zferor

04. South-east

u oiim =

Ans Key: 1

eng hin

80m

Him

u &0m 5

eng/eng Passage

eng hin Passage

Passage for Question 36, 37, 38, 39, 40 (ST-02RRBPOMAINS(36-40R)2021)

In the question, there are some statements followed by some conclusions. You have to take the three given statements to be true even if they seem to be at variance
from commonly known facts and then decide which of the given conclusions logically follows from the given statements disregarding commonly known facts.

T |, T FAT F A8 Fg, (oY (0 M0 | AT 0 T AT FAAT T TEAT B, A @ F AT AT A1 8 T Sdiq g gt o R Ao
o fo 70 et & & e a7 ey 3w w et & arfdes s S Rl




In the question, there are some statements followed by some conclusions. You have to take the three given statements to be true even if they seem to be at variance
from commonly known facts and then decide which of the given conclusions logically follows from the given statements disregarding commonly known facts.

T |, T FAA F I8 Fg, oy 230 0 g ot R T S| FAA F qoF GEAT g, W aF F SIHd: 79 3291 F e wdid gra gt o R Ao
o T U et § & e & Aoy 3w Tu et & qifdhes w9 & J| 2

Q-36  Statements:
eng/eng Some B are C.
All C are D.
No AisB.
Conclusions:
1. All C can be A.
II. Some B are D.
II1. All B can be D.
ERGH
FE B, C 2l
T C, D 2
FTE A, BT 21
Ao
L9t C, A 3T 9 81
IL. FZ B, D&
1L 74T B, D &1 9 &

01. OnlyI &I
Fae [T

03. OnlyI&III
EEEREIESII|

05. None Follows
TS ATHLO ol HdT g

Q-36  Statements:

Some B are C.

All C are D.

No A is B.

Conclusions:

I. All C can be A.

II. Some B are D.

III. All B can be D.

ER DN

FE B, C 2l

Tt C, D 2

#E A, BRI gl

Ao

I T4t C, A 8T 7 &

1. %% B, D gl

L. 757 B, D 27 7hd 21

01. Onlyl&II
FAA LT

03. OnlyI&III
Faet [ ST 11

05. None Follows
TS STAALT Tl FAT 2l
Solution for Question 36

02. Only II & III
Fae 1137 11

04. Al follow
AT ST FA &

02. Only II & I1I
Fael 11 3T 111

04.  All follow
T STIE Fd B

Ans Key: 2

eng/eng
Gl o)

Q-37  Statements:

eng/eng Some XareY.
Some Y are Z.
All X are W.



No Y is K.
Conclusions:

1. Some W can be K.
II. Some X are not K.
III. AllK canbe Y.

ER K

FTEX Y
FEY,ZE
Tt X, W 2

LY, KTl 2l
o

. 2 W, K g1 9dT 81
IL %3 X, K 721 &

1L 7Y K, Y g7 9ehdt 2

01. Onlyl&II 02. Only Il & 111

Faer | T 1l

Fael 11T 111

03. OnlyI&III 04. All follow

Faer [ I
05. None follows
FTE ATELIN TS FAT 2
Q-37  Statements:
Some X are Y.
Some Y are Z.
All X are W.
No Y is K.
Conclusions:
I. Some W can be K.
II. Some X are not K.
II. AllK canbe Y.

FI:
FZ X, Y5

FIY,ZE
dt X, W gl

Y, KRl &l
IELCA

I. %= W, K T Tt &
1L %5 X, KTl 2l

L 74T K, Y 27 99 21

T STLE FA B

01. OnlyI&1I 02. Only 1 & 111
Fad [T 10 Faret 11 =¥ 11
03. OnlyI& I 04. Al follow
EEEREIES )| THT FTTALT FA B
05. None follows
TS SATHLO Al FdT gl
Solution for Question 37 Ans Key: 1
eng/eng
eng hin

Q-38  Statements:

eng/eng Some XareY.
Some Y are Z.
All X are W.
NoYis K.
Conclusions:



I. Some W can be Z.
II. Some X are W.

III. Al K can be W.
EREH

T X, Y 7

FZY,Z 3

T X, W 2

LY, K T2 2
IGLEa B

L H/E W, Z 3T TFd &
IL %3 X, W&l

I 74T K, W 2T Tt 21

01. Onlyl&II 02. Only II & I1I
Faer [ A< e [1 < 111
03. OnlyI&II 04.  All follow
Fae [ 37 M Y STTETT FA B

05. None follow
FTE ATELIN TS FAT 2
Q-38  Statements:
eng hin Some X are Y.
Some Y are Z.
All X are W.
No Y is K.
Conclusions:
I. Some W can be Z.
I1. Some X are W.
III. All K can be W.
ER KGN
T X, Y &l
FZY,Z 3
T+ X, W 2l
L Y, KRl 2l
rewy:
L HE W, Z 21 9 2
IL % X, W &l
11 7t K, W 2T @t g

01. OnlyI&1I 02. Only 1 & 111
FaT [ AT 11 e 1137 111
03. OnlyI&III 04. Al follow
Faet [ Y 111 AT STTETT FA B

05. None follow
Solution for Question 38

Ans Key: 4

eng/eng

eng hin

Q-39  Statements:

eng/eng Some P are Q
NoQis S.
All P and Q are R.
Conclusions:
1. Some P cannot be S.
II. Some R are not S.



Q-39

eng hin

III. Some P can be S.
FIT:

WP, QE|

F1EQ, S LI 2

T PT Q, R B
Ao

L F/S P, S TSl 21 T &l
IL FZ R, STl 5l

I1. % P, S BT 7% &l

01. Onlyl&II
Faer [ ST I

03. OnlyI&III
Faet [ T 111

05. None follows

FTE SATHLI TS FAT 2
Statements:
Some P are Q.
NoQisS.
AllPand Q are R.
Conclusions:
1. Some P cannot be S.
II. Some R are not S.
II1. Some P can be S.
FIT:
FE P, QE
HTE Q, S ET &l
T P Q, R Tl
Ao
I. %E P, S &l a1 ¥hd gl
IL FZ R, S LT 2l
1. % P, S BT Thd g

01. OnlyI&II
Fa [T

03. Onlyl& I
Faer [ 2T
05. None follows
FTS STTALIT Tl FHLaT &l

Solution for Question 39

02. Only II & III
et 11 3T 111

04.  All follow
T STTHT FXA 2

02. Only IT & III
Faet 11 37 11

04. Al follow
THT AT FA 2

Ans Key: 2

eng hin
Q-40  Statements:
eng/eng Some N are J.

Some J are K.
Some K are M.

All Jand K are L.
Conclusions:

1. Some J are not M.
II. Some N are K.
III. All L cannot be M.
ER G H

FEN, J

FZ I, K2

FFK, M 2l

Tl J ST K, L 8l
Ao



Q-40

eng hin

L% J, M Agt 2
ILFIZN, K gl
I 7Y L, M 721 &7 7 21

01. Onlyl &1l
FaA [T

03. OnlyI&II
Faet [ ST 11

05. Only I1I

Fa I
Statements:
Some N are J.
Some J are K.
Some K are M.
All Jand K are L.
Conclusions:
1. Some J are not M.
II. Some N are K.
III. All L cannot be M.
ER KGN
TGN, J &
FZ 1, KBl
T K, Mgl
T J ST K, L2
IRLEO P
L% J, M TSl 21
ILFZN, K
I &ft L, M Ag1 31 9ol 3l

01. Onlyl&II
Fae [T 11

03. OnlyI &I
Faer [T 11

0S. Only III
Fa 111

Solution for Question 40

02.

04.

02.

04.

Only II & 11T
Fael 11 3T 111

All follow
T STIE Fd B

Only II & 11T
EEEBIE S|

All follow
THT STTHT F &

Ans Key: 5

Q-41
eng/eng

Q-41

eng hin

Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in

the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.

ger: RaforieT dear-gaar § 9 T § #3990 UF 9607 T9q gl T1 T ST w1 qgl AT ST 8, a7 J@dr U [ @& % a1g e gr
ST £1 5@l 3 =, TF ST 41 TS 2 (a), (b), (¢), (d), (e) 3T (f)1 ST T ST F1 T8T F2 3 7% (20 T @ar § I O o aTg Faelr #7

T FIAT g 3T oA H e % o wgy A 39 gu

What will come in place of (c)?

(c) % AT I F9T SATUIT?

2 3 2 15 76
3 (@ (b) (c) (d)

01. 18
03. 24

05. None of these
TAY F FS TR

T T I 2|

02. 22
04. 21

Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in



the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.

ger: Mt Sear-@e § § To0® § F3ad U ST T9d gl TS Tad ST T Tl (63T S1aT &, a1 S@er UF [ o & arg &g ar
ST 21 e % =, TF Fer 9T 2 (a), (b), (o), (d), (e) T () ATHT T HEAT T qET F F A8 (37 70 f@er § et & F are et 11
T AT g 3T A1 H T o0 98t A1 a9 g Mefertad st 7 397 |

What will come in place of (c)?
() F TITT I AT 3TTIT?

2 3 2 15 76 245 1434
3 (@ (b) (¢ (d) (&) (®

01. 18 02. 22
03. 24 04. 21
05. None of these
TAH | (S ARl
Solution for Question 41 Ans Key: 4

eng/eng 2 3 2 15 76 245 1“A4
xHP 22 3HF 4F 357 68

enghin 2 3 2 15 76 245 “4A
XHR 22 3P ML x55F 66

Q-42 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
eng/eng certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
ger: RuforiaT d=a-gaer § 9 YT § #ad UF 9607 T6d g1 T1e T ST w9l AT ST 8, a7 a1 U [ @& F a1 waiha g
STTAT 1 @t % H=, U wedr € T (a), (b), (¢), (d), (e) 3T ()| ATTHT ITeAd TEAT FT Tl FIF % 78 (27 T0 faer § 3T 7 F 78 g@ar Hr
T FIAT | T AT H 37eqT % Forw w2 /419 3 gu Aefertaa wei &1 397 )

What will come in place of (d)?
(d) 3 T I FT ATUT?

1 2 8 33 148 740 4626
3 (@ (b) (¢) (d) (e) (D)

01. 156 02. 164
03. 168 04. 172
05. None of these

TAY A FTE Aal

Q-42 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a

eng hin  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
fer. Mo dea-gaer § 9 vors § Fae UF 967 T9q g1 T T St w981 B Siar 2, a7 et v S o F e et gy
STTCAT g1 ST & A=, TF §&dT &1 TS 2 (a), (b), (¢), (d), (€) 37T ()| ATTHT AT HEAT FHl Hel HIA % J1 (ST T @1 § IHT 7 * q18 J&dAT Hl
T FIAT | AT AT 1A o /gt 79 39 gu Aeferted wei 1 397 )

What will come in place of (d)?
(d) 3 TAT T FAT SATTIT?

1 2 8 33 148 740 4626
3 (@ (b) () d (e ()

01. 156 02. 164
03. 168 04. 172
05. None of these
TAH HHE TRl
Solution for Question 42 Ans Key: 4

eng/eng 1 2 8 3 148 740 465
xHE A2 HF  xHF  G&F G

enghin 41 2 8 <] 148 740 465
xHE X2 P P GEF G

Q-43 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a



eng/eng  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
fAer: Mo dear-eer § & g § F9e U ST Ted gl TS Toq ST At Gl AT S 8, 9 et uE [ a % arg et ar
SITAT 81 ST & A=, T 6&AT &1 TS 2 (a), (b), (¢), (d), (¢) 3T ()| STTHT AT HEAT FHl Al FIA 6 91 (20 T AT H IHT 7 918 F@AT Hl
T FIAT g 3T oA | 31w & forw 92t /1 39 gu Aefertea wat #71 sav
What will come in place of (b)?
(b) ¥ AT T FIT ATTAT?
2 45 11 30 92 312 1136
3 (@ () () d) (¢) ()
01. 7 02. 8]
03. 16.75 04. 18.75
05. None of these
i TS T
Q-43 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
eng hin  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
ger: Mt Sear-ee § & To® § F3ad U ST T9d gl TS Taq ST il Tl (63T a1 2, a1 g@er uF [fEa o % arg wnq ar
ST B @t F =, v e €€ 2 (a), (b), (¢), (d), (e) 3T () ATTHT TeAd T=AT T TET FF % 72 30 T s@elt § 36T & F 91a el
T AT E| 3T A1 H T o o0 /gt A a9 g MefertEd weat #7397 |
What will come in place of (b)?
(b) 3 T I FAT ATUIT?
2 45 11 30 92 312 1136
3 (@ (b) () ) () (f)
01. 7 02. 381
03. 16.75 04. 18.75
05. None of these
Solution for Question 43 Ans Key: 1
2 4.5 11 30 92 3 2
x2+0.125%x4 x2+0.5x4 X2+2x4 x2+8x4 x2+32x4
1136
x2+128x%4
2 4.5 11 30 92 312
x2+0.125%x4 x2+0.5%4 x2+2x4 x2+8x4 x2+32x4
1136
x2+128x4
Q-44 Directions: In each of the following number-series only one number is wrong. if the wrong number is corrected, the series gets established following a
eng/eng  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
fger: Mo Sear-eer § & goi® § F39d U ST T9d gl TS Toq SedT iy Gl A1 1A 8, a1 g uE [ af % arg et ar
SITAT B1 ST & A=, T €T &1 TS & (a), (b), (¢), (d), (€) 37T ()| STTHT AT HEAT T ALl FIA % 91 (20 T AT H IHT 7  91% J@AT Hl
T FHIAT g 3T oA | 1w & forw /2t /1 39 gu Mot wat 7 39w
What will come in place of (e)?
(€) % TATT 9T 9T ATUIT?
2 14 18 46 82 176 338
3 (@ (b) (¢ @ () (0
01. 238 02. 338
03. 218 04. 174.238
05. None of these
TAH A IS Aol
Q-44 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
eng hin  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (). You have to complete the series following the same logic as in

the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.

fAer: Mo Sear-ee § & gois § Fae U ST Te9d g1 TS Tq ST it Gt AT S 8, 9 e uw [ a % arg et ar
ST £1 ST 3 =, TF ST 41 S 2 (a), (b), (¢), (d), (e) 3T (f)1 ST T ST FT HET F2 7 7% (30 T et & I % a7 Faelr #7
T AT g1 3 T § o1e7< 3 forw ot o a4 g v fertertera s 71 59 2




What will come in place of (e)?

(€) 3 TATT I AT T2

2 14 18 46 82 176 338
3 (@ () (¢ (d () ()

01. 238 02. 338
03. 218 04. 174238
05. None of these
T
Solution for Question 44 Ans Key: 1
engleng 9 14 18 46 82 176 338
x2+10 x2-10 x2+10 x2-10 x2+10 x2-10
EE 2 14 18 46 82 176 338
x2+10 x2-10 x2+10 x2-10 x2+10 x2-10
Q-45 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
eng/eng  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
A er: FeforrT dear-ee & 7 Yo § Fae U 967 Tad g TS Tod ST H7 T8l T a1 8, a7 Je@edr ua [ o & arg et ar
STt 81 %@ & A=, TFh &A1 &1 1% & (a), (b), (¢), (d), (¢) 37T ()| SATTHT TAT HEAT Hl Hel HIA 6 a1 (<0 T @AT H IHT @  q12 F&AT Dl
T AT g T A1 H e o o0 /gt A1 39 gu MetertEd weat #7397 3|
What will come in place of (f)?
(f) % TATT IT AT SATTIT?
1 3 7 11 21 43 85
3 (@ (b) (¢) (d) (e) ()
01. 275 02. 279
03. 277 04. 273
05. None of these
TAH A TS AR
Q-45 Directions: In each of the following number-series only one number is wrong. If the wrong number is corrected, the series gets established following a
eng hin  certain logic. Below the series, a number is given followed by (a), (b), (c), (d), (¢) and (f). You have to complete the series following the same logic as in
the given series after correcting the wrong number. Now answer the following questions giving the correct values for the letter in the questions.
o3 o dear-dae & & To0% | $ad UF 97 T9d | T Tod Sed1 w1 qet 61 Sran &, a1 @ v [ o F a1 efad ar
ST 2 W%Fﬁ% TS AT &1 TS g (a), (b), (¢), (d), (e) 3T ()| ATTHT TAT HEAT T TGT Fed F aT% (U T et § 6T 7 F I3 F&AT HT
T AT 5| AT T § AeAT o wEr A 39 gu Aot we 39w )
What will come in place of (f)?
(f) 3 TAT I FAT ATUAT?
1 3 7 11 21 43 85
3 (@ () (¢ @ (e ()
01. 275 02. 279
03. 277 04. 273
05. None of these
i B
Solution for Question 45 Ans Key: 3
eng/eng 1 3 7 11 21 43 85
x2+1 x2-1 x2+1 x2-1 x2+1 x2-1
enghin 1 3 7 11 21 43 85

x2+1 x2-1 x2+1 x2-1 x2+1 x2-1

Passage for Question 46, 47, 48, 49, 50 (ST-02 RRB PO MAINS M (6-10) 2021)
eng/eng Passage

The following Pie Chart shows the Percentage distribution of the incomes of a four wheeler company HUNDAI earned during different years. The adjoining pie
chart shows the percentage distribution of profit earned in the respective years. The sum of the incomes earned in all the given years is Rs.64000. The respective
ratio of the total expenditure and the total profit in all the given years is 5:3.

Income

P




@m2011 @2012 @2013 02014 W2015 @2016
Profit

@2011 @2012 @2013 2014 WM2015 M2016
Aftatea a1 =1e § UF F1 T AT ared a9 arett HUNDIA &9 G127 ST STeT aut # STiord s 7 Tiaeraary TSt 9113 T27 81 36 TS =91e
H faw 0 et # srfSrq A F7 Giderdane oS 24t @ 21 3w ww aut § SAfS5q ST w7 F/ AR 64000 AT ATE 7. {0 T0 H qut § Fy v g

GH TAT AT Fel ATH FHT STLATT FHHL: 5:3

32011 B2012 O2013 O2014 E2015 BE2016

32011 @2012 O32013 O2014 @B2015 B@2016

eng hin Passage
The following Pie Chart shows the Percentage distribution of the incomes of a four wheeler company HUNDAI earned during different years. The adjoining pie
chart shows the percentage distribution of profit earned in the respective years. The sum of the incomes earned in all the given years is Rs.64000. The respective

ratio of the total expenditure and the total profit in all the given years is 5:3.
Income




02011 B@2012 @32013 DO2014 B2015 B@2016

@2011 @2012 02013 O2014 @2015 @2016

fAfeafaa ors =1 & uF = afgar ared a9 et HUNDIA FAT 51T STeRT @ T a9t | S(ford s &7 YIaerqare s germ 137 2. e 978 =1
H fow U et # srfSrq A F7 Siderdane oS 24t A 2. 2w T awt § i v F7 [ T 64000 FAT A6 g, 0 0 aw awt # g
G TAT AT F{ ATH T SIATT FHI: 5:3 8

Profit

=

32011 @2012 02013 O2014 @2015 @2016

o 2011

@2012 @2013 O2014 BE2015 @2016

Q-46 Find the respective ratio of the total expenditure of HUNDALI in the years 2011 and 2013 to the total expenditure in the years 2012 and 2014.
eng/eng HUNDAI a0t 2011 T97 2013 # 3 70 o1 @=t @7 2012 317 2014 § F6 70 F71 @41 F7 HHAL: AT G 115702

01. 12 02. 23

03. 2:1 04. 150:209

05. 33:47
Q-46 Find the respective ratio of the total expenditure of HUNDALI in the years 2011 and 2013 to the total expenditure in the years 2012 and 2014.
enghin  HUNDAI & a0t 2011 997 2013 # 3 70 ot @=t 991 2012 317 2014 § T 70 F1 @=1 F7 HH: STTI 0T 115002

01. 12 02. 23

03. 2:1 04. 150:209

05. 33:47
Solution for Question 46 Ans Key: 4
eng/eng Year Income Profit | Expenditure

2011 12800 4320 8480

2012 9600 3600 6000

SAAT — AP P —~-~ s




B XA UsuUY £L00U et
2014 16000 5280 10720
2015 11520 3120 8400
2016 7680 4800 2880

Required answer=64000 : 24000 = 8:3
30%8-30x%3:40x8-37x3=150:209

T qaT | AT | =T
2011 | 12800 | 4320| 8480
2012 9600 3600 | 6000
2013 6400 | 2880 | 3520
2014 | 16000 | 5280 | 10720
2015 | 11520 3120 | 8400
2016 7680 | 4800 | 2880
g+fte I97= 64000 : 24000 = 8:3
30x8—30x%x3:40x8—37x3 =150:209

eng hin Year Income Profit Expenditure
2011 12800 4320 8480
2012 9600 3600 6000
2013 6400 2880 3520
2014 16000 5280 10720
2015 11520 3120 8400
2016 7680 4800 2880

Required answer=64000 : 24000 = 8:3
30%8-30%3:40%8-37%x3=150:209

5

EL] qer | AT | =@
2011 | 12800 | 4320| 8480
2012 | 9600 | 3600| 6000
2013 | 6400 | 2880| 3520
2014 | 16000 | 5280 10720
2015 | 11520 | 3120| 8400
2016 | 7680 | 4800| 2880
e 397= 64000 : 24000 = 8:3

30 x 8 — 30 x 3:40 x 8 —37 x 3 = 150:209

Q-47 Find the percentage of the profit earned by HUNDALI in the year 2012
7T 2012 H HUNDAI ST27 SISt AT T S i1 shifor

01. 40% 02. 50%
03. 60% 04. 66.67%
05. None of these
AN F ATE Aol
Q-47 Find the percentage of the profit earned by HUNDALI in the year 2012
enghin a9 2012 § HUNDAI gTRT STfSId &TH T T{erd S s
01. 40% 02. 50%
03. 60% 04. 66.67%
05. None of these
TAH H A Tl

Solution for Question 47

Ans Key: 3

eng/eng . 3600
Required answer:m x100 = 60%

arﬁgﬁ'{:@xmoz 60%
6000

eng hin
Required answer=@ x100 = 60%
6000

sefre zm7=2200 L 100 = 60%
6000




Q-48

eng/eng

Q-48

eng hin

The expenditure of HUNDALI in the year 2016 is what percentage less (approximate) than the expenditure in the years 2014.

F9 2016 H HUNDAI &7 &= a9 2014 ¥ 57 70 = 7 fohqer wfarera 7 (sremT) 82

01. 70% 02. 80%
03. 73% 04. 83%
05. 68%

The expenditure of HUNDALI in the year 2016 is what percentage less (approximate) than the expenditure in the years 2014.

T 2016 HF HUNDAI &T &= a9 2014 & 57 70 &= 7 et wfarera w7 (77remr) 82

01. 70% 02. 80%
03. 73% 04. 83%
05. 68%
Solution for Question 48 Ans Key: 3
eng/eng Required answer=— 12x8-20%3:25%8-22x3=36:134=18:67; 49/67x100=73%
T ITT= 12x8-20%3:25x8-22x3=36:134=18:67; 49/67x100=73%
eng hin  Required answer=— 12x8-20%3:25%8-22x3=36:134=18:67; 49/67x100=73%
FfT 7= 12xR-20x3:25x8-22x3=36:134=18:67: 49/67x100=73%
Q-49 Find the respective ratio of the total expenditure and the total income of the HUNDALI in the years 2015 and 2016?
2015 3% 2016 § HUNDAI & F &= TT HA ST FHT FHHT: STTTTT AT T To14?
01. 143:249 02. 47:80
03. 143:247 04. 14:17
05. None of these
TAH HHIE Tal
Q-49 Find the respective ratio of the total expenditure and the total income of the HUNDALI in the years 2015 and 2016?
T 2015 3% 2016 H HUNDAI % T @9 TT Hel AT FT FHHLA: ATITT AT 0T o122
01. 143:249 02. 47:80
03. 143:247 04. 14:17
05. None of these
i AT A
Solution for Question 49 Ans Key: 2
Required answer=30x8-33x3:30x8=141:240=47:80
AHTE IT= 30%8-33%3:30%8=141:240=47:80
Required answer=30x8-33x3:30x8=141:240=47:80
T 3= 30x8-33%3:30x8=141:240=47:80
Q-50 In which year expenditure of HUNDAL is the second maximum.
eng/eng T# a9 HUNDAI FT @< THIT ATAHAH 21?2
01. 2012 02. 2014
03. 2011 04. 2015
05. 2016
Q-50  Inwhich year expenditure of HUNDAL is the second maximum.
enghin  [® a5 HUNDAI %7 @< gHT ATAFAH 21?2
01. 2012 02. 2014
03. 2011 04. 2015
05. 2016
Ans Key: 3

Solution for Question 50

eng/eng

Year Expenditure
2011 8480
2012 6000

s Tal: be) EleieTal




VD

i A

2014

10720

2015

8400

2016

2880

In year 2011

L

2011

8480

2012

6000

2013

3520

2014

10720

2015

8400

2016

2880

ag2011 &

eng hin

Q-51

Q-51

eng hin

Year Expenditure

2011

3480

2012

6000

2013

3520

2014

10720

2015

8400

2016

2880

In year 2011

I

2011

8480

2012

6000

2013

3520

2014

10720

2015

8400

2016

2880

ag2011F

A man covered a certain distance at some speed. If he increases his speed by 4km/h then he would have reached 9/2 min early then usual time. If he

decreased his speed by 6 km/h then he had reached 8 min late. Find the original distance?
T SATh TS g0 (e J80T § T F3dT gl TT< 350t =11 4 Tt/ =2 & a2 17 a1 ag 7aa 9907 & 9/2 e T8 &1 989 S| T2t a8 SO+
T 6 TRt/ = T 91t & *eT of ql ag 8 e it 30 & wg=nm v a8 g3 71 F?

01. 60 km 02. 54km
60 o 54 T
03. 64 km 04. 72 km
64 Tt 72 ot
05. None of these
TAH A FS TE
A man covered a certain distance at some speed. If he increases his speed by 4km/h then he would have reached 9/2 min early then usual time. If he
decreased his speed by 6 km/h then he had reached 8 min late. Find the original distance?

T SAT<h S g0 (he | q80T § T FaT g1 FTa Iaeht =1r 4 el = & a2 57 a1 a8 =aa 9907 7 9/2 e T8 & 9g= S Tet a8 SOt
1A 6 TR/ se T =1 | ey of qr ag 8 A &t T & ag=rm 1 a7 g T HA?

01. 60km 02. 54km
60 faeT 54 fareft

03. 64 km 04. 72 km
64 f&ft 72 foret

05. None of these
TAY FFIS TR0

Solution for Question 51 Ans Key: 4

eng/eng

Original speed =S

-]
Speed after increment S1 = S+4 km/h then time T1= tﬁ—ﬂ” h

Speed after decrement Sz = S-6 km/h then time T2 =% h
Then by trick $1:S2 = (4 X 2): (6 X )
S1:82=32:27

5 ratio =10km/h (difference in ratio = difference in speed)
1 ratio = 2km/h




Then 51= 32x2 = 64km/h and S2=27x2 = 54km/h
Distance = S1x Sa/( S1- Sz) xdifference in time
Difference in time = 8+9/2 min = 25/2min = 25/120 min
D = 64x54/(64-54) x25/120 =72 km

qA I = S

I F a1 A Sy = S+4 Ffiyde drama Ti= "2 h

T ¥ a1z T S2 = -6 PR frE T T2 == h
S1:S2= (4 X 2): (6 X =)

S1:S2 = 32:27

5 s =10 fai/=ie (7 %7 =9 = difference in speed)
1 AT = 2 e

qT S1= 32x2 = 64 TEFi/de 3T 52 =27x2 = 54 fEHi/He
= S1x So/( S1- Sa) xHqHT T AL

THT F a7 = 8+9/2 iz = 25/2 iz = 25/120 fime

D = 64x54/(64-54) x25/120 =72 {5t

eng hin

Q-52

eng/eng

Q-52

eng hin

Original speed = S
P
Speed after increment S1 = S+4 km/h then time T1= tﬁ—; h

Speed after decrement Sz = S-6 km/h then time T2 =% h
Then by trick S1:S2 = (4 x —) (6 X —
S1:82=32:27

5 ratio =10km/h (difference in ratio = difference in speed)
1 ratio = 2km/h

Then Si= 32x2 = B4km/h and Sz =27x2 = 54km/h
Distance = S1x Sz/( S1- Sz2) xdifference in time
Difference in time = 8+9/2 min = 25/2min = 25/120 min

D = 64x54/(64-b4) x25/120 =72 km

HA I = S

)

2x60

e - s T 2
iz & 912 id S1 = S+4 FEfiEE ara9g Ti=—2 h
t48

FHI % d12 1T Sz = S-6 I/ G &#FT T2 =—h
-

S1:82= (4 X =): (6 X 7=
S1:Sp = 32:27 |
5 s =10 fost/=iE (77 %7 sia< = difference in speed)
1 AT = 2 FEfEe

T S1= 32x2 = 64 Ffi/gz it S2=27x2 = 54 =z
= S1x So/( S1- S3) xTHT FT AL

T | #L = 8+9/2 fiwe = 25/2 A=z = 25/120 fa=

D = 64x54/(64-54) x25/120 =72 Tt

g9

There is 459 students in a hostel. If the number of students increased by 36, the expenses of the mess increased by Rs .81 per day while the average
expenditure per head reduced by 1. Find the original expenditure of the mess?

TF FIEATEATE H {459 T g1 Tfe Frat ¥ T=aT 36 9 T 3{T TS &7 @+ 81 T4 T 9 70 a7 IS =776 @< | €747 FT9 g1 ST qv
AISATAT FT ATEATAH T FAT g 2

01. 7304 02. 7314
03. 7334 04. 7344

05. None of these
TAH H FS Tl

There is 459 students in a hostel. If the number of students increased by 36, the expenses of the mess increased by Rs .81 per day while the average
expenditure per head reduced by 1. Find the original expenditure of the mess?

TF FIEATETE § {459 17 g1 T FrAt ¥ T=aT 36 92 T 3{T TS F7 @+ 81 €% F 9 F70 a7 IS =776 @< | FT47 FTH BT ST qT
TISATAT FT ATEATAH T FAT g 2

01. 7304 02. 7314
03. 7334 04. 7344
05. None of these

T ATE TE

Solution for Question 52 Ans Key: 4

eng/eng

Total expenditure = 459x



36 students joined then total expenditure = 459x+81
Average = 459x+81/495 = x-1

x=16

Original expenditure = 16x459 = 7344

T @H = 459x

36 T ATHHS gU AT HeT @ H = 459x+81
Sferd= 459x+81/495 = x-1

x=16

A T = 16x459 = 7344

eng hin  Total expenditure = 459x
36 students joined then total expenditure = 459x+81
Average = 459x+81/495 = x-1
x=16
Original expenditure = 16x459 = 7344

FA @ = 459x

36 T ATHHS g0 AT el @ H = 459x+81
= 459x+81/495 = x-1

x=16

A =T = 16x459 = 7344

Q-53 A train starts running from station A at 11am and reaches station B at 3pm while another start running from station B at 1pm and reaches at 4:30pm. At
what time will they meet?
UF o T A H Hqag 11 997 el g 3T T29 B 9¥ T 3 a9 TgAAT & STa1h U gail o B ¥ § I8 | a7 AFedl § 3T =299 A
T ZITET 4:30 ST Tgad 82

01. 1:30 pm 02. 1:14pm
03. 1:56 pm 04. 1:48 pm

05. None of these
TAH H ATS Tal
Q-53 A train starts running from station A at 11am and reaches station B at 3pm while another start running from station B at 1pm and reaches at 4:30pm. At
what time will they meet?
UF o T A H A 11 997 el g T T29 B 97 TTEY 3 57 TgAUAT & STa(eh U GaLT o B ¥29F F F19g< | a7 MFedl § 3T #2299 A
T T 4:30 TS TgAdAT 82

01. 1:30 pm 02. 1:14pm
03. 1:56 pm 04. 1:48 pm

05. None of these
AT F FE Aol
Solution for Question 53 Ans Key: 2

Let total distance be 14km

Then speed of 1st train is 28/4 = 7km/h

Speed of 2nd train is 28/3.5 = 8km/h

ist train started at 1 1am then it travels 7x2 =14km till ipm

Then remaining distance= 28-14 = 14km

Now time taken to both train to meet = Remaining distance/ relative speed
Relative speed = 7+8=15km/h

Time= 14/15h or (14/15) x60 = 56 min

Then they will meet at 1:56pm

AT 7 320 14 Bt 8

e qgelt o it it 2 28/4 = 7 fi/ae

AT o Ay Al § 28 /3.5 = 8 farey/E

TEAT o qag 11 a1 & g2 o e ag amar g g2 7x2 =1 a a& 14 =T
Re O 327 = 28-14 = 14 FeT

o ZT AT e 3 forw s e i = o g7/ | i

et I = 7+8=15 /e

THT= 14/15h or (14/15) %60 = 56 A==

R TTgT 1:56 a1 AT

eng hin  Let total distance be 14km
Then speed of 1st train is 28/4 = 7km/h
Speed of 2nd train is 28/3.5 = 8km/h
Ist train started at 11am then it travels 7x2 =14km till Ipm
Then remaining distance= 28-14 = 14km
Now time taken to both train to meet = Remaining distance/ relative speed
Relative speed = 7+8=15km/h



Time= 14/15h or (14/15) x60 = 56 min
Then they will meet at 1:56pm

AT /A g0 14 Bt

fhe qgelt g v i 2 28/4 = 7 Fefi/ae
FHLT & 0 10 § 28/ 3.5 = 8 FRe1/AE
TEAT o g 11 397 % g2 oi? e a2 A= q& g2 7x2 =1 a5 a& 14 et

TR oo 3T = 28-14 = 14 T

o T AT e 3 forw s e @ = o g3/ | i

TqTer i = 7+8=15 frefi/Ee
THA= 14/15h or (14/15) x60 = 56 ==
T TTgT 1:56 o<1 fA=fr

Q-54

eng/eng

Q-54

If two shopkeeper claims a profit of 25% on same goods but one on the cost price and other on selling price , and the difference in their profit earned by

them is 100rs. Then find the cost price of cheaper article if selling price is same for both?

T THTEETT FUAT TEG TT 25% F ATH FT 1T Fd &, TIq IAH ° U FUAT ATH FAGT T TAT TALT AT 92 39T 8 T 1 6 A1 §

ST 100 % T 2T g AT T TEq T HALT FAT g1 STATh A1 T (AT ed 9 © 2

01. Rs. 1600 02. Rs. 2000
03. Rs. 2500 04. Rs. 2400

05. None of these
AW A FTE AT

If two shopkeeper claims a profit of 25% on same goods but one on the cost price and other on selling price , and the difference in their profit earned by

them is 100rs. Then find the cost price of cheaper article if selling price is same for both?

T AT AT TE] TT 25% o ATH FT AT FA &, T ITH & U STIAT ATH FIHA T2 TAT T (AH A T2 @1 2 ST AL % A1 §

Y 100 % T 2raT g 7 TEAT qeq T HATeT FAT g1 ST 1k QA1 T [Sehd e TH g 2

01. Rs. 1600 02. Rs. 2000
03. Rs. 2500 04. Rs. 2400

05. None of these

Solution for Question 54

Ans Key: 1

eng hin

Shopkeeper 1 Shopkeeper 2
SP1:CP1 SP> CPa
125100 100:80
54 4:5
SP1= 5P
Then
54 x4 4:5x5
SP1.CPa SPz CP2
20:16 20:25
Ratio P1=4 P2=5
Difference in ratio of profit = difference in profit
Ratio 1 = 100Rs
CP of cheaper article = 16 x100 = 1600 Rs
EeipEAES| TR 2
SP1:CP1 SPz2: CP2
125100 100:80
54 45
SP1=5P2
ar
54 x4 4:5x5
SP1:CP1 SPa2: CP2
20:16 20:25
HaTa P1=4 P2=5
AT & AU H§ AqL = d19 H HaL
sqa1d 1 = 100Rs
LT g w1 CP = 16 x100 = 1600 Rs
Shopkeeper 1 Shopkeeper 2
SP1:CP1 SPz CP2
125:100 100:80
54 45
SP1=5P2
Then
94 x4 4:5x5

SP1:CP1 SP2: CP2



2016 20:25

Ratio P1=4 P2=5

Difference in ratio of profit = difference in profit
Ratio 1 = 100Rs

CP of cheaper article = 16 x100 = 1600 Rs

T 1 THATL 2
SP1:CP1 SPz: CP2
125:100 100:80
54 45
SP1=5P2
qar
94 =4 4:5x5
SP1:CP1 SPa: CP2
20:16 20:25
Ha9Td P1=4 P2=5
ATH & A9 § HdL = 919 ¥ ofa<
=q91d 1 = 100Rs

et aeg #1 CP = 16 100 = 1600 Rs

Q-55 Study the following information and answer the following questions:
eng/eng A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —
A ZEIATMHTAFTIL AT TTTAT FTIHATT <
10 5 F U Tod H 4 GO g0 g| 3H oo F Toheal 2 Fod &1 FAT ATAT 1 I 10 5 H § 6 ATA aed g o0 3 @ g1 7 7% rizredar sa
Frforr
One is red colour defective and other is other colour non defective
T ATA T AT @IS Fod &1 Tafeh I T T FT =57 T 2|
01. 3/5 02. 2/5
03. 173 04. 2/3
05. 1/10
Q-55 Study the following information and answer the following questions:
A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —
AT TINHFTAFTIS AT T TATHTTATT I
10 98 % U Too | 4 TS 98 g1 39 Too F foheal 2 & &l AT ATAT 21 37 10 To § & 6 AT god g s 3 @a g1 aa = arierar ama
ENERT
One is red colour defective and other is other colour non defective
T AT T HT @I a0 gl et aLT g9 3 T =T aed 2l
01. 3/5 02. 2/5
03. 1/3 04. 2/3
05. 1/10
Solution for Question 55 Ans Key: 5
eng/eng Required probability
=3/10 x 3/9
=1/10
asfre wrireRar
=3/10 x 3/9
=1/10
eng hin  Required probability
=3/10 x 3/9
=1/10
asfre wrieRar
=3/10 x 3/9

=1/10



Q-56  Study the following information and answer the following questions:

eng/eng A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —

AEETAHAHIIE AR TC AT RTIATT < |
10 5 3 U ool | 4 G Iod g1 3T o F foheal 2 Fod I AT SITAT g1 ST 10 Fod § F 6 AT god g o8 3 @0 g1 q 743 sriarshar sa
Frfor

Red colour bulb but No one is defective?

FAT AT [ BT I TS A e T2

01. 12 02. 1/60
03. 1/15 04. 2/25

05. 13

Q-56 Study the following information and answer the following questions:

eng hin A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —

A ETTIAFTEFT IR FATIH T T FTIATT 7|
10 57 F U Tod H 4 GOF 9o g| SH o & Toheal 2 Fed &1 AT SATAT 81 I 10 Fd H | 6 AT 9o ¢ o8 3 @ g1 7 73 wrizerdar sa
‘,ﬁ'ﬁﬂ—, :‘|

Red colour bulb but No one is defective?
FIAT AT 7 3 BT 9 s 9T G2Te = 2T

01. 12 02. 1/60
03. 1/15 04. 2/25
05. 13
Solution for Question 56 Ans Key: 3

Required probability
=3/10 x 2/9=1/15
=3/10 x 2/9 =1/15
Required probability
=3/10 x.2/9= 1/15

=3/10x2/9=1/15

Q-57 A chemist mixes two liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of liquid 2 weighs 800 gm. If half litre of the mixture weighs 480 gm,
eng/eng  then find the percentage of liquid 1 in the mixture?

T THTIAS T a4 Jard A 747 B &7 ferar g1 7t 1 sfiex A %7 912 1 Frar srafsh B &7 9% 800 9 81 =rf smer <fee frsror &1 97 480 I 2,

AT Freror § v A o wiqeara 8 2
01. 85% 02. 70%
03. 75% 04. 80%
05. None of these

TAY F FIS TR

Q-57 A chemist mixes two liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of liquid 2 weighs 800 gm. If half litre of the mixture weighs 480 gm,
eng hin  then find the percentage of liquid 1 in the mixture?
T THTIAS T aet Tard A 747 B &Y ferar g1 7t 1 fiex A %7 912 1 Frar stafsh B &7 912 800 7 81 {3 smer <fex frsror &1 97 480 I 2,
AT Foreror § v A o wiqera g 2

01. 85% 02. 70%
03. 75% 04. 80%
05. None of these

T ATE TET

Solution for Question 57 Ans Key: 4

engleng 4000 800



960
160 40 = 4:1

percentage of liquid 1 =4%x100 = 80%

1000 800

960
160 40 = 441

4
T 1 %7 FFAqT = %100 = 80%
enghin 1000 800

960

160 40 = 441
- 4

percentage of liquid 1 =m=<1 00 = 80%
1000 800

960
160 40 = 441
T 1 & Fiderd =—x100 = 80%

Q-58 At their usual efficiency levels, A and B together finish a task in 12 days. If A had worked half as efficiently as she usually does, and B had worked thrice as
efficiently as he usually does, the task would have been completed in 9 days. How many days would A take to finish the task if she works alone at her usual
efficiency?

A BT B =T FTA&HaT | 12 &A1 H F1F 90 S od g1 TTE A SIT FTAETHAT F S0l 3T B AT FAAAAT F 19 [ F FTF FL a9 9g 919
H 9 faat # F7 T FAA| AT AT A STHAT ST FTHAHAT H HT F T ol T80T H T FHIM?
01. 24 days 02. 18 days
03. 12 days 04. 36 days
05. None of these
TAH HHE Tol

Q-58 At their usual efficiency levels, A and B together finish a task in 12 days. If A had worked half as efficiently as she usually does, and B had worked thrice as
efficiently as he usually does, the task would have been completed in 9 days. How many days would A take to finish the task if she works alone at her usual
efficiency?

A T B SOHT FTAARAT & 12 AT § w1 T80T ST o g1 TTE A STIHT FTHAHAT % A8 3T B SIAT FAAHAT & 19 [ F FTF FL a9 98 919
H 9 oAt & 7T T RN AT TATST A STHeAT AT FIAGHAT H HTH I (bl THT H T HIT?
01. 24 days 02. 18 days
03. 12 days 04. 36 days
05. None of these
i 7 TS T
Solution for Question 58 Ans Key: 2

eng/eng Let the work be LCM of (9 and 12) = 36 units.

Let the amount of work done in one day with their normal efficiencies by A and B be x and y units respectively.
Therefore, (x+y) x12=36

Orx+y=3...(1)

Similarly,

(x/2+3y)x9=36

Orx/2+3y=4...(2)

Solving (1) and (2) for x, we get x =2 units

Hence, A alone would take 36/x = 36/2 = 18 days to complete the work with her normal efficiency

H/ET &1 = (9 3T 12) T LCM= 36 ZTS
HTAT A 31T B ZTRT Sl AT &80T & 97 U o # F3r0 0 vl &t /T w0en: x ¥ y Tt gil
a4, (x+y) x12=36
Irx+ty=3 ... (1)
TR,
(x/2+3y)x9=36
TTx2 3y =4...(2)



(1) T&T (2) T & LA IT x =2 THTE
qq: A THA 36/x = 36/2 = 18 T N1 I FT T THTH F2A |

eng hin  Let the work be LCM of (9 and 12) = 36 units.
Let the amount of work done in one day with their normal efficiencies by A and B be x and y units respectively.
Therefore, (x+y) X12=36
Orx+y=3...(1)
Similarly,
(x/2+3y)*x9=36
Orx/2 +3y=4...(2)
Solving (1) and (2) for x, we get x =2 units
Hence, A alone would take 36/x = 36/2 = 18 days to complete the work with her normal efficiency
TTET 1 = (9 AT 12) T LCM= 36 TS
ATAT A 31T B ZTT Sl ATHTT &79dT & 97 UF o § B30 0 &1 it A= w0 x 37 y Tt gil
A, (xty) x12=36
Jrx+ty=3 ... (1)
THT T,
(x/2+3y)*x9=36
ITx2 +3y=4 ... (2)
(1) TAT (2) T T FA IL x =2 THTS
AT A A 36/x = 36/2 = 18 Ta &R I FT T FHTH FA H
Q-59 Meena scores 40% in an examination and after review, even though her score is increased by 50%, she fails by 35 marks. If her post-review score is
increased by 20%, she will have 7 marks more than the passing score. Find the percentage score needed for passing the examination?
HIAT T T | 40% 3% T Fdl & 30T O: FHeor  a1a 3606 30 50% o 0 ¢ ar |1 a8 35 S0 & i a1 st 21 Fre o Mo &
JEH 3T 20% I SITT T g ST 37hT & 7 37 STTErh ITH T o | Q7 TaqTed ST TLEAT 1 I 62 o o1y Fovaer afaora it sreea grf?
01. 70% 02. 60%
03. 75% 04. 80%
05. None of these
T 7 T
Q-59 Meena scores 40% in an examination and after review, even though her score is increased by 50%, she fails by 35 marks. If her post-review score is
increased by 20%, she will have 7 marks more than the passing score. Find the percentage score needed for passing the examination?
HIAT T TEEAT | 40% 3 STH FTadl g T q: [T % a7a 39 35 50% 8 ST & af 91 a7 35 ST & STiior gf St g1 Ffe foe Afveror &
JEF 3T 20% L SITT QT g ST 37hT & 7 37 STEreh ITH < | q7 TqATSH ST TLEAT T A0 62 o o0 Fover gfvera it steea grft?
01. 70% 02. 60%
03. 75% 04. 80%
05. None of these
TAH F TS Tal
Solution for Question 59 Ans Key: 1
Let the total score of the exam be 100 x.
Meena’s before review = 40% of 100x = 40x.
Her score after review = 40x + 50%of 40x = 60x.
Passing marks = 60x+35. .. (1)
Her score after increasing it by 20% of post review score = 60x+20% of 60x = 72x
Passing marks = 72x-7. ... (2)
Equating (1) and (2)
72x-7 = 60x + 35
=x=3.5
Hence, Total Marks = 100x= 350 and passing marks = 60x+35 =245
Therefore, passing percentage =245/350x100 = 70%
HTAT £ T T A S 100 x
HAT T FTHTEAT T T8 = 40% of 100x = 40x.
FHTEAT % AT IHFT &% = 40x + 50%o0f 40x = 60x.
IT 3R = 60x+35. .. (1)
FHTEAT % THIT % 20% T q3T4 6 dT18 JHHT 1T = 60x+20% of 60x = 72x
IO 3 = 72x-7. ... (2)
(1) TT (2) T IS LA X
72x-7 = 60x + 35
=x=3.5
AT, /e 319 = 100x= 350 ¥ IO 33 = 60x+35 = 245
ZEfory, IAT Tt =245/350x100 = 70%
eng hin  Let the total score of the exam be 100 x.

Meena’s before review = 40% of 100x = 40x.



Her score after review = 40x + 50%of 40x = 60x.

Passing marks = 60x+35. .. (1)

Her score after increasing it by 20% of post review score = 60x+20% of 60x = 72x
Passing marks = 72x-7. ... (2)

Equating (1) and (2)

72x-7 = 60x + 35

=x=3.5

Hence, Total Marks = 100x= 350 and passing marks = 60x+35 = 245

Therefore, passing percentage =245/350x100 = 70%

HTAT {3 92767 &7 7 3% 100 x B

HAT T FTHTEAT T T8 = 40% of 100x = 40x.

THTET 3 TG ST 379 = 40x + 50%0f 40x = 60x.

IT 3R = 60x+35. .. (1)

TITEAT F Fh1T o 20% T F&T7 F 918 IHHT TR = 60x+20% of 60x = 72x
I 37 = 72x-7. ... (2)

(1) TT (2) T TS LA TX

72x-7 = 60x + 35

=x=3.5

AT, /e 319 = 100x= 350 /¥ IO 37 = 60x+35 = 245
ZETorT, IO AA9TT =245/350%100 = 70%

Q-60 Mukesh purchased 10 bicycles, all at the same price. He sold six of these at a profit of 25% and the remaining four at a loss of 25%. If he made a total
profit of Rs. 2000, then his purchase price of a bicycle?
HHAT 10 AT TH S HIHT T @UEAT gl T8 TTH & 6 T 25% o ATH T AT AT 4 T 25% T T 9 9 a7 T "I § 39 2000 F7F T ATH
BT AT T HTSThel ol hIHd T g 2
01. Rs. 8000 02. Rs. 6000
03. Rs. 4000 04. Rs. 2000
05. None of these
TAW T FIE A2T
Q-60 Mukesh purchased 10 bicycles, all at the same price. He sold six of these at a profit of 25% and the remaining four at a loss of 25%. If he made a total
profit of Rs. 2000, then his purchase price of a bicycle?
HAT 10 ATEIHR U &1 H19d T GLEAT 2| T8 70 7 6 T 25% % «TH T T AT 4 37 25% T 2T T2 9= q1 T HI2 H IH 2000 F4F FT ATH
ZINTT| AT ST AT et T o Fm SR 2
01. Rs. 8000 02. Rs. 6000
03. Rs. 4000 04. Rs. 2000
05. None of these
AR H HIE Tol
Solution for Question 60 Ans Key: 3
Let the cost of each bicycle be x.
From the given condition: 10x+2000=6x1.25x+4x0.75x
= x =4000Rs
Selieh TS foReT T A x
10x+2000=6x1.25x+4x0.75x
= x =4000Rs
eng hin  Let the cost of each bicycle be x.

From the given condition: 10x+2000=6x1.25x+4x0.75x
= x =4000Rs

Teleh HTgfehed 3T AT x B

10x+2000=6x1.25x+4x0.75x
= x =4000Rs

70
60
50

Passage for Question 61, 62, 63, 64, 65 (ST-02 RRB PO MAINS M (21-25) 2021)
eng/eng Passage

Read the following graph carefully to answer the questions.
The bar graph given below represents the time taken (in days) by 5 persons individually to finish a work when they work at a certain percentage of their actual
efficiencies that is given in the table.

60
48

45
r— 47 .:



w =
o

Days
o

30
20
10
0
A B & D E

Person A B C D E

0 1 1 0, 7 1
hofactual | ool ap | 5205 | 60% | 637 0 | 53- 9%
Efficiency 2 7 11 3

3 gu e A7 e & I ST I T AT w7 S4re 9|
= foT 79T AT AT STATHRAT FIT Aol TRt T T T F % forw g8 (A7 /) F7 397ar 8, S o qriersnt § & T =1 aredias &9dr & Uh

A2 wfterd o7 w19 F77 €
70
60
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a8 .
50 i 45
40
& 30
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20
10
0
A B e D 3
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qadT FT % 2 / 1 J

eng hin Passage

Read the following graph carefully to answer the questions.
The bar graph given below represents the time taken (in days) by 5 persons individually to finish a work when they work at a certain percentage of their actual
efficiencies that is given in the table.
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1 1 90, 7 1

TEET | g0l og | 5720, | 0% | g3 9 | 531 %
HHAT T % Z 1 i1 =

Q-61  Whatis the time taken by A, B and E together to finish the work when they work at their actual efficiency?
eng/eng A, B 3T E T2 o1 arediast wrleradr & w3 a1 10 w2 § w0 fhaer fae i # gz #3?

01. 61 days 02. 7l days
17 17
03. 81 days 04. 9 7 days
17 17
05. None of these
TAH q IS ol

Q-61  Whatis the time taken by A, B and E together to finish the work when they work at their actual efficiency?
enghin A, B #I% E T2 ot aredfas wreradr & w2 a1 i1 @2 § w0 fhae fae i & qzr #30?

01. 61 days 02. 7% days
17 17

03. o7 days 04. 9 7 days
17 17

05. None of these
TTH | HIE qol

Solution for Question 61

Time taken by A,B and E with their actual efficiency
Th=_x48 = 30days, Ta=-x42 = 24days, Te=—x60 = 32days

1 17

Work done by A,B and E in one day = Lreaery I

15 30 24 32 160
i : 6 7
Required time taken == ;days

ST ATEATAT ST & A7 A, B #iY E 1T o 1 T
Th=-x48 = 30 2, Te="x42 = 24 2, Te=—x60 = 32
ww e A, B o E g e = S el =
Frm wmam ansfre wwm =20=9 _ fim

7
17 17

Time taken by A,B and E with their actual efficiency
Th=2x48 = 30days, Te=-x42 = 24days, Te=-x60 = 32days

Work done by A,B and E in one day = Ll i 10
) 30 24 32 160

Required time taken =%=9 17—7days

ST ATEA A 2877 % 9T A, B @i E g1 o wy a9
TA=§><48 = 30 i, Tg=1x42 = 24 fiF, Te=x60 = 82 27
1 17

T R H A, BaﬁTEmﬁmwwr&:%i?:E
o wanfrsfaﬂ?r:%:(a%ﬁ?r

Ans Key: 4

Q-62  When all of them work at their actual efficiency, then who will take minimum time to finish the work?
eng/eng AT AT SATAT ATEATAT FTALAHAT & F1F FL AT FGH FH [ § FI 18 G FIT 2

01. D 02. C
03. A 04. B
05. E

Q-62 When all of them work at their actual efficiency, then who will take minimum time to finish the work?
eng hin AT T (0T FTE{ae FTALATAT & F1F FL AT FGH FH F27 F I H1 G F300 2


https://ostcdn.mahendras.org/ostimg/1609912096266547852.jpg

01. D 02. C
03. A 04. B
05. E

Solution for Question 62

Ans Key: 2

eng/eng  Time taken by them with their actual efficiency
5
Ta=x48 = 30days, Ts=-x42 = 24days, T. =x30 = 18days
To=_x44 = 28days, Te=--x60 = 32days
Minimum taken by C
ST AT FA9T F AT A, B @7 E g o o aug
5
Ta=x48 = 30 &, To=x42 = 24 7, Te=1_x60 = 32 o
wAH FH qHT C ZTT ey
enghin  Time taken by them with their actual efficiency
5
Ta=x48 = 30days, Tg=-x42 = 24days, T.=x30 = 18days
To=_x44 = 28days, Te=-_x60 = 32days
Minimum taken by C
I ATEAaF FEAT & A9 A, B &0 E g1 o @ w6
Ta=x48 = 30 i, Ty=2x42 = 24 {37, Te=—x60 = 32 fam
T FH FUT C FIT o
Q-63 F takes 25% more time than time taken by B and C together. What is the total time taken by F and A together to finish the work (when each one works at
their actual efficiency)?
F T B (T C & a7 § FTF @H 7 % TG0 | 25% AT TG0 Tar g1 a7 F 3T AATT H F14 fohce [&1 § G270 (T Ah oI aredias
FTIATAT & FTH FHLAT 2)?
01. 5 days 02. 8 days
st 8 far
03. 6 days 04. 9 days
6 e 9faT
05. 12 days
12 fa
Q-63 F takes 25% more time than time taken by B and C together. What is the total time taken by F and A together to finish the work (when each one works at

their actual efficiency)?

F T B 3l C % |7 § &7 TcH FA 6 THT § 25% AT 0T T0aT g ar F T A" | 13 Fohaey fadt § @21 337 (73 =7 f<h oot areatas®

Ans Key: 4

eng/eng

FTAATAT & HTH FHLAT 2)?
01. 5 days 02. 8 days
st 8 &
03. 6 days 04. 9 days
6 & 9 &
05. 12 days
12 &=
Solution for Question 63
. 1 I 7
Work done by B and C in one day = 5

Time taken by B and C =§days
7290
7 7 ,
Work done by F and A in one day = el
Time taken by F and A = 9 days

Time taken by F = 45 X days

FRTEB AR CERT AT T A = == L
B &% C 3T foram T 797 ="days

72_90

5
F 57T foram T w7 = -~ x—-=—days
S o S - Lo TR e, DRRLERTTAR ESETERI o AR 74_1 -



gy AT T MR N T BN R SR A

- 90 30 9
F eliv A g feram s o9 =9 faw
eng hin 1 ;
Work done by B and C in one day = — —4 a -
Time taken by B and C -—days
Time taken by F = - XE—%days
Work done by F and Ain one day = 5 31—0 = %

Time taken by F and A = 9 days

Wﬁ?ﬁBﬁTCWﬁﬂTWW—E =S
B@TCW%’I’&TWW=—dayS
FWWWW-—XE—%ayS
@ﬁ?ﬁFaﬁTAmme=% 5=§

Feam Agrar fear e a9 =9 fe

Q-64 Time taken by B to do the work is what percent of time taken by A and E together to do the same work (everyone works at their actual efficiency)?

B =T &9 1T T9F A 3T E T A7 | o1 9Tl 0T F7 Foha=T % & (TAF A<k I aTed (e HTeradT & FTH FLdT 2)?

01. 145% 02. 165%
03. 155% 04. 135%
05. 185%
Q-64 Time taken by B to do the work is what percent of time taken by A and E together to do the same work (everyone works at their actual efficiency)?

B T T ATAT THF A 37T E 3T |77 & S0 a7 8T T haeT % & (T3 SA{<h 0T AT ek FIAeTHar 8 T8 H2aT 8)?

01. 145%
03. 155%
05. 185%

Solution for Question 64

Work done by A and E in one day = —+

Time taken by B and C —,—days

Required % ==——x100 =155%

02. 165%
04. 135%
' ¥Fi

480

1 31

Wﬁ?ﬁAﬁﬁEmﬁmwm:%+_:_

4RO

BMCWP@TWW
adfre % -Ml x100 = 155%

) 32 480

Ans Key: 3

eng hin Work done by A and E in one day-ﬁ %=%
Time taken by BandC =—days
Required % =-—x100 =155%
e X 3 A ST E 3T i A = = =
BGﬁTCWﬁlﬂTWW=%

T % =2221x100 =155%

Q-65 If B, C and D work on a project (with their actual efficiencies) and get a total salary of Rs 4221, then find the share of D?
engleng 1< B, C 3T D et T 7 7o+t aTea i FALTAAT  T3T F2 1Y Ive HA 4221 FTF ITH &1 1 399 7 D F7 Zea1 747 g1 2

01. Rs.1134

02. Rs.1085



03. Rs.1875 04. Rs.980

05. Rs.1254

Q-65 If B, C and D work on a project (with their actual efficiencies) and get a total salary of Rs 4221, then find the share of D?
enghin T2 B, C =T D et T 7 (o1 areaiares FIATAdT § T2 Y 3T Iva £ 4221 97 ITH 21 a1 IHA F D FT [Z&61 47 ZAT7 2

01. Rs.1134 02. Rs.1085

03. Rs.1875 04. Rs.980

05. Rs.1254
Solution for Question 65 Ans Key: 1
eng/eng  Ratio of Time of B,C and D = 24:18: 28

Ratio of Efficiency of B, C and D = 3—4—3' E =21:18:28

If they complete the work together in same time then ratio of work is also 21:18:28
Then share of D =§x4221= Rs.1134

B, CaﬁTD%rmrﬂa@qﬁ-zmws
B, C ¥ D ¥ &HaT 7 o = —— — = =21:18:28

34 1B

w&%wmaw@mﬁmwm%ﬁmwagtrﬁr%ﬁ21:18:28%
ar DTrﬁTHT——X4221 Rs.1134

Ratio of Time of B,C and D = 24: 18 28
Ratio of Efficiency of B, C and D = ——. | s

28

If they complete the work together i in same time then ratio of work is also 21:18:28
Then share of D =(l—’f><4221= Rs. 1134

B, C &¥ D & 58 &l dq1q = 24:18:28

B, CWDﬁ/WTTFW—;F)—S—ﬂ 18:28

AfS I UF A1 TF g A0 ¥ F T TG @ al w19 7 9977 97 21:18:28 §
ar D #1 fiem ——><4221‘ Rs.1134

Passage for Question 66, 67, 68, 69, 70 (ST-02 RRB PO MAINS M (26-30) 2021)
eng/eng Passage

Read the following information carefully to answer the questions.

Rohit have some articles which are in the form of different structures. These are cylindrical, conical, and spherical. Other than solid conical structure, all two are of
both types i.e., hollow as well as solid.

Volume of a conical article is three times of the volume of a solid cylindrical article while radius of a solid spherical article is half than that the radius of a conical
article. Outer radius of hollow cylindrical article is same as radius of solid spherical article while average of outer radius and inner radius of hollow cylindrical article
is equal to radius of solid cylindrical article. Height of cylindrical, conical and hollow cylindrical article is same i.e. 14cm

Number of solid spherical article is 1/5 of total number of article Rohit have. Number of hollow spherical article is 150% more than number of conical article. Ratio
between numbers of solid cylindrical article to number of conical article is 3:2. Total number of hollow cylindrical article is 40% of total numbers of article Rohit have’
and also ‘20’ more than the total number of solid spherical article Rohit have. Volume of a hollow spherical article is 33,957 cm? whose inner radius is half of its
outer radius. Volume of a hollow spherical article is 5.25 time of volume of conical article.

TS TATAFT T ST & UL TR T TNV FTTAATH <

TR o TR g T ST ST STHT ¥ &, ST 6T SAATHTL, ATHAHRTT ST AT FT G| ATHARTL a6 T BI H ATHRN AT 0T SIE 3HT FrEet It
2l

STTHAFTE TEG T AT STH TATTHE TEG 6 AFAT % FLAL | AT STH TIATHIT G 1 AT TTRAHIL awq il =971 & et {1 Fier Jo hif
et FBroaT S Trer i FBroa % avraw g1 ot GrEel SATHT a5 i AT ST argdl gt 7 6 306 S\ a5 F a9ay g1 TATh,
STTFAFTT 3T GTE TAATHIT TEG T IATS FTET & AT a7 14 FHT |

ST AATHTE AT HT HEAT, TR F T FA T80 7 1/5 2 Wﬁwmﬁﬁm&waﬂaﬁﬁlso% ATAF 1 BT TAATRIT AT 1
AT ST ATHAHTT TEAT T AT FHT STITT 3:2 Bl FIE TAATHTE T T TEAT AT o T TELS T e FT40% & ST TE 2TH AT FT TEGA 9
20 TTere g1 @ MATHRIT TE] T AT 33,957 HHT ¢ et safa Brear argdy Bream &t sreft 81 @it ATt a&q 7 STIa, Tiwawie aeq
AT T 5.25 AT B

eng hin Passage

Read the following information carefully to answer the questions.




Rohit have some articles which are in the form of different structures. These are cylindrical, conical, and spherical. Other than solid conical structure, all two are of
both types i.e., hollow as well as solid.

Volume of a conical article is three times of the volume of a solid cylindrical article while radius of a solid spherical article is half than that the radius of a conical
article. Outer radius of hollow cylindrical article is same as radius of solid spherical article while average of outer radius and inner radius of hollow cylindrical article
is equal to radius of solid cylindrical article. Height of cylindrical, conical and hollow cylindrical article is same i.e. 14cm

Number of solid spherical article is 1/5 of total number of article Rohit have. Number of hollow spherical article is 150% more than number of conical article. Ratio
between numbers of solid cylindrical article to number of conical article is 3:2. Total number of hollow cylindrical article is 40% of total numbers of article Rohit have’
and also ‘20’ more than the total number of solid spherical article Rohit have. Volume of a hollow spherical article is 33,957 cm? whose inner radius is half of its
outer radius. Volume of a hollow spherical article is 5.25 time of volume of conical article.

LA gIATTHIE FT AT 4 0 AT TYIATHTAATH R

TTRT % I Fe T ST AT SATHT 0T 2, ST 0l TAATHI, ATHAFRTE ST AT FT 2| TTHARTL G T SIS HY A0 AT T8q0 S A< Graed | a1
2l

STTRAHTT A T AAAT STH TATTHIL ] 6 ATTTT 6 AL gl AT ST TATH qEG il AT ATHAFTL aeq T (AT T ST g Frget s hr
FTELT FIsaT 319 er it 37 F a90a 81 Faih Grae JaaThT aeq il A S aTgdT (53T &7 SiEq 216 T a5q & JLa gl A,
STTFARTT AT G TATTRIT TEG T IATS TG g ST AT 14 FHTZ |

ZIE TTATHRTT TEIST T HEAT, (2T 6 TTE H TEqAT FT 1/5 T FIE TATHTE TEGAT 0T HEAT TTRARTT TEL & 150% ATF g ST TAATRIT TE3T il
TEAT ¥ QTTFaRTE TETST T AT FT ATITT 3:2 §| TG TAFTHIT TEGAT T HEAT U F TTH TEAT T HEAT FT 40% & 3T T STH TAT T T 9
20 STFera g1 @TEe ATATRIT TE] T AFAT 33,957 HHT ¢ FSreeht safar FBrsar argdt Bream &t et 81 @it AT a&q 1 SIa, Tiwawie aeq
AT FT 5.25 AT 21

Q-66 Find the total space taken by all solid spherical articles?
AT ST TATHTT T HA [haw T ST =JdT & 2

01. 97020 cm3 02. 4851 cm3
03. 52767 cm3 04. 34653 cm3
05. 2625 cm3

Q-66 Find the total space taken by all solid spherical articles?
Tt 216 AT T8 FA Fhaet ST St & 2

01. 97020 cm3 02. 4851 cm3
03. 52767 cm3 04. 34653 cm3
05. 2625 cm3
Solution for Question 66 Ans Key: 1

Volume of hollow spherical article = 33957 cm?
Let Quter radius of hollow spherical article = R
Inner radius of hollow spherical article = R/2

According to questions %-rr(R“ - (_%)“') = 33957 cm?
= R®=9261 ' '
= R=21
Outer radius of hollow spherical article = 21cm
Inner radius of hollow spherical article = 10.5cm

Volume of conical article =% = 6468= %n (radius of cone) 2x14

= Radius of cone =21cm
Volume of solid cylindrical article = ? =2156 cm?

= 2156 = n (radius of cylinder) 2x(height of cylinder)
= Radius of cylinder = 7cm

Radius of solid spherical article = % =10.5¢cm

Outer radius of hollow cylindrical article = 10.5cm

Inner radius of hollow cylindrical article = 7x2 - 10.5 = 3.5cm
Now again, Let total number of article = 100x

According to question Number of solid spherical article = 20x
Number of hollow cylindrical article = 20x

40x-20x = 20, x=1

Let number of conical article = 2y

Number of hollow spherical article = Sy

Number of solid cylindrical article = 3y

2y+Sy+3y = 100-40-20, y =4

Article Radius Height Volume Number of
article
Conical 21cm 14cm 6468cm? | 8
Solid 7cm 14cm 2156cm?3 12



eng hin

Cylinarical
Solid 10.5cm 20
Spherical
Hollow Inner 14cm 40
Cylindrical | =3.5cm
Outer =
10.5cm
Hollow Inner 20
Spherical =10.5cm
Quter =
21cm

Space taken by one solid spherical article = Volume of one solid spherical article
4
= m(10.5)3= 4851 em’

Total space taken by solid spherical articles = 20x485 1=97020cm’

A TTATHE 0 AT AFaT = 33957 cm?
HTAT AT TATHI T i1 1841 #7941 = R
G TATHIT TG AT AAF A54T = R/2
o7 F ST (R® — (5)°) = 33957 Ffi3
= R3=9261
= R=21
GTE ATATHIT qeq T AT 94T = 21cm
WWWHW‘F%—TO%W
STFTTY 3 =22 = n (o1 T i) 214
= Jr—r'ﬁﬁm'r 21cm
BT AT =g T AT = 2 =2156 FeA?
= 2156 = n (Fre=? %'.:r|=|w\)2x(|--1c4:f?ﬁ:}mé)
o frereT &t frear = 7 7+
TFT"I'I‘I'I’«FI”'T‘-F'«FF%IET='_——105“‘I’¢F
TS SITHTehTE S T STt I3 = 10.5¢m

BT SR I b BTG BT = 72 - 10.5 = 3.5¢m
T et aEGAT h1 ST = 100x

T3 o STTER 319 TR o 2T ST = 20x

TRIT SITHTRR &g AT HEAT = 20x

40x-20x = 20, x=1

T ST S i HE&AT = 2y

WIS TMATRR &G T HEAT = Sy

3 SRR % sh1 §&AT = 3y

2y+5y+3y = 100-40-20, y =4

TH Brem AT AT T i AT
ST 21 &t 147 | 6468 T2 8
BT AT | 7 AET 14 7= | 2156 773 12
e TETE | 10.5 7T 20
e AT 14 #et 40
HAATRTT =3.5 A+t
=gy = 10.5
Y
T ArarE 20
AR =10.5 #HT
=Tay = 21
At

T 3T TIIATSRI 3R ST ol TRIT $IT = Ueh 31 T 3% T TR
= 31‘[{10.5)3=4851@“°‘3

ST TIICAThI o ZIRT foTai 7T et T = 20x4851=97020 T

Volume of hollow spherical article = 33957 cm*
Let Outer radius of hollow spherical article = R
Inner radius of hollow spherical article = R/2
According to questions §T[(R3 = (?)3) = 33957 cm3
= R3=9261
= R=21
Outer radius of hollow spherical article = 21cm
Inner radius of hollow spherical article = 10 5cm
Volume of conical article —g = 6468= —n (radius of cone) 2x14

= Radius of cone =21cm

S AFO



Volume of solid cylindrical article = % =2156 cm’

= 2156 = n (radius of cylinder) 2x(height of cylinder)
= Radius of cylinder = 7cm

Radius of solid spherical article = % =10.5cm

Outer radius of hollow cylindrical article = 10.5cm

Inner radius of hollow cylindrical article = 7x2 - 10.5 = 3.5cm
Now again, Let total number of article = 100x

According to question Number of solid spherical article = 20x
Number of hollow cylindrical article = 20x

40x-20x = 20, x=1

Let number of conical article = 2y

Number of hollow spherical article = Sy

Number of solid cylindrical article = 3y

2y+5y+3y = 100-40-20, y =4

Article Radius Height Volume Number of
article
Conical 21cm 14cm 6468cm? | 8
Solid 7cm 14cm 2156cm?3 12
Cylindrical
Solid 10.5¢cm 20
Spherical
Hollow Inner 14cm 40
Cylindrical | =3.5cm
Quter =
10.5 cm
Hollow Inner 20
Spherical =10.5cm
Quter =
21cm

Space taken by one solid spherical article = Volume of one solid spherical article
4 3 3
= 211(10.5)3= 4851 cm

Total space taken by solid spherical articles = 20x4851=97020cm’

GTEd TATHE T 1 AFa = 33957 cm?
TTAT G TTATHRTE qeq i ATl 9T = R
T4 F AL n(R® — (5)°) = 33957 A
> R=0261
= R=21
GE TATHIT, qEq 1 ATg< 1 (24947 = 21¢cm
G ATATHTT qeq HT A =541 = 10.5cm
ST A T AT = = 6468= o (o1 FT Froom) 2x14

= 97 % BT =21cm
ST FEATI 8 £ AT = —— =2156 T
& 2156 = n (e 7 fremm) 2x( frdtew fit 79%)
= e it Brear =7 741
BT AT 7 FT e = = = 10.5 w5
WGl SRR S 3T STedl frsem = 10.5cm

6468

TG STATHR S, T AN BT = 7x2 - 10.5 = 3.5cm
HH Tt Tl ohl BT = 100x

3 o STTER 3 TR S i §E = 20x

TRIS SSHThR TG shT FEAT = 20x

40x-20x = 20, x=1

HAT JFTRR T T ST = 2y

TIES TATHR g s §E&AT = 5y

3 SRR &g 3h1 §&AT = 3y

2y+5y+3y = 100-40-20, y =4

ITFTHTT 21 &t 14 =t 6468 T3 8
BT AR | 7 AT 14 #dr | 2156 73 12
= e | 10.5 Jt 20

T ATAH 14 &t 40

AAATHTT =3.5 =t

T =105

T
FrEgeT Ecited 20
MATHT =10.5 7t

ey = 21

T




TS, 3 TR o] ST o TTIT I = U 316 TTATHR S T AT
= gn(10.5)3=4851ﬁﬂ°}3

ST TIICAThI o ZIRT foTai 7T <t T = 20x4851=97020 T

Q-67
eng/eng

Q-67

eng hin

Find the numbers of conical article Rohit have?

TR & ITH SIhTahTE aeq 1 FEAT ATd Fl 2

01. 12 02. 20
03. 40 04. 10
05. 8

Find the numbers of conical article Rohit have?

TR o TR SIhTAhT awq hT HEAT AT F 2

01. 12 02. 20
03. 40 04. 10
05. 8

Solution for Question 67

Q-68

Q-68

Clg 1

Number of conical article Rohit have = 8

R 3 9IohTe] Feqelt it HeaT = 8

Number of conical article Rohit have = 8

TR F 1] TEGAT 61 H&AT = 8

Find the curved surface area of one hollow cylindrical article?
GIE SATTHT T FT o017 TS FT TFA AT F 2

01. 661 cm3 02. 1232 cm3
03. 826 cm3 04. 521 cm3
05. 1016 cm3

Find the curved surface area of one hollow cylindrical article?
GIE AL G T o1 TS FT &R AT Fi T 2

01. 661 cm3 02. 1232 cm3
03. 826 cm3 04. 521 cm3
05. 1016 cm3

Solution for Question 68

Ans Key: 5

Ans Key: 2

eng/eng Curved surface area of one hollow cylindrical article = 2mx (3.5+10.5)x14=1232cm?

TF GIE TAATHIT T FHT a RS = 270 (3.5+10.5)x14=1232 FHT2
eng hin  Curved surface area of one hollow cylindrical article = 2t (3.5+10.5)x14=1232cm?

T GTE TR A€ HT a5 &R = 271 (3.5+10.5)x14=1232 FHT
Q-69 Find the ratio between outer radius of hollow spherical article to radius of solid cylindrical article?
engleng @G TATHIT FE it FASAT 3T 19 AAFTHIT a1 AT T ST AT F27 2

01. 5:1 02. 23

03. 3:1 04. 34

05. 2:5
Q-69 Find the ratio between outer radius of hollow spherical article to radius of solid cylindrical article?
eng hin @@ TATHIT FEG AT AT ST ST AAFTHIL q%G 1 52T T ST G F2 2

01. 5:1 02. 2:3



03. 3:1 04. 34

05. 2:5
Solution for Question 69 Ans Key: 3
eng/eng Required Ratio =21:7 = 3:1
SR ST = 21:7 = 3:1
eng hin  Required Ratio =21:7 = 3:1
TR ST = 21:7 = 3:1
Q-70  Volume of one hollow cylindrical article is how much more then volume of one cylindrical article?
eng/eng UF GG AAATHIT TE] HT AT, TF AATTHIT T€] & a1 ATF 22
01. 4312 cm3 02. 6468 cm3
03. 2696 cm3 04. 2156 cm3
05. 1075 cm3
Q-70 Volume of one hollow cylindrical article is how much more then volume of one cylindrical article?
enghin  TF @@ AAATHIT TE] FT AAAT, TF AATTHIL TE] & =T ATF 22
01. 4312 cm3 02. 6468 cm3
03. 2696 cm3 04. 2156 cm3
05. 1075 cm3
Solution for Question 70 Ans Key: 4
Volume of one hollow cylindrical article = x14x(10.52 - 3.5%) = 4312
Required difference = 4312 — 2156 = 2156cm?
TF GrE SATTRIT T HT AATT = 1x14x(10.52 - 3.52) = 4312
T ST = 4312 - 2156 = 2156 #HP®
Volume of one hollow cylindrical article = mx14x(10.5% - 3.5%) = 4312
Required difference = 4312 — 2156 = 2156cm?
TF Gl SATTRIE T BT AT = 1x14x(10.52 - 3.52) = 4312
AHTY AT = 4312 - 2156 = 2156 FHT
Q-71 litre mixture of alcohol and water contain alcohol and water in the ratio 2.66. On adding 2.7 litres of water, the ratio of alcohol to water becomes 2:3.

eng/eng

Q-71

eng hin

Further on adding litre alcohol; the original ratio of alcohol to water is obtained. Find the missing figures.
o AT AT R oftew freor # 2.66 Stra # srereet o7 At 81 2.7 +ftew areft e o e i aret v s 2:3 21 A g1 e
Frew oTea et 9% T § 9RTEe ST AT T A ST ATH 21al g ATIaT S HT T A9

01. 33,6 02. 22,72
03. 1.1,3.6 04. 33,72

05. 72,33
litre mixture of alcohol and water contain alcohol and water in the ratio 2.66. On adding 2.7 litres of water, the ratio of alcohol to water becomes 2:3.
Further on adding litre alcohol; the original ratio of alcohol to water is obtained. Find the missing figures.

AT AT AT F  ofvee Frsqor § 2,66 AT § sTeamiger 3T qTe g1 2.7 efe¥ It fHer ¥ orerer Si< qreit T A9Td 2:3 37 SI1aT g1 e
_ e avE e O qTe H eRTae Sfi¥ Gl T A ST ITH 2aT @1 ATIAT SAhS T IaqT A9

01. 33,6 02. 22,72
03. 1.1,3.6 04. 33,72
05. 72,33

Solution for Question 71 Ans Key: 4

eng/eng

8:3=8:3

2:3=8:12

8:3=32:12

9=27L

1=03L
11=33Land24=72L

eng hin

8:3=8:3
2:3=8:12
8:3=32:12
9=27L



1=03L
11=33Land24=72L

Q-72 In liters mixture of solution of salt and water; 0.25 part is salt. liter water is evaporated so that the part of the salt in the final solution of 54 liter
eng/eng becomes 0.35. Find the missing figures.

THF T I F e freror % 0.25 fEeaT 99+ 2. FArex ITET AT 3 9 54 Ffie? & sifaw e § 987 &1 @57 0.35 21w

FATIAT 32 T TAT MW
01. 8.1,54 02. 81,54
03. 75.6,21.6 04. 81,54
05. None of these
BEEEIERE]
Q-72 In__ liters mixture of solution of salt and water; 0.25 partissalt. liter water is evaporated so that the part of the salt in the final solution of 54 liter

eng hin  becomes 0.35. Find the missing figures.

THF T I F e freror % 0.25 fEeaT 99+ 2. FAex T AT 3 9 54 Ffie? & sifaw e § 9875 &1 357 0.35 21 m=m

ATYAT TS T IAqT AT
01. 8.1,5.4 02. 81,54
03. 75.6,21.6 04. 81,54
05. None of these
T A TS AR
Solution for Question 72 Ans Key: 3
1:3=7:21
7:13=7:13
20=54L
1=27
28=756Land 8=21.6 L
1:3=7:21
7:13=7:13
20=54L
1=2.7

28=75.6Land 8=21.6 L

Q-73 18 litres water was added to a vessel containing 80 litres of pure milk. 49 litres of the resultant mixture was then sold. After that litre pure milk and
litre pure water was added to the vessel in the respective ratio of 2:1. The respective ratio of milk and water in the resultant mixture is 4:1. Find the
missing data?

80 #fTeX S[& T AT a0 § 18 TV I+t STAT TAT| T TROTTHT FH=107 3 49 Fre 9 =7 37| 369 18 a9 | 2:1 % SqI1d § e q0F 3T

53 F1eT & T T Fg AT AT (Hert T TRt foesror § ger $fi? e 7 ST A 4:1 21 e Atwst F7 9@t )

01. 16,18 02. 2,1

03. 4,2 04. 20, 10

05. None of these

TAH T TS AR

Q-73 18 litres water was added to a vessel containing 80 litres of pure milk. 49 litres of the resultant mixture was then sold. After that litre pure milk and
eng hin litre pure water was added to the vessel in the respective ratio of 2:1. The respective ratio of milk and water in the resultant mixture is 4:1. Find the

missing data?

80 e o1& T AT T § 18 TV T STAT TAT| T TROTTHT FH=107 36 49 et 5=7 1247 369 A aaqd H 2:1 FAqIT H AT qF 34
T ofteT g aTei A e ot wrET femedy et aforet s § ger o ot S aqard wwen: 4:1 81 fAem ARt w1 uar e

01. 16,18 02. 2,1
03. 4,2 04. 20,10
05. None of these
TAH H A TRl
Solution for Question 73 Ans Key: 3
eng/eng 40 +2x 4
EXTE i

Therefore 2 x 2 =4 and 2

40 +2x 4

— = = 2T



S X 1
AT 2x2 =472

eng hin
40+ 2x 4 51
- == =
9+x 1 "
Therefore 2 x 2 = 4 and 2
40+2x 4 o
_— = =
9+x 1
T 2X2=472
Q-74 Qq: In a certain quantity of syrup; 5 parts is honey while 3 parts is water. x part of syrup is removed and replenished with water in order to get a syrup
eng/eng  having half honey and half water?
oo o foreft ffera fesror #; 5 9T 9122 2 3T 3 ART 9T 2. ST 9T8% ST e T a1 ATt [od YT 3 & fore e 7 x fZear et @
ST s ot & 7 fo= =
Q,: A bottle contains 0.75 whisky and the rest water. y part of the mixture is taken away and substituted by equal quantity of water so as to have half
whiskey and half water?
T Fraer & 0.75 Ty e arfer qreit g1 smeft wfewy 3T s 9+ 219 3 forw fspor w67 y wr foram = sie aw /e § qr g giaeertig
ERIEE
01 . X5y 02 X<y
03 x>y 04 Xfy
05. Relation can’t be determined
e T Tal (6T ST JhaT 2l
Q-74 Qq: In a certain quantity of syrup; 5 parts is honey while 3 parts is water. x part of syrup is removed and replenished with water in order to get a syrup

Solution for Question 74

having half honey and half water?
o 3 et Ao frsror 9; 5 9T orge 2 31T 3 097 O 2. ST 9T 3T et O arelT (9 9 v o fore f8ey = x e feerer o
S gfagfd 9t & < fo=m @

Q,: A bottle contains 0.75 whisky and the rest water. y part of the mixture is taken away and substituted by equal quantity of water so as to have half

whiskey and half water?
T el § 0.75 TeT ST arier qreT g1 3meft Jiewr ST e I g1 o o1 frsor &7 y 9Rr O 1@ $f< a6/ 9= § 91+ g1 Siaeg
ERIERI

01. X=y 02. X<y
03. X>y 04 Xfy

05. Relation can’t be determined
T TATIOT T2l hAT ST HehaT 2|
Ans Key: 2

Q:5:3=3:3
1:1=5"%

Qo:
3:1=3:1
1:1=3:3

Hence x<y

eng hin

Q1:5:3=5:3
1:1=5:5

Qo2:
3:1=31
1:1=3:3

Hence x<y

Q-75

Qq: A person takes a loan of 3000 at 5% at simple interest. He returns % 1500 at the end of 1 year. In order to clear his dues at the end of 2 years he

eng/eng paid T x?

T =AT<h X 3000 FT T 5% ATETI 4TS 9L AT gl a8 1 AT % 3 | 2 1500 FATeTaT g1 2 AT 6 3q H T SAGTL T T FHIA 5 o170 98 T X
AT FH2aT gl



Q5: A person takes a loan of ¥ 2000 at 5% at compound interest (compounded annually). He returns % 1000 at the end of 1 year. In order to clear his

dues at the end of 2 years he paid X y?
T TR T 2000 FT 3T 5% Fhg T sATS (ATTHF HATMST) T AT g1 a8 1 |1 % oid | T 1000 ATSTAT g1 2 AT % 3 H TIT ST T 2T
T % o0 a8 3 y AT w2

01. X=y 02. x<y
03. x>y 04. xgy

05. Relation can’t be determined

Taley TATAT Tl ThIT ST T B

Q-75 Qq: A person takes a loan of T 3000 at 5% at simple interest. He returns X 1500 at the end of 1 year. In order to clear his dues at the end of 2 years he
eng hin  paid I x?
T SAT<h X 3000 T T 5% FTLTI 4TS 9T AT gl a8 1 AT % 3 | T 1500 FATeTaT gl 2 1A o 3q H T SAGTL I T FXA % o7 a8 T X
AT FT g
Q,: A person takes a loan of X 2000 at 5% at compound interest (compounded annually). He returns X 1000 at the end of 1 year. In order to clear his
dues at the end of 2 years he paid X y?
T SAT<h X 2000 FT T 5% TH (5 AT (ATTUH FATSA) T AT g1 a2 1 9T % 3T | T 1000 FATTAT g1 2 T 6 3T H I IAT 0 T
A o o0 g 3 y SETaT
01. X=y 02. x<y
03 x>y 04. ng
0S. Relation can’t be determined
Harer TATIOT Tl 3T ST JhaT 2|
Solution for Question 75 Ans Key: 2
3000x5X1 1500x5X1 - P
Q1:x= + =150+ 75 = X225
100 100
2000x5X1 1000x5x1 100X5x1 -
Qq:y= - - — = 100+50+5= X155
100 100 100
Hence x<y
3000x5x1 1500x5x1 - .-
Qq:x= + =¥ 50+ 75 =T 225
100 100
2000x5x1 1000X%5x1 100x5x1 o
Qqy= = 100+ 50+5 = X155
100 100 100
Hence x<y
Q-76 Q;: A man saves X 2000 at the end of each year and invests the money 5% compound interest. He had % x at the end of 3 years?
T SATEHT TedE a9 & 3 § T 2000 TATAT & AT T 5% Tohgfag o1 T2 [HAT FAT 81 3 A & o § 38 919 L X T2
Q5: A man saves X 2000 at the start of each year and invests the money 5% compound interest. He had X y at the end of 3 years?
T SATTHT TeaH a4 o ESAT H T 2000 TATAT & T T 5% Fohd fag ST T2 HaA9T FaT 81 3 1A & o § 36 9719 L y T2
01. X=y 02. x< y
03. X > y 04. x< y
05. Relation can’t be determined
et 72t o <1 #ehat 2
Q-76 Q4: A man saves X 2000 at the end of each year and invests the money 5% compound interest. He had % x at the end of 3 years?
eng hin T SEHT TF T % 3d H T 2000 TATAT & 3T TH 5% FFHd T 54T T (49T FIAT g1 3 TTA % 3 H 385 19 X x FET?
Q,: A man saves X 2000 at the start of each year and invests the money 5% compound interest. He had X y at the end of 3 years?
T ATEHT T a9 % L&A § Z 2000 FTATAT & ¥ TH 5% Tl AT ¥ [Forer F2a1 1 3 |1 & oid § I 979 L y gII?
01. X=y 02. x < y
03. X > y 04. x< y
05. Relation can’t be determined
gt 7=t T ST asar g1
Solution for Question 76 Ans Key: 2
eng/eng 5

2 1
Q1: x = 2000 (1 +i) + 2000 (1 4 —) + 2000 = 2205 + 2100 = 34305
100 100

Qaty = 2000 (1 +r':’0)3 +2000 (1 + %)2 +2000 (1 + %)1 +2000 = 2315.25 +

2205 + 2100 = 36620.25
Hence x<y



eng hin 5 \2 5 31
Q1: x = 2000 (1 +E) 12000 (1 T E) + 2000 = 2205 + 2100 = 34305

Qary = 2000 (1 +%)3 +2000 (1 + 1%0)2 +2000 (1 + %)1 +2000 = 2315.25 +

2205+ 2100 = 36620.25
Hence x<y

Q-77 Q: T 64 amounts to X 83.20 in 2 years. X 172 amounts to X x in 4 years at the same rate percent per annum?

eng/eng 2 TTA | T 64 T LT T 83.20 FTA g1 AT 21 I a9 T+ T¥ Tidera 9% 4 a9t § 2 172 7 T T x T AT 22
Q,: The amount of X 250 invested at 12% p.a. during the period from 4th February 2018 to 18th April 2018 is X y.

4 FTEE 2018 | 18 31T 2018 = erafer 3 e 12% i arfiir 7 a7 9% T 250 fAeer &1 e 2y 21

01. x>y 02. X<y
03. x<y 04. X2y
05. x=yorCND

Q-77 Qq: 364 amounts to X 83.20 in 2 years. X 172 amounts to I x in 4 years at the same rate percent per annum?

enghin 2 AT | T 64 T THH T 83.20 FIF g1 AT 21 I a9 T+ 7% Iidera 9% 4 a9t § T 172 1 T T x 7 AT 22
Q,: The amount of X 250 invested at 12% p.a. during the period from 4th February 2018 to 18th April 2018 is X y.

4 T 2018 | 18 39T 2018 = srafer 3 g 12% wia arfiher & a7 9% T 250 fAeer &1 e 2y 21

01. x> y 02. x< y
03. x< y 04. x> y
05. x=yorCND
Solution for Question 77 Ans Key: 1

83.20—
Q1: Rate =

x =172 (1+22) = 22752

Qq: Time = 24+31+18=73 days = 73/365 years = 1/5 years
y = 250 (l N 712><;,..-5‘J

Hence x>y

= 3256

83.20—-64

Q1: Rate = e x 100 = 15%
x =172 (1 +222) = %275.2
100 /

Q2: Time = 24+31+18=73 days = 73/365 years = 1/5 years
y =250 (1 +225) = 2256
Hence x>y

Q-78 Q1: 3600000 is divided into three parts (the first part is X x) in such a way that their respective amount; each at 10% interest; after 2 years, 4 years and 6
years respectively; is in the ratio of 12:21:32.
2 600000 T T AT (TZAT AT 2 x 2) T =0 TTe fasriora Fram srar 3 Sert g ferem; s o 10% st arises ¥ 27 31, 739 2 97, 4
HTA 3T 6 AT % d17 12:21:32 F F9TT | &I J1aT €.
Q,: A man deposited X 3480000 between his two sons in such a way that when they aged 18 years they could receive equal amounts. They aged 15 years

and 13 years. If the rate of the interest is 4% pa. The difference of the amount of money deposited in their accounts is X y.

TF ATTHT 7 T 3480000 3T I 21 % @A H T8 THTL STHT FTAT ¢ T AT 709 18 F FTeATEA I% U THIT Ga2Tier YT F2, ITh7 a1 15 a9 3f7
13 9 g; 7fe 37T it 3T 4% I o g1 v Ik @ & Sty ey v e 2 y Q)

01. X > y 02. x < y

03. x<y 04. x>y

05. x=yorCND
Q-78 Q4: 600000 is divided into three parts (the first part is X x) in such a way that their respective amount; each at 10% interest; after 2 years, 4 years and 6
eng hin  years respectively; is in the ratio of 12:21:32.

Z 600000 T T TR (TZAT AR 2 x g) H 28 YT farsyriora foram o £ 37t w1 forsres; e % 10% St arfi &t 3T &; e 2 97, 4

HTA 3T 6 AT % d18 12:21:32 % FITT | &I AT €.

Q,: A man deposited X 3480000 between his two sons in such a way that when they aged 18 years they could receive equal amounts. They aged 15 years

and 13 years. If the rate of the interest is 4% pa. The difference of the amount of money deposited in their accounts is X y.

T ATETHT 7 T 3480000 3T I F2T % @I H T8 THTL STHT F1AT ¢ T AT 709 18 F STeATEA TT TF THIT GaeTier T FL, 37 a0 15 a9 37
13 a9 &; 7f3 sarr i 3% 4% i a9 g1 a7 39 =@ § ST i #r s Ty |

01. X>y 02. X<y



03. x<y 04. x>y
05. x=yor CND

Solution for Question 78 Ans Key: 1

eng/eng

Qq: Ratio of Principle = —= x 100: - x 100:—= x 100 = 2:3: 4
120 140 160

600000
ER S 9 x 2 =133333.33

Q2: Ratio of Principle = — x 100: — x 100 = 15: 14
y=20x 1= 120000

Hencex >y

Q: TETE T TG = — x 100: - % 100:—=x 100 = 2:3:4

120
— 500000 . 9 — 133333.33

Q: H{THHA D1 3FUId = — x 100:— x 100 = 15: 14

112
3450000
29

x1=120000
Hlx >y

eng hin

Q-79

Q-79

eng hin

Q1: Ratio of Principle = — >< 100:22 x 100: 22 x 100 = 2:3: 4
140 160

600000 o
g X 2=13333333
Q: Ratio of Principle = i, X 1oo:ﬁ x 100 = 15: 14

y = 2480000 o 1 — 120000

Hence x : y

5 s

Qu: FEIH T SR = - x 100: 2

g DONOL 5 133333.33

9

Qz: AU BT AT = — x 100: — x 100 = 15: 14

@ x 1= 120000

Hd:x > y

A, B and C entered into a partnership. A invested I 3000 at the start. B invested 33.33% more than that invested by A. C invested the average of the
investment made by A and B. After 4 months, A withdrew 40% of his amount, B doubled his amount and C increased his amount by 20%. After another 5
months, B got away from partnership and A doubled his amount while C maintained his amount. Profit at the end of the year was ¥ 677000 and profit was
shared in the ratio of their investment and time.

Quantity I: Profit earned by C.

Quantity II: Average of profit earned by A, B and C together.

A, B 3l¥ C 7 UF ATARTT Tl AT &T § T 3000 T 7o fFam BT A | 33.33% stfara a1 farer f3am C 7 A & B 3= 3w arw fHeer 7
sirera faer e 4 W& aTa, AT SOt T T 40% At o foraw, B 7 st Trfer wr SR 7 {34 o C 7 7y Fw 20% @@r oA v =7 s
HEI % aT<, B ATHETT § §T 81 AT 3T A 7 ST W17 IE[AT 7 (AT STateh C « STOAT TT197 10 T=T| a9 % 3 § A1 X 677000 =T 3T A1
I AT ST W 3 ST § AT AT T A

HTAT L C I TSI T4

qTATIL: A, B 3T C T3 T A1 AfSiq T &7 e

01. =11 02. I<I1
03. I>=II 04. T<=II

05. 1=II or No Relation

A, B and C entered into a partnership. A invested 3000 at the start. B invested 33.33% more than that invested by A. C invested the average of the
investment made by A and B. After 4 months, A withdrew 40% of his amount, B doubled his amount and C increased his amount by 20%. After another 5
months, B got away from partnership and A doubled his amount while C maintained his amount. Profit at the end of the year was ¥ 677000 and profit was
shared in the ratio of their investment and time.

Quantity I: Profit earned by C.

Quantity IT: Average of profit earned by A, B and C together.

A, B 3T C 7 UF HIEERT Tl AT LFd | T 3000 7 fHaer Bram BT A & 33.33% srferss 7 fHaer fBham € 7 A 3T B g7 fhu 1w /e 1
e ferer foram) 4 R aTE, AT ST TTF9T FT 40% AT9E o foram, B 7 et 1727 7 IRET w7 347 3T C 7 T0f9r 1 20% 7@ f&3m) v 7 5
AEIA % 978, B ATAETE & T &1 AT 31T A 7 ST 710 FR[AT &< (337 S|t C F =1 T a0 Tl a9 3 37 H A1 T 677000 9T 3T AT
I Terer ST q9T % SqaTa § |TAT AT T34 =m

HTATL: C T AT AT+

qTATIL: A, B 3T C 2T T A1 ATSiq T &7 |

01. >I1 02. <11



03. >=II 04. I<=Il1
05. I=II or No Relation

Solution for Question 79 Ans Key: 1
eng/eng A:B:C=30x4+4+18x5+36%x3:40x4+80x%x5:35x4+42x5+42x3
= 318:560:476
I =476
318 + 560 + 476
I1= f = 451.33
Hence [ > 11

A:B:C=30Xx44+18Xx5+36x3:40x4+80x%x5:35x4+42%x5+42x%x3

= 318:560: 476
1=476
318 4+ 560 + 476
[ = ——=451.33
3
@ 1> 11
eng hin A:B:C=30%x44+18x5+36x3:40x4+80x5:35x4+42x5+42x3
= 318:560:476
=476
318 + 560 + 476
- —451.33
3
Hence I > 11
A:B:C=30x4+4+18x54+36x3:40x4+80x%x5:35x4+42x5+42x3
= 318:560:476
1=476
318 4+ 560 + 476 .
[ = ———=451.33
3
A 1> 11
Q-80 Manoj; a fruit seller; sells 33 mangoes and gains equals to the selling price of 11 mangoes. Also he sells 66 oranges and gains equal to the cost price of 22
oranges. Manoj gains x% when all the mangoes are sold and gains y% when all the oranges are sold.
HAIST; UF Fel [ahdT; 33 SIF J=dT g 3T AT 11 A/ il {300 o7 % 93797 . THE (ATl a8 66 HAL a7 g 3T ATH 22 HAL i ARG JoF %
FITAL. TATST ATH X% ST THT ST/ I T 8 3T ATH y% ST qHT qIL o9 75 2.
01. x%>y% 02. X%<y%
03. x%=y% 04. Can’tsay
FE Tal T
05. None of these
TAH HAS ol
Q-80 Manoyj; a fruit seller; sells 33 mangoes and gains equals to the selling price of 11 mangoes. Also he sells 66 oranges and gains equal to the cost price of 22
eng hin  oranges. Manoj gains x% when all the mangoes are sold and gains y% when all the oranges are sold.
HATST; T e [AadT; 33 ST I=9qT & $f¥ AT 11 30 A7 Tt g7 F a2ra< §. T80 AATdT a8 66 Ha¥ J=q7 g ST AT 22 Ha¥ il ARG g7 &
FITAL. TATST ATH x% T THY 37 T T2 & 3T ATT y% S qlf 7/ 9+ 72 2.
01. X%>y% 02. X%<y%
03. x%=y% 04. Can’tsay
FE el qdl
05. None of these
TAH F ATE Ao
Solution for Question 80 Ans Key: 1
eng/eng 33 - 22
YoMagoes = X = 5 X 100 = 50%
88 — 66
Yooranges =Y = 66 X 100 = 33.33%

Hence x%>y%

% s = X = ———— % 100 = 50%

(1 7. NNt O Bl (F o Y o Q.. Ts M Ko 1. V.3



LA ° [+ ¥ N S N AWA T adadend S SV

66
T x%>y%

eng hin 33 —-22
%Magoes =X= T X 100 = 50%
88 — 66
Yoranges =Y = o5 x 100 = 33.33%
Hence x%>y%
33-122
88 — 66
% 4qr =¥ :TX 100 = 33.33%
AT X%>Y%
Q-81  Who has won 2020 Goldman Environmental Prize ceremony in Asia continent?
eng/eng  UTATAT HETATT H 2020 TEEHA THTA07 [LERTT FAHTG e ST 82
01. Jennifer A. Doudna 02. Geetagopi nath
STfe T SreAT AR ATy
03. Paul Sein Twa 04.  Ana Colovic Lesoska
05. Linda Garcia
IEEIRIERI]
Q-81 Who has won 2020 Goldman Environmental Prize ceremony in Asia continent?

TS HETETT # 2020 TS T TRERTE THILE Fa Sar 82

01. Jennifer A. Doudna 02. Geetagopi nath
SITAE T 2T Framrdy A

03. Paul Sein Twa 04. Ana Colovic Lesoska
T I AT AT ATt o Rt

05. Linda Garcia
foreT st

Solution for Question 81

Q-82

Q-82

eng hin

Paul Sein Twa of Myanmar has won 2020 Goldman Environmental Prize ceremony in Asia continent.

T % Gl H19 29T 7 TR HrarT | 2020 TeeHT TAavoiT TERTT qH1E0E ST 2|

Paul Sein Twa of Myanmar has won 2020 Goldman Environmental Prize ceremony in Asia continent.

T % el HI9 291 7 T HSTErT | 2020 TeeHT T [TERTT qH1EE ST 2|

Who has been appointed as the ambassador of the BAFTA Breakthrough initiative in India?

A § ATT AT 98 & T5ga & &9 § e s o T 82

01. Anupam Kher 02. Sonu Nigam
ERELECES a1 A
03. AR Rahman 04. Deepa Mehta
THT AT T Agar
05. Bhanu Athaiya
AT AT

‘Who has been appointed as the ambassador of the BAFTA Breakthrough initiative in India?

A H FTT AT 98 & T91gd & =9 § forgy A o s 82

01. Anupam Kher 02. Sonu Nigam
ALTH ©T w1
03. AR Rahman 04. Deepa Mehta
THT AT T Agar
05. Bhanu Athaiya
AT AT

Solution for Question 82

Ans Key: 3

Ans Key: 3

eng/eng  Oscar and Grammy-winning Indian composer AR Rahman has been roped in as ambassador of the BAFTA Breakthrough initiative in India. In 2020,

BAFTA will identify and support up to five exceptional talents working in film, games or television in India.



AT ST I AT ST SefiaeaTe U AT w1 ad  areer furtas g5 F reiga w9 H =S4 T47 21 2020 H, 97T 9 § e,

G AT AT § HTH FIA ATAT T STETLTIOT TTAATST T TZATT T ST IART THAT FHTN

eng hin

Oscar and Grammy-winning Indian composer AR Rahman has been roped in as ambassador of the BAFTA Breakthrough initiative in India. In 2020,

BAFTA will identify and support up to five exceptional talents working in film, games or television in India.

ATEHT ST JHT FASTaT et SfaaTe T3 TgAT &1 ed | ST (Hiae 98 % TSgd & &9 § 47 7 g1 2020 &, ITFeT 97 7 e,

G AT AT § HTH FIA ATAT T STETLTIOT TTAATSN 6T TZATT T ST IART HHAT FHTN

Q-83

eng/eng

Q-83

eng hin

‘Who among the following become the first Indian to stand on the podium in an FIA Formula 2 Race?

ot & § F9 TR T BHAT 2 70 | TSI gIEa F:3 a7 T8l g a9 T 82

01. Jehan Daruvala 02. Pawan Negi
e FFATAT TaT

03. Bajaran Punia 04. M C. Marry Com
ESECRIERIN oW o FwE
05. None of the above

AW A ATE AT A

‘Who among the following become the first Indian to stand on the podium in an FIA Formula 2 Race?

Fraforfad & & $17 TRATST BT 2 39 H TIETH STH FIA a1l Tged i aq T 82

01. Jehan Daruvala 02. Pawan Negi
03. Bajaran Punia 04. M C. Marry Com
o T T d B
05. None of the above
TAH A off T80

Solution for Question 83

Q-84

Q-84

eng hin

The Red Bull Racing Junior Jehan Daruvala is the first Indian to stand on the podium in an FIA Formula 2 Race.

T2 gl YT AT e STEATAT TRATST AT 2 6 qIfaw grie F:53 a7 vg T 7 gl

The Red Bull Racing Junior Jehan Daruvala is the first Indian to stand on the podium in an FIA Formula 2 Race.

T2 g T AAT ST ITEATAT TS T AT 2 370 § TIIH ST FTe arel Tgel AT 2|

Recently which of the following word named as “Word of the Year 2020” in Cambridge Dictionary?

I 2T § Fivarst (Sl § etertad § 7 e 9Te2 1 "a< 311 & 33T 2020" gl 47 22

01. Samvidhan 02. Quarantine
GIERIE] A

03. Corona 04. Lockdown
5‘\ i\; 5 “51 S[3+

05. None of the above
TAH HHE AT AR
Recently which of the following word named as “Word of the Year 2020” in Cambridge Dictionary?

BT BT H hlsrol TSFALT | (AHTeITad | F 5 9768 &1 "9 A § 9 2020" FgT T4T 872

01. Samvidhan 02. Quarantine
HIERIE T
03. Corona 04. Lockdown
05. None of the above
TAH H AS AT TE

Solution for Question 84

Ans Key: 1

Ans Key: 1

eng/eng Cambridge Dictionary has named 'quarantine' as Word of the Year 2020.
et FRFeeY T T &7 a€ A T AT 2020 19 23T )

eng hin  Cambridge Dictionary has named 'quarantine' as Word of the Year 2020.
oot FRFer Y T “Ere” &7 a€ A T 24T 2020 79 23T )

Q-85 Recently which of the following country has launched new Angara-AS rocket?

engleng 2T &t # wfertad # & B 291 7 74T $WRT-1 5 e Ate B &2

01. USA 02. France
EEIAET e



Q-85

eng hin

03. India 04. England
. s
05. Russia
]

Recently which of the following country has launched new Angara-AS rocket?
BT &1 # Aeforfaa ® & O 390 9 997 $RRT-1 5 Tahe Afe T 82

01. USA 02. France
AT RIE
03. India 04. England
-
0S. Russia
w«q
Solution for Question 85 Ans Key: 5
eng/eng Recently Russia has successfully launched new Angara A5 Heavy Lift Space Rocket from Northwest Russia.
BT &1 | = 3T IIHT €9 § 747 36T U 5 gt e T9F e GRaqrgas died (647 2|
eng hin  Recently Russia has successfully launched new Angara A5 Heavy Lift Space Rocket from Northwest Russia.
BT &1 | & 7 I IIHT €9 8 747 36T U 5 gt e ¥96 Tahe Ghaargas died (647 2|
Q-86 Which of the following does not comes under the purview of the Securities and Exchange Board of India?
FReferiad & & 19 AT Jiasid =i AT a1 F 3 § 981 v 2
01. Capital Market 02. Money Market
IS AT T AT
03. Primary Market 04. Secondary Market
PIRIEEC IS ERIRETCIE IR
05. None of these
TH T S AL
Q-86 Which of the following does not comes under the purview of the Securities and Exchange Board of India?
Referfaa & & w s afasfa s [fFaT a1 % 3@ | 981 a1 82
01. Capital Market 02. Money Market
ESLELSIES AT AT
03. Primary Market 04. Secondary Market
EIRIEETCISIES ERIRETCI IR
0S. None of these
TR JHE AL
Solution for Question 86 Ans Key: 2

Money market basically refers to a section of the financial market where financial instruments with high liquidity and short-term maturities are traded.
Money market has become a component of the financial market for buying and selling of securities of short-term maturities, of one year or less, such as

treasury bills and commercial papers. It is regulated by the RBI.

ST AT A & F A< a7 F U ZE Tl Haf5q FqT 8 STgi Ig TLAdl T AeqahTiors TRagwar aref fa<i = qreei F7 FTET grar gl
ST TS AeTHT o TREwarsl it Trasgfaat st @diae it a=+ % forw i a1 &7 U ged o9 747 8, U 970 37 399 7 997 % o,

ﬁﬁ%éﬁﬁﬁvmaﬁrﬁwwngBIm%ﬁvﬁﬁél

eng hin

Money market basically refers to a section of the financial market where financial instruments with high liquidity and short-term maturities are traded.
Money market has become a component of the financial market for buying and selling of securities of short-term maturities, of one year or less, such as

treasury bills and commercial papers. It is regulated by the RBI.

HET AT A & H AT ST 6 U [ Tl G FIqT & @i 3g TLAdl ST AeqHT o1 AT aTef fa<i (3 qreei F7 FILET grav gl
ST ATSATE ACTHRT T TRTFHATH T TIASIAAT T GLE ST T oI i SIS &7 UF qed a9 747 8, TH q7e A7 I99 FH q997 % o7,

S P 3oy Firer <ire T OTTSoT T T RBI 21T R 3

Q-87

eng/eng

Q-87

eng hin

Which of the following company has launched "Make Small Strong" campaign to promote small businesses ?

Fraforfea & & o ot 7 ZIe SHaaTa 7 a@ET a7 & o7 "W T 2= At gF AT g2

01. Reliance /feeTai 02. TATA/ZTeT
03. Infosys /ZRITE® 04. Google AT
05. Face Book / #8dH

Which of the following company has launched "Make Small Strong" campaign to promote small businesses ?

fReferfa & & fore Fuet F e et #7 9@ 3 & oy "5 TRt 2= Sf e o T 82



01. Reliance /Fr=mae 02. TATA/ZTeT
03. Infosys /ZRITEH 04. Google /AT
05. Face Book / #8dH

Solution for Question 87 Ans Key: 4
eng/eng  Google India has launched "Make Small Strong" campaign in order to support small businesses and drive demand through customer support.
Google T=AT T e SAGATAT FT THAT FL ST ATSF TETAAT & HILAH F I12d T AT & [oI7 "HeF THIA TR ATHATT & 647 3
eng hin  Google India has launched "Make Small Strong" campaign in order to support small businesses and drive demand through customer support.
Google T=AT T e SAGATAT FT THAT FL AT ATEF TSTAAT 6 HILAH F IT2T T AT & (o717 "HF THIA TR SATHATT L& 64T 2
Q-88  Which bank has partnered with Haqdarshak to help Indian MSME to recover from COVID-19 pandemic?
eng/eng . .
B S T 9T MSME T COVID-19 HETHTY F 3o § Hag e  fory ggaels & a7y anfiar £ 82
01. Axis Bank 02. SBI Bank
T §F TETATE dF
03. YesBank 04. DBS Bank
I §F SEILGEED
05. HDFC Bank
Q-88 Which bank has partnered with Haqdarshak to help Indian MSME to recover from COVID-19 pandemic?
39 S T AT MSME T COVID-19 AETHT § ST § HEE F¥ & [T ggHaei® & A1 ARfer<y &t g2
01. Axis Bank 02. SBI Bank
03. YesBank 04. DBS Bank
0S. HDFC Bank
TASIOHRHT S
Solution for Question 88 Ans Key: 3
DBS Bank has partnered with Haqdarshak to help Indian MSME to recover from COVID-19.
SET0H §F T AT MSME T COVID -19 T 3=+ & TaE &< & [oIT ZHa9T o a1 AHETT i 2|
DBS Bank has partnered with Hagdarshak to help Indian MSME to recover from COVID-19.
SETTE §F T AT MSME T COVID -19 T 3=+ § Tag &% & (oIU ZHaT % a1 ARIET &l 2|
Q-89 Where is Veer Savarkar International Airport located?
AT ATATHL ATUNGIT ZATS AT Fgl (09 82
01. Pune, Maharashtra 02. Bhopal, Madhya Pradesh
KU EIN AT, A H29
03. Port Blair, Andaman and Nicobar Islands  04. Guwahati, Assam
e oA, A 317 AFET 517 79g TATETEN, 3THH
05. None of these
TAH (S Aol
Q-89 Where is Veer Savarkar International Airport located?
eng hin AT ATACHL HAULTT AT AT Fgl fFora 22
01. Pune, Maharashtra 02. Bhopal, Madhya Pradesh
o, HERTY AT, WET TR
03. Port Blair, Andaman and Nicobar Islands  04. Guwahati, Assam
e soA, A 31 AFE 517 99g TATETET, 39
05. None of these
TAH (S Aol
Solution for Question 89 Ans Key: 3

eng/eng  Veer Savarkar International Airport is located in Port Blair, Andaman and Nicobar Islands.

AT ATATHT AL gATE AZT, TNE so 4, FSHA T Awram i awqe § faa 2

eng hin  Veer Savarkar International Airport is located in Port Blair, Andaman and Nicobar Islands.

¥ qTEaTHT AT gaTS AT, TIE 59, A ¥ e 417 79z # Fua g1




Q-90

Where is the Headquarters of United Nations Environment Programme (UNEP)?

engleng  HATH WY TATAXI FRIFH (UALHT) T HEATAT Fgl 22
01. Vienna, Austria 02. Geneva, Switzerland
o, st SaT, faesee
03. Nairobi, Kenya 04. Paris, France
AT, FeT g, wig
0S. Rome, Italy
Q-90  Where is the Headquarters of United Nations Environment Programme (UNEP)?
eng hin  I<H Y TATALI FRIFA (UALHT) T HEATAT Tl 22
01. Vienna, Austria 02. Geneva, Switzerland
03. Nairobi, Kenya 04. Paris, France
AT, FeT g, wig
0S. Rome, Italy
Solution for Question 90 Ans Key: 3
The United Nations Environment Programme is headquartered in Nairobi, Kenya. Erik Solheim is the Director of UNEP. It was founded in 5 June 1972.
HIH Y TATALIT HTAFHH HT [EATAT AT, HedT § g1 T Aeagq JUASHT  [Ha9rF gl THeOT S99 5 7 1972 § g2 o
The United Nations Environment Programme is headquartered in Nairobi, Kenya. Erik Solheim is the Director of UNEP. It was founded in 5 June 1972.
HITH Y TATALIT HTAFHH HT [EATAT AT, HedT § g1 T AeAgq UASUT  [Ha9rF g1 THOT S99 5 7 1972 § g2 A
Q-91 When was the Abel Prize instituted?
TS [EERTY e T (R 3T 972
01. 2000 02. 2001
03. 2002 04. 2003
05. 2004
Q-91 When was the Abel Prize instituted?
01. 2000 02. 2001
03. 2002 04. 2003
05. 2004
Solution for Question 91 Ans Key: 3
The Norwegian Academy of Science and letters, Oslo instituted the Abel Prize in 2002. The award was given for the first time in 2003. The award carries
a cash prize of 6 million Norwegian Krone. The Abel Prize is given annually to a great mathematician to honour his/her great and outstanding contribution to
mathematics.
=TT ST oot ¥ AT STHTEHT, AT 7 2002 F T EERTT AT TATIAT T, TgeAT I [LERTT 2003 F TIT 03T o7, 1T F &9 7 6 Aform ara
F I T Toha [LERTY (33T STTAT 8. Uael [EERTE TFATT T 0T Rl STaay Sk g7 01T o o0 AT $ii¥ I TTeTe & form faa smar
eng hin  The Norwegian Academy of Science and letters, Oslo instituted the Abel Prize in 2002. The award was given for the first time in 2003. The award carries
a cash prize of 6 million Norwegian Krone. The Abel Prize is given annually to a great mathematician to honour his/her great and outstanding contribution to
mathematics.
TSI Sl oo T 19 STHTaHT, AT 7 2002 H T TIEHTT 1 SITIAT 1. Tgelt 1% TERTT 2003 F F&3T &7 o7, [ER & &9 7 6 e T
F I AT qha [IERTY (33T STTAT . Tael [EERTE TFHTT T 0T T STy S g7 01T o o0 7T ST I TRTeTE & forw feam smar
Q-92 NABARD sign MoU to work together to synergize the activities in the interest of agriculture and allied sectors for bringing better value to the
eng/eng  stakeholders.

NABARD  f@aemai & forg sgaw qo o & forg 10 siv dag o=t = Fa & wfafatert & qreme % o v amr s e
forT \rw=ftaT AT a¥ gEaraw R

01. APEDA 02. EPFO
udteT THUwsT
03. SBI 04. ADB



05. None of the above

T TS o T

Q-92 NABARD sign MoU to work together to synergize the activities in the interest of agriculture and allied sectors for bringing better value to the
eng hin  stakeholders.
NABARD  f@aemai & forw sgaw g @ & forw W sfiv dag a1 + B & wfafateri & qrerme & forw us arr &9 #3349 %
foru awEtaT FTa 9 geare )
01. APEDA 02. EPFO
TdteT ERTLE
03. SBI 04. ADB
T AF A AT TS A §F
05. None of the above
AT FHIE A TE
Solution for Question 92 Ans Key: 1
eng/eng  APEDA and NABARD sign MoU to work together to synergize the activities in the interest of agriculture and allied sectors for bringing better value to the
stakeholders.
APEDA 3T NABARD ¥ fRaemeai % foIT aga< qed AT & o707 Hi0 37 Ha3 &1 & fod | T &=l 6 qIase & (o0 T qr2F FHTH FLT 6
forT \rw=ftaT AT a¥ gearew R
eng hin  APEDA and NABARD sign MoU to work together to synergize the activities in the interest of agriculture and allied sectors for bringing better value to the
stakeholders.
APEDA 31T NABARD A f@aermai  foru sgaw gea 19 & forw 0 siv 5ag & % 2 # wiafatei & aradd & (o Ush |47 w19 e 6
o F=aT AT 9% gEane )
Q-93 What is the Capital of Barbados?
ATTATE T T TS T 22
01. Paramaribo 02. Nouakchott
03. Bridgetown 04. Juba
IEEEER] EEN
05. Chisinau
[EGIGIES
Q-93 What is the Capital of Barbados?
LTS 9 =T TISTATAT 3T 82
01. Paramaribo 02. Nouakchott
Z\ N\ E‘ 1 “© T -
03. Bridgetown 04. Juba
[ESEES] SEl
0S.  Chisinau
[EGIGIES
Solution for Question 93 Ans Key: 3
eng/eng Barbados is an eastern Caribbean island. Bridgetown is the capital of Barbados.
FILATSIE TF TAT ILAITS G | ST aars $i Tstem gl
eng hin  Barbados is an eastern Caribbean island. Bridgetown is the capital of Barbados.
FETEH TF TAT A1 ATS 319 21 HeTeTed ararsE & Teram 21
Q-94  What is the brand name of India's Premium cotton?
engleng  HTIA % FTHIAT FATH FT AT ATH 74T 82
01. Komal / FTHe 02. Shakti/ «Tf<h
03. Kasturi / FEET 04. Makhmal / 7 weT
05. Kumkum /FHHFA
Q-94  What is the brand name of India's Premium cotton?
enghin T % AT FATH FT AT ATH 74T 82

01. Komal / FTHT 02. Shakti / aTf<F
03. Kasturi / FEET 04. Makhmal / 7 W<t
05. Kumkum / FHHEHA



Solution for Question 94 Ans Key: 3

eng/eng  As per the recent announcement of Union Textiles Minister Smriti Irani, India’s premium cotton would henceforth be identified as “Kasturi”” in the world
cotton trade. She also launched the first-ever Indian cotton brand and logo on World cotton Day (07 October).

FATT FAST HAT ST STIAT 6T FTTAT FTTOIT o STHT, AT 6 ATTHAH FATE T Tg=T (9o FATE AT H "FEqL 1" F € § Al ST Iegi
g T faaw (07 ST9Fa™) 9% TgaAT ST FUTH J1E Sl AW o Ates

eng hin  As per the recent announcement of Union Textiles Minister Smriti Irani, India’s premium cotton would henceforth be identified as “Kasturi”” in the world
cotton trade. She also launched the first-ever Indian cotton brand and logo on World cotton Day (07 October).

T et W Tf ST Y gricraT S 3 dqETe, A F HiEEw wure A agw G wr s # e w9 § i S s
o T faae (07 1) 9% TgaT ST F9TH sie i< o oft At

Q-95 Under Pradhan Mantri Mudra Y ojana (PMMY) scheme, which of the following state has provided maximum loan to women during 2019-20 ?
eng/eng  TETAHAT AT FSTAT (PMMY) F1SIT o dea, 780 & fofer 775 7 2019-20 3 S wigarrat Tt s 5207 921 647 82

01. West Bengal / If21H ST 02. Tamil Nadu / TR=TE
03. Karnataka / FATeH 04. Bihar/ fEE™

05. Maharastra / H8TXTY

Q-95 Under Pradhan Mantri Mudra Y ojana (PMMY) scheme, which of the following state has provided maximum loan to women during 2019-20 ?
eng hin  TETAHAT GAT FSTAT (PMMY) F1SiT  dea, 80 & 7 fofm 7157 7 2019-20 12 wfgerreti Ft stfershas =20 gara (47 22

01. West Bengal / Tf2I aTTer 02. Tamil Nadu/ TfHeTg
03. Karnataka / T 04. Bihar/fag™
0S. Maharastra / HgTY
Solution for Question 95 Ans Key: 2

Women of Tamil Nadu availed maximum Loan under Pradhan Mantri Mudra Yojana (Rs 58,227 crore) where as West bengal (Rs 55,232 Crore) and
Karnakata ( Rs 47,714 Crore) ranked 2nd & 3rd respectively.

AT T AT T Tema=t q&T T5T (58,227 FUE %) % dgd STTEHaT F07 T ATH SSIAT, ST TR {1 (55,232 FIE F9) 37T
FOTHTAT (47,714 FIIE TAT) FHL: THL ST TG SATF 9T =i

Women of Tamil Nadu availed maximum Loan under Pradhan Mantri Mudra Yojana (Rs 58,227 crore) where as West bengal (Rs 55,232 Crore) and
Karnakata ( Rs 47,714 Crore) ranked 2nd & 3rd respectively.

ARAATE T ATGATAT o TATTHAT H&T AT (58,227 FLME ) % qgd STAHaT F07 T ATH ISTAT, STET T2 9T (55,232 FINE 79) 37T
FOTHTAT (47,714 FIE TTA) FHLA: TAL AT AL T 92 21

Q-96 The World Bank was created at the 1944 Bretton Woods Conference along with the

1944 e 59 TFHAT 7 forsa 4, = T FATAT AT A7)
01. TImperial Bank 02. International Bank of Settlement
03. International Monetary Fund 04.  American Bank
ECREIRE L ECIERKCE
05. None of these
TAH FATE TRl
Q-96  The World Bank was created at the 1944 Bretton Woods Conference along with the .
eng hin 1944 52 38 HFH | &7 9, = |7 FATIT AT 4TI
01. Tmperial Bank 02. International Bank of Settlement
ERIRCECE] ZETAITA A A F HEAHE
03. International Monetary Fund 04.  American Bank
AT HaT H1T T 9%
05. None of these
TAH FATE TR
Solution for Question 96 Ans Key: 3

eng/eng The World Bank was created at the 1944 Bretton Woods Conference along with the International Monetary Fund (IMF).
3ra S 1944 e q29 TFHE H ARSI G5 1Y (ATSTHTF) F T FH1ET T47 70

eng hin  The World Bank was created at the 1944 Bretton Woods Conference along with the International Monetary Fund (IMF).
fra S 1944 7 g9 TFHE H SaTEIT G5 1Y (ASTHTE) F T FH1ET T47 270



Q-97

The RTGS system of transaction will be made available round the clock, with effect from which day?

engleng  T3A-37d FHT ff AF-37 AT RTGS worreft 1 By 2 & wrvet s strosme?
01. 10-Dec-20 02. 15-Dec-20
10 f&FaT 2020 15 f&av 2020
03. 14-Dec-20 04. 12-Dec-20
14 f2Ea7 2020 12 faEa7 2020
05. 11-Dec-20
11 f&Faw 2020
Q-97 The RTGS system of transaction will be made available round the clock, with effect from which day?
enghin  T&A-T7@ F+t off -3 it RTGS Torreft 7 o famt & et e o
01. 10-Dec-20 02. 15-Dec-20
10 f&Fa7 2020 15 faaw 2020
03. 14-Dec-20 04. 12-Dec-20
14 f&#a7 2020 12 fa#aT 2020
05. 11-Dec-20
11 f&Faw 2020
Solution for Question 97 Ans Key: 3
India is one of the few countries to operate the system 24x7. "Accordingly, RTGS 24x7x365 will be launched with effect from 00:30 hours on December
14, 2020," the central bank said in a statement.
AT 24x7 RTGS TUITEAT T HATIAT HL ATl Fg <901 H ° U gl HalT 5 o UF T H Fgl, "TETAT, AU 24x7x365 FT 14 fGwaw,
2020 T 00:30 = & ¢ FoRaT ST
India is one of the few countries to operate the system 24x7. "Accordingly, RTGS 24x7x365 will be launched with effect from 00:30 hours on December
14, 2020," the central bank said in a statement.
AT 24x7 RTGS TUITEAT T HATIAT HTA ATl Fg <901 H ° T gl FalT 5 F UF T H Fgl, "TEIAT, AU 24x7x365 FT 14 feHaw,
2020 T 00:30 = F & AT ST
Q-98 Recently who were named Time magazine's 2020 "Person of the Year"?
T 1 § ZTSH FS( & 2020 "T6 A1 T ST A0 8 Fl 99 T0?
01. Joe Biden and Kamala Harris 02. Angela Merkel and Kamala Harris
03. Sundar Pichai and Narendra Modi 04. Xi Jinping and Donald Trump
Haw fU=Te T 7vg Jrar oft T =Y TS 27
05. Tsai Ing-wen and Kamala Harris
TS S (T FAAT 0
Q-98 Recently who were named Time magazine's 2020 "Person of the Year"?
2T &1 | 272 BTN 3 2020 "TET AE T AT ATH F A T TT2
01. Joe Biden and Kamala Harris 02. Angela Merkel and Kamala Harris
STT fere e e g TSAT AT 37T FHAT g
03. Sundar Pichai and Narendra Modi 04. Xi Jinping and Donald Trump
Hav fo=Te sire avg Ay oft fSrfHT 3fi¥ SmTes 2o
05. Tsai Ing-wen and Kamala Harris
TS - ST AT B
Solution for Question 98 Ans Key: 1
eng/eng US President-clect Joe Biden and Vice President-elect Kamala Harris were named Time magazine's 2020 "Person of the Year" on Thursday for their
election victory over Donald Trump.
FHTAT TPATA-FATE S 6= 3T IT- TP FATE FHAT 0 FT SIATeE 28T T2 AT ATl ST 6 7T ZTSH TEET & 2020 "I94 3% T 537"
GUEERERIRRIRI
eng hin  US President-elect Joe Biden and Vice President-elect Kamala Harris were named Time magazine's 2020 "Person of the Year" on Thursday for their
election victory over Donald Trump.
st g - gaTa ST 3= st su-wrgafa-gere weem g #t SHTes v 9% 3Rt FATET sfta o erew e ¥ 2020 "o @t 7 7T
GUEERERIRRIRI]
Q-99 Recently who released “World Malaria Report 2020”?
eng/eng

2Tt 2t § T o werfeaT Rare 2020 ST foRam?



01. Medicines Sans Frontiers 02. United Nations High Commissioner for Refugees

afefam g wieasr QT % forw Sk g % IGTIh
03. World Food Programme 04. Non-Governmental Organisations

o @y FEA AT o
05. World Health Organisation

o Ty e

Q-99 Recently who released “World Malaria Report 2020”?

eng hin .
grer 2t § faer o et foard 2020 ST T2
01. Medicines Sans Frontiers 02. United Nations High Commissioner for Refugees
affEm da mieaw ereoTTiEraT 3 forT S3<h g % SgT
03. World Food Programme 04. Non-Governmental Organisations
[ECRCIDEIRER: ] - T HBA
05. World Health Organisation
o waTeeT e
Solution for Question 99 Ans Key: 5

eng/eng  WHO World Malaria Report 2020: India continues to make Impressive Gains in reduction of Malaria Burden.
TeUAA fard AR AT RUrE 2020: AT F HATAT TS T HF FA 6 (o0 TATALTAT ATH AT FHTAT ST @7 2

eng hin ' WHO World Malaria Report 2020: India continues to make Impressive Gains in reduction of Malaria Burden.
TeeguHAT faea AT RaTE 2020: AT F AATAT S &l HH HTA & (o0 TATAITEA ATH AT FIAT ST TET 2

Q-100 Recently who has won ITF doubles titles in Dubai?

2T &1 ¥ g€  ITF o<t frarer e sfar 82

01. Umar Kremlev 02. RiyaBhatia
03. Slovakian Kaja 04. Ankita Raina
0S. Sania Mirza

i T

Q-100 Recently who has won ITF doubles titles in Dubai?

T 21 | ga$ # [TF 1ot ferarer e sfiar 22

01. Umar Kremlev 02. Riya Bhatia
ELEETEE] Fr wrferr
03. Slovakian Kaja 04. Ankita Raina
05. Sania Mirza
Solution for Question 100 Ans Key: 3

eng/eng  Ankita Raina has won ITF (International Tennis Federation) doubles titles in Dubai.
STTRAT 39T 7 a3 # ITF (32T 9 e 1e) I faarar siiart gl

eng hin  Ankita Raina has won ITF (International Tennis Federation) doubles titles in Dubai.
SITRAT 39T 7 a3 § [TF (32TAHA 9 THe Xe) I faara siiat gl

Q-101 Recently which bank sign $50 million loan to boost West Bengal’s digital platforms for public finance reforms?
engleng BT &l § (3 S 7 HIAS(a (ol GETLN o (10 T2 AT o [STo1eet Toiewhiat i1 a@mar & o orw § 50 fHfere o w2 geare o 82

01. World Bank 02. Asian Development Bank
IEEKCER uforTs e §%

03. New Development Bank 04. European Bank

05. US Federal Bank
TUH HETA dF

Q-101  Recently which bank sign $50 million loan to boost West Bengal’s digital platforms for public finance reforms?
eng hin BT &l § T3 & T TS (ol AT o (10 T STt o6 [SToreet worehit i1 a@mar & = forw § 50 ffere o o2 gearer B 82



01. World Bank 02.  Asian Development Bank
IEEKCER TforTs e &
03. New Development Bank 04. European Bank
05. US Federal Bank
JUH HETA dF
Solution for Question 101 Ans Key: 2
eng/eng  ADB, India sign $50 million loan to boost West Bengal’s digital platforms for public finance reforms.
ADB, WT¥d 7 "rasti+e fae qemsi & foro afsry avmer & RS wewmt it gz 39 F forg § 50 Miferm s 9 gearaw o)
eng hin  ADB, India sign $50 million loan to boost West Bengal’s digital platforms for public finance reforms.
ADB, WT¥d 7 grasti+e o qemsi & foro afsr avmer & RfSee wewmt it gz 39 F forg § 50 fMiferm s 9 gearaw o)
Q-102  Recently who conferred 'Legion of Merit' award?
engleng 2T &l # e ‘Ao oAt AR renre & qentaa e
01. Yoshihide Suga 02. Vladimir Putin
RICIECE U ST i
03. Erna Solberg 04.  Angela Merkel
TAT FTAadT TweT HTheA
05. Narendra Modi
7‘1_\(?( H\ @
Q-102  Recently who conferred 'Legion of Merit' award?
1A &1 | hEe SIS 3k A [EEhTe & g1 haT?
01. Yoshihide Suga 02. Vladimir Putin
Treftfee SATTRHIT I
03. Erna Solberg 04. Angela Merkel
THT AT TSl HToh el
0S. Narendra Modi
'_‘1%':{ q\ @
Solution for Question 102 Ans Key: 5

The President of the United States of America conferred the highest decoration, The Legion of Merit, Degree Chief Commander, to Prime Minister

Narendra Modi.

HH 5T AHTRT & TP T T HAT 75 HIGT FT Garg AAH207, Hor oiF Jfe, =2t = Faies & swriaa fm

The President of the United States of America conferred the highest decoration, The Legion of Merit, Degree Chief Commander, to Prime Minister

Narendra Modi.

Q-103

Q-103

eng hin

TR TS THIVET F TTPATT 7 TLTH HAT A3 ST T qaTg TAHe0r, e Ats wfve, =3 = Farey & geriaa B
Recently how much amount Export-Import Bank of India (Exim Bank) has extended a line of credit (LOC) for various infrastructure projects in
Uzbekistan?

BT &1 | Tohaeit TTT TATIE-SFI1E 9o ST SISAT (THETH J9) 7 IselfehedTe | faTHe EaTet = TRATSHTe a13 i #ise (LOC) FT
e R 82

01. $400-million 02. $480-million

$ 400 fafea= $ 480 fafera
03. $448-million 04. $444-million

$ 448 fafer $ 444 faferas
05. $548-million

$ 548 fferas

Recently how much amount Export-Import Bank of India (Exim Bank) has extended a line of credit (LOC) for various infrastructure projects in
Uzbekistan?

BT &1 | foraeft Trfer vae- 2w e e st T (uhtem d%) 7 Ssatreae | fafesr geamdt gi=m afiarsmre e |t w22 (LOC) #1
e e 82

01. $400-million 02. $480-million

$ 400 o= $ 480 ffera=
03. $448-million 04. $444-million

$ 448 o $ 444 faforms
05. $548-million



$ 548 fafera=

Solution for Question 103 Ans Key: 3

eng/eng

Export-Import Bank of India (Exim Bank) has extended a $448-million line of credit (LOC) for various infrastructure projects in Uzbekistan.
THFIIIE-2ATE 3 3 2T (Ui §9) 7 Soatreary # At gt g afiarsmret F fore § 448 fferm i @z st %22 (LOC) F1
[ErIEER I

eng hin  Export-Import Bank of India (Exim Bank) has extended a $448-million line of credit (LOC) for various infrastructure projects in Uzbekistan.
THAIE-ZTIE J S STAT (TIASTH 5) 7 IS hed T | (A9 FIaTat =1 TRATSIATS 6 (T § 448 Hferae & A1+ tw #fee (LOC) F7
[ELIsER I
Q-104  Recently launched Human Freedom Index 2020 India's ranked at which place?
eng/eng .. . . }
BT &1 | Ated [T T H19a Taa=dT gashis 2020 H 9 o #1117 82
01. 107th 02. 85th
107 4 85 =t
03. 143th 04. 111th
143 ¥ 1113
05. 110th
110 =¥
Q-104  Recently launched Human Freedom Index 2020 India's ranked at which place?
T &1 | Ffea (T 797 J19a Taa=rar At 2020 H 9 e e 17 82
01. 107th 02. g5th
107 =t 854t
03. 143th 04. 111th
143 &t 111 =t
05. 110th
110 =t
Solution for Question 104 Ans Key: 4
Recently India was ranked 111th out of 162 countries in the Human Freedom Index 2020 report released by the Cato Institute, plummeting 17 spots from
its position in the last index.
T &1 | Fel SRS I ST A9 Sa=daT et 2020 it FRAare § 162 2901 & F ATLT &1 111§ 19 92 TGT 24T 91, S e g+ §
STt e & 17 T2 = =
Recently India was ranked 111th out of 162 countries in the Human Freedom Index 2020 report released by the Cato Institute, plummeting 17 spots from
its position in the last index.
BT &1 § Fal TSI gIT ST /e Fqaa1 i 2020 6t e § 162 290 H & 912 7 111 & #4792 7@ 7 97, S {heget g=em §
o=t TR & 17 = = o
Q-105  As per the new rule of RBI the minimum Net Owned Funds of Housing Finance Companies has increased from Rs 10 crore to .
RBI % 71 {9 3 (A1, ZTSTERT BIEAd FO(41 H§ ~JAqH A FaTHed are B | 10 FUE 794 _ TF A I(5 g5 2
01. Rs 15 Crore/ 15 FIE ¥. 02. Rs 18 Crore/ 18 #IIE &,
03. Rs 25 Crore /25 FIE %. 04. Rs 20 Crore /20 FIE &.
05. Rs 30 Crore / 30 FUIE ¥.
Q-105  As per the new rule of RBI the minimum Net Owned Funds of Housing Finance Companies has increased from Rs 10 crore to .
enghin  RBI 0 7w % @1, ST ®g+q A1 § ~ATH A€ F@HE aTe B # 10 FUE 704 _ TF A I(5 g5 2
01. Rs 15 Crore/ 15 FIE &. 02. Rs 18 Crore/ 18 FIT .
03. Rs 25 Crore /25 FIE ¥. 04. Rs 20 Crore /20 FIE &.
05. Rs 30 Crore / 30 FIE &.
Solution for Question 105 Ans Key: 4
eng/eng The Reserve Bank of India proposed to increase the minimum Net Owned Fund (NOF) for HFCs (Housing Finance Companies) from the current
requirement of Rs 10 crore to Rs 20 crore.
AT R 9 T T (TSR wreAE Futaat) F o =[aw Je |@riH arel B2 (TAATUE) HT JISET saedHhdl § agre 10 FUE w90
20 FIIE 79T FIA HT T=F @
eng hin  The Reserve Bank of India proposed to increase the minimum Net Owned Fund (NOF) for HFCs (Housing Finance Companies) from the current

requirement of Rs 10 crore to Rs 20 crore.

T RoTe S 7 THUwH (S8 ®gae FaiH4T) F o7 =[aq 92 F=iHc 91el B (THSUE) FT RISET ATG9THaT  de1He 10 FS T8



20 FE TTF FHLF T T&=79 @7

Q-106  Recently which of the following Tiger Reserve received first international award TX2?
engleng 2T ot # fRwferfead & 7 foe argae Rrd &t wga sy Toenr TX2 e
01. Pilibhit Tiger Reserve 02. Kamlang Tiger Reserve
drefria e e FHAN 212 e
03. Namdapha Tiger Reserve 04. Orang Tiger Reserve
ATt 2 e AR 2T e
05. Valmiki Tiger Reserve
eI 212 g
Q-106  Recently which of the following Tiger Reserve received first international award TX2?
eng hin 2T &l # fAefortad # 7 fre zrzvm e &1 weer sarga e TX2 ffem?
01. Pilibhit Tiger Reserve 02. Kamlang Tiger Reserve
dreftia ez e FHAN 212 e
03. Namdapha Tiger Reserve 04. Orang Tiger Reserve
AT 2 e AR 2T e
05. Valmiki Tiger Reserve
Solution for Question 106 Ans Key: 1
Pilibhit Tiger Reserve have bagged the first-ever international award, TX2 for the conservation and preservation of the majestic animals. TX2 is the global
award which was set up in 2010 in St. Petersburg, Russia by international organizations working for tiger conservation like WWFE, UNDP, TUCN, Global
Tiger Fund (GTF), CATS and The Lion's Share.
HATHIT 2T RTa 7 TSIET A & SE07 ¥ §Ye07 & fofT 9gal a1 aearg i ey, TX2 foar 81 TX2 af%a 2ehe & S 2010 # &<
feda T, 7 H WWF, UNDP, [UCN, 7Tl 2129 % (GTF), CATS 3T & STI & TF¥ S ST HL&I0T o [oTU FTH e a1l {57 gTT ST
T AT <
Pilibhit Tiger Reserve have bagged the first-ever international award, TX2 for the conservation and preservation of the majestic animals. TX2 is the global
award which was set up in 2010 in St. Petersburg, Russia by international organizations working for tiger conservation like WWEF, UNDP, [UCN, Global
Tiger Fund (GTF), CATS and The Lion's Share.
et Tz Rsre it TS a6 6ee0r si¥ 6veror % forT gt ae asa g EERTe, TX2 fie 81 TX2 af%s qeese & S 2010 7 &
feda T, 7 & WWEF, UNDP, IUCN, 16l 21291 %€ (GTF), CATS ¥ & <14 % STF¥ SIH ST HL&T0T o [oTU TH ¥ a7l HUSA1 gTaT €rad
T AT AT
Q-107 Deposit Insurance and Credit Guarantee Corporation was established for the purpose of ------- .
IEERICTE I R8I kI | KA T 1 £ I297 = foru wrriua foraT =T om
01. Providing insurance of deposits to 02. Providing insurance of bank’s deposits and guaranteeing of credit facilities
government employees only e T ST TIFT T AT TG FLA ST T AT T AT a4 F o
A HERTLT FHATIAT T ST ¥ T
TR FIA F (o1
03. Providing insurance of deposits and 04. Providing insurance of deposits to employees of cooperative societies only
guaranteeing credit facilities to EPFO FAe AghTLT AIHTATT % FHATIAT & o0 ST 797 T ST T&T9 3 & o
members
STHT TTTRT T STAT T&TT X 3T
AT HEETT 7 0T e ¥ e
I F o
05. Providing insurance of deposits and
guaranteeing credit facilities to [IRDA
members
ATEATINT F FIEAT T STHT T2 A
FTHT Y& FA ST 0T FlAreT A AEE
T form
Q-107 Deposit Insurance and Credit Guarantee Corporation was established for the purpose of ------- .
eng hin & AT 377 oo T AR - I29T = for wrfua foraT T om

01. Providing insurance of deposits to 02. Providing insurance of bank’s deposits and guaranteeing of credit facilities
government employees only R T ST T T AT TR A ST ﬁ'f%ﬂﬁﬁ £ = F o
FAA TR FHATIAT T STAT T SHT
TETT FT o oy

03. Providing insurance of deposits and 04. Providing insurance of deposits to employees of cooperative societies only
guaranteeing credit facilities to EPFO FaT FI%EFF& gfafaat = wH=TET  forw s i 71 fHia J= F4 F o

members



STHT TFY T AT T&TT F 37T
SHTUREAT HEEA1 T 0T e i TEEr
T F oo

05. Providing insurance of deposits and
guaranteeing credit facilities to IRDA

members
AEATTINT F TeEAT T STHT LT T
T T&TH T ST 0T e i TEEr
T w oo
Solution for Question 107 Ans Key: 2
eng/eng  Deposit Insurance and Credit Guarantee Corporation is a wholly owned subsidiary of Reserve Bank of India. It was established on 15 July 1978 under the
Deposit Insurance and Credit Guarantee Corporation Act, 1961 for the purpose of providing insurance of deposits and guaranteeing of credit facilities.
Raifre 29y U #fee TE FITRAT AT THd a9 i 07 T8 ATl Ggrde 01 gl T2 15 JATe 1978 &1 Ruifore 299y e #ise
TEET FITTILA ATTH, 1961 F Tga STHT 6T STHT T FIA 3T A Grremel hf TLET a0 F 3297 F w7 37 137 =m)
eng hin  Deposit Insurance and Credit Guarantee Corporation is a wholly owned subsidiary of Reserve Bank of India. It was established on 15 July 1978 under the
Deposit Insurance and Credit Guarantee Corporation Act, 1961 for the purpose of providing insurance of deposits and guaranteeing of credit facilities.
Ruifre oA e Ue e T FHITeM A Rd 8% it Tf F1iHe Tl 983 F9+T g1 T8 15 a1 1978 F1 Ruifse Zeary ve #fee
T FHITTLLT ATETH, 1961 F T STHT 6T STHT T&TH FTeA T A Grreal hl TLET & 297 F eA7q 537 137 =M
Q-108 Recently which of the following bank launched “FX 4 U™?
eng/en . . . N
B o o 3 et # R 3 3 EX 4 U it P
01. Axis Bank 02. Yeas Bank
03. Canara Bank 04. Allahabad Bank
05. None of the above
IILIE s Aol
Q-108 Recently which of the following bank launched “FX 4 U™?
g1 21 4§ ferferfera # & fo &% T"FX 4 U" i fam?
01. Axis Bank 02. Yeas Bank
03. Canara Bank 04. Allahabad Bank
0S. None of the above
Solution for Question 108 Ans Key: 3
Public sector lender Canara Bank has launched “ FX 4 U”, its new product that enables its entire internet banking users to handle forex transactions
hasslefree.
AT+ &7 % FITGTAT AT 9 o O AU 3T "FX 4 U" T Afea (6A7 g, ST 9" X Zedde ST STANTRATst ol Al qaT e &f
TRITHT F THe | Hew F7aT |
eng hin  Public sector lender Canara Bank has launched ““ FX 4 U”, its new product that enables its entire internet banking users to handle forex transactions
hassleftee.
AT &5 & FTETAT He<T 95 o 379 77 I "FX 4 U" & Aled AT &, ST 3707 T Zeee ST STTNTRara w1 faraefl a7 oefad &t
TRITHT F e | 1w a=7ar 2
Q-109  Recently which country has pledged to contribute USD1 million to the WADA Scientific Research Budget?
engleng BT &l H [HH 390 7 ATST ASITH ATHAT e H USD!1 fAferas 7 Frare e 7 arar w82
01. China 02. India
=T AT
03. Japan 04. Russia
SINIG] «q
05. Nepal
GEIET
Q-109  Recently which country has pledged to contribute USD1 million to the WADA Scientific Research Budget?
enghin 2T &t # B 39T 7 AT a1 e aste § USD!1 fAforae &1 TRTaTe e 7 a1aT a7 82

01. China 02. India



= T

03. Japan 04. Russia
SI1EIG) g
05. Nepal
JTA

Solution for Question 109

Ans Key: 2

eng/eng  Recently India has pledged USD one million to the World Anti-Doping Agency's scientific research budget, the highest among contributions made by other
world governments.
T &1 7 A o e it Treft st 3 A5 st s § v o st sre v arer G €, St sex e gt g e o
TNTETAT H T ATIF g
eng hin  Recently India has pledged USD one million to the World Anti-Doping Agency's scientific research budget, the highest among contributions made by other
world governments.
T &1 | A o e it Treft st 3 S5 st s § v o st sre v arar G €, S s e gt g e o
TRIETHT § TaH AT 2
Q-110  Recently which country become biggest exporter of Rice?
eng/eng BTN &l § I AT 397 AT T HaT AT (A ATq a 1T &2
01. Pakistan 02. Russia
EluEaIC] =
03. Japan 04. China
ST LG
05. Bangladesh
FvATS
Q-110  Recently which country become biggest exporter of Rice?

A 2§ I T 297 ATl T Fad a=7 (At o+ 127 22

01. Pakistan 02. Russia
03. Japan 04. China
EIRIE T
05. Bangladesh
FEATT

Solution for Question 110

Q-111

Q-111

eng hin

India is the world's biggest exporter of rice and China is the biggest importer.
AT ATae T FAAT T HIH =T (AT g AT A T F=T SAATAF g

India is the world's biggest exporter of rice and China is the biggest importer.
AT ATa T AT HT FIE FET (HATTH © AT = a9 a7 SAATTF 2

Commercial Paper (CP) is an unsecured money market instrument issued in the form of a

FHftaer e (|dT) TF ------- % &I H AT U S HET aTSI1E T 14 2l
01. derivative 02. Promissory Note
g<
03. equjty 04. draft
HE e

05. cheque
EET

Commercial Paper (CP) is an unsecured money market instrument issued in the form of a

ERIEDE R Rl e 1) R u— FET H T UF AT TFT JTSIE T A1e 2l

01. derivative 02. Promissory Note
c EEEEEN
SSE
03. eqmty 04. draft
Bl
05. cheque
EET

Solution for Question 111

Ans Key: 4

Ans Key: 1

eng/eng  Commercial Paper (CP) is an unsecured money market instrument issued in the form of a promissory note.
It was introduced in India in 1990. Corporates, primary dealers (PDs) and the All-India Financial Institutions (FIs) are eligible to issue CP.



FHTST TU¥ (CP) U STRFATE AT WTohe Seedie & o8 U 7= 01 % =7 & ST 36w Siram 21
TH 1990 9T H Ter T T AT FIXAEH, ITAHE SA? (PDs) 3 e AT fa<ia S (FI) CP ST Fi3 & ol 97 2|

eng hin  Commercial Paper (CP) is an unsecured money market instrument issued in the form of a promissory note.
It was introduced in India in 1990. Corporates, primary dealers (PDs) and the All-India Financial Institutions (FIs) are eligible to issue CP.
FHTTIT T (CP) UF AATHFATE FAT WTohe SFEHE ¢ (o1d U g9 o % =9 H ST (647 1T 21
TH 1990 # 9T H Ter T T o) FIXTREE, ITAHE SA? (PDs) 3 Tiee AT fa<iia S (FI) CP ST F3 & oI 97 2|

Q-112  Recently Veteran footballer Paolo Rossi passed away, he was belong to which country.
engleng 2T &l # FaTIST eai@rT qTAMAT LT 7 (e 21 T, 78 e 39 % 0

01. Hongk()ng 02. Germany
.S 6
03. Brazl 04. Ttaly
LK TaAT
05. France
A

Q-112  Recently Veteran footballer Paolo Rossi passed away, he was belong to which country.
enghin 2T &t # FaWIST eaiare qrairett Tt 71 (e 21 @, 78 e 390 % 9

01. Hongkong 02. Germany
REDL STHT
03. Brazil 04. Ttaly
EUEE] ECEil
0S. France
R
Solution for Question 112 Ans Key: 3

Paolo Rossi, Italy's top-scorer in the 1982 World Cup-winning campaign passed away at the age of 64 years on December 10, 2020.
1982 faea & fersrar stf¥m & gaett 3 oftd e areirer Tt &7 10 fawew, 2020 #7164 a9 it g § e 21 @)

Paolo Rossi, Italy's top-scorer in the 1982 World Cup-winning campaign passed away at the age of 64 years on December 10, 2020.
1982 fara &9 fasiar st o =T § et & ot ThiT aretrer Tt &7 10 foEaT, 2020 T 64 T f o # Haw 1 Tl

Q-113 NABARD was established on the recommendations of ----------

G 1] o — =1 fermriert 3 e ax ety fBRaT = am
01. R.P.Rao Committee 02. Shivaraman Committee
03. Malhotra Committee 04. Anand Committee
Ao AT At e Trafa
05. Narsimhan Committee
T |7fat
Q-113 NABARD was established on the recommendations of ---------- .
enghin  TATETE ------nnnv T TR % SITETE 9% T {57 74T 27|
01. R.P.Rao Committee 02. Shivaraman Committee
et T gt IRERGE RTINS
03. Malhotra Committee 04. Anand Committee
Heg AT Atufd EIEERITIn]
05. Narsimhan Committee
Solution for Question 113 Ans Key: 2

eng/eng National Bank for Agriculture and Rural Development is an apex development finance institution fully owned by Government of India. NABARD was
established on the recommendations of B Sivaramman Committee on 12 July 1982 to implement the National Bank for Agriculture and Rural Development
Act 1981.
AT o WY TFoay U & aaqde U o e o deame g S @ 998 & 91ed 991 o SIiHe § g1 99 S BT Uhiweay i
FYA TAATHE TFE 1981 T AT FA o 0 12 FATS 1982 FT T Frawree AT it FArieni 72 NABARD T ST ¥ T 27|

eng hin  National Bank for Agriculture and Rural Development is an apex development finance institution fully owned by Government of India. NABARD was
established on the recommendations of B Sivaramman Committee on 12 July 1982 to implement the National Bank for Agriculture and Rural Development
Act 1981.
TS I WL TFoa? U &1 sqaTie U oY o o S § S @ a38 & 9d 31 & STH § 8| T4 9o BT TiFwea? U
FYA ITATHE TFHE 1981 T AT FA o Fo10 12 FATS 1982 FT ot fForawree Fat it FArerfeni 72 NABARD #T #1947 #¥ T 7|



Q-114  Recently MoHFW has developed which mobile app for COVID-19 vaccination delivery?

PYNE e 8 MOHFW 3 COVID-19 St froor ¥ for 7 o ivareer o fovefors o 29

01. Coronakavach 02. Mahakavach
FILATHRTT ERETE]
03. AarogyaSetu 04. Corona watch
05. Co-Win
Fr-fae
Q-114  Recently MoHFW has developed which mobile app for COVID-19 vaccination delivery?
eng hin .
2T &1 H MoHFW J COVID-19 iy faawor 3 foru #ie @y darzer U0 faefae fram 22
01. Coronakavach 02. Mahakavach
FILATRAS ERETE]
03. AarogyaSetu 04. Corona watch
05. Co-Win
wr-fae
Solution for Question 114 Ans Key: 5

MoHFW has developed Co-WIN mobile app for COVID-19 vaccination delivery, its digital platform includes a free downloadable mobile application
which can help record vaccine data.
MoHFW T COVID-19 &araur faaeer F forw #r-fB39 qrares vy fEwfEa G g, wa+ Rises wewid #§ v 4o Seadle &3 I Jrarsd

TfCereher 9T & ST RS SeRfie 327 T 9ae Y 9T 2

MoHFW has developed Co-WIN mobile app for COVID-19 vaccination delivery, its digital platform includes a free downloadable mobile application
which can help record vaccine data.

MoHFW  COVID-19 ETevr faaeer & forw #i1-faq Arares v At fhar 2, zo Rived <wewid § uF qod Seddre #3 T0T Jiarsd
TTCeTeh e QTS & ST FRehiS SeRfie Sa7 il Jag Y Tehdl 2l

Q-115 KVP is a fixed-income, long-term and risk-free government-run product. The minimum investment amount required to start with is Rs.1,000 and
maximum limit. .
FA T AERTE T EATford U RS o, St safar sie i e care g1 0% #9d & oI sraeds =aaw fFerer 77fer 1,000 #07 i stfdrsras

AT gl
01. there is no maximum limit 02. Rs. 5,000 is
TS ATAFHAH HIHT 7ol & | 5,000 %.
03. Rs. 7,000 is 04. Rs. 25,000 is
7,000 ¥. 25,000 &.
05. Rs. 50,000 is
50,000 &.
Q-115 KVP s a fixed-income, long-term and risk-free government-run product. The minimum investment amount required to start with is Rs.1,000 and
eng hin maximuin limit. .
FATHT TLHTT G HATIOTT U (A% o, et srafer sfT STTfes §<h <Te g1 0% 3 o (o7 straesres =gaa fRarer T0fer 1,000 F07 &7 srfesras
g R
01. there is no maximum limit 02. Rs. 5,000 is
FTS ATSHaH HIHT Tl & | 5,000 %.
03. Rs. 7,000 is 04. Rs. 25,000 is
7,000 ¥. 25,000 &.
05. Rs. 50,000 is
50,000 &.
Solution for Question 115 Ans Key: 1

eng/eng Kisan Vikas Patra is a saving certificate scheme which was first launched in 1988 by India Post. Shyamala Gopinath committee recommended that KVP
could be misused. Hence was closed scheme and KVP was closed in 2011 and later prelaunch in 2014.
KVP certificates are available in the denominations of Rs 1000, Rs 5000, Rs 10000 and Rs 50000. The minimum amount that can be invested is Rs 1000.
However, there is no upper limit on the purchase of KVPs.
e o 931 U S TS AT © S TEelt a1 1988 H EIRAT Tiee GTRT SIF AT AT 91| SATHEAT Ty it 7 i £ &
FATHT T FEIANT AT ST HHAT 1 TATT 2011 H &7 FT [T 1237 A7 {7 KVP &7 2011 § &7 T {37 797 97 i< 918 | 2014 § I4: Ale 037
T ATl
KVP SHTITTS 1000 97, 5000 F4, 10000 3T 50000 ¥ F FeAanT § ITH | fHaer Fi ST areft =qAaH 01 1000 ¥ 1 greitsh, KVP &
T I¥ FE FIL T 21 2




eng hin

Kisan Vikas Patra is a saving certificate scheme which was first launched in 1988 by India Post. Shyamala Gopinath committee recommended that KVP
could be misused. Hence was closed scheme and KVP was closed in 2011 and later prelaunch in 2014.

KVP certificates are available in the denominations of Rs 1000, Rs 5000, Rs 10000 and Rs 50000. The minimum amount that can be invested is Rs 1000.
However, there is no upper limit on the purchase of KVPs.

e foraTe 91 U S 1T AT & S Tgelt are 1988 H ST Tiee 51T $0F AT T 91| SATHET T it 7 fewrier #7 &
FATHT FT FEIANT AT ST HHAT 1 TATT 2011 H 577 F 7T 1237 A7 {7 KVP &7 2011 § &7 T F37 737 97 i< 918 | 2014 § I4: Ale o037
T ATl

KVP SHTITTS 1000 9, 5000 F4, 10000 3T 50000 ¥ F oAanT § ITH | fHaer Fi ST areft =qAaH TFr 1000 ¥ 1 greitsh, KVP &
T I¥ FE FIL /AT 21 2

Q-116 How much amount Defence Acquisition Council has been approved proposals worth to procure equipment from domestic industry?
engleng el SERT & IHHLIT G o forw Tear srferrgor wfioa v fhdet 2for % searat v a4y &1 7€ 22
01. Rs 40,000 crore 02. Rs 20,000 crore
40,000 FITE % 20,000 FIE %
03. Rs 47,000 crore 04. Rs 27,000 crore
47,000 FTE & 27,000 FTE &
05. Rs 37,000 crore
37,000 FIIE =
Q-116 How much amount Defence Acquisition Council has been approved proposals worth to procure equipment from domestic industry?
eng hin P RN H ITHFT G % {70 77 AFEURr T i Faet T1197 3 Tara i 7Sl a1 7% 22
01. Rs 40,000 crore 02. Rs 20,000 crore
40,000 F1E = 20,000 F1E %
03. Rs 47,000 crore 04. Rs 27,000 crore
47,000 FIIE = 27,000 FE %
05. Rs 37,000 crore
37,000 FIE =
Solution for Question 116 Ans Key: 4
Defence Acquisition Council approves proposals worth Rs 27,000 crore to procure equipment from domestic industry.
TEAT ATV TILUE =L SR F ITHII 0T @I o (10 27,000 FIS Tq9 6 TEATAN 1 HoLd <ol gl
Defence Acquisition Council approves proposals worth Rs 27,000 crore to procure equipment from domestic industry.
TEAT ATEUZT TIUE L STUART § STHLIN 30T GG & 17 27,000 FIS T4 TEATA1 B AL T gl
Q-117 Among the following National Park which one is located in Assam?
FRrerfertad TTgr S=mT | ¥ U S S ¥ R
01. Indravati National Park 02. Vansda National Park
SETad] TP S FEET AT ITeh
03. Kalesar National park 04. Nameri National Park
05. None of these
TAH FFIE TR1
Q-117  Among the following National Park which one is located in Assam?
eng hin  FEferfEa Trdta e & 5w S s | a2
01. Indravati National Park 02. Vansda National Park
FHECIREIRECI FEAT AT T
03. Kalesar National park 04. Nameri National Park
FAFL L SA T THA T
05. None of these
TAH HA(S Aol
Solution for Question 117 Ans Key: 4
eng/eng Nameri National Park is a national park in the foothills of the eastern Himalayas in the Sonitpur District of Assam, India, about 35 km from Tezpur.
Nameri is about 9 km from Chariduar, the nearest village.
T TERT ST AT o 16 o6 Ty (et # aif ferrera 1 qered § Ueh TR SaM &, ST astqe & arim 35 foreft g2 21 A1y, frrahed miar <miigatm &
T 9 fopaft ZL R
eng hin ~ Nameri National Park is a national park in the foothills of the eastern Himalayas in the Sonitpur District of Assam, India, about 35 km from Tezpur.

Nameri is about 9 km from Chariduar, the nearest village.
T T I TR o ST o Haq (et 7 et fewers 1 qeredt § U ToE 3aM @, ST asTqe & T 35 forrft g 1 Ay, e i =g &
AT 9 TRt T R



Q-118  Expand the term NPA as used in Banking/Finance Sector ?
eng/eng  ATH/FAT &3 H AT 9IF T2 NPA FT fareqme i)

01. Net Profitable Assets 02. Non Performing Assests
03. Non Productive Assests 04. New Pension Act
05. None of these

TAH IS T

Q-118  Expand the term NPA as used in Banking/Finance Sector ?
eng hin  ATH/F=T &= H 9T 9% 72 NPA T fareqe i)

01. Net Profitable Assets 02. Non Performing Assests
03. Non Productive Assests 04. New Pension Act
05. None of these

TAH H (S qel

Solution for Question 118

Ans Key: 2

eng/eng  Non-Performing Assets
Non-Performing Assets

eng hin  Non-Performing Assets
Non-Performing Assets

Q-119 How many categories of Infosys prize 2020?

o

TR ITE TRt 2020 T fErast Sfort 82

01. 4 02. 5
03. ¢ 04. 7

05. 8
Q-119 How many categories of Infosys prize 2020?

TERITEE TEERTT 2020 T et Aot g2

01. 4 02. 5
03. 6 04. 7
05. 8

Solution for Question 119

Infosys Science foundation announced 6 categories of Infosys Prize 2020.

TERITEE HTSH TSS9 7 TERITEE TEERTY 2020 T 6 ATOrT T = i

Infosys Science foundation announced 6 categories of Infosys Prize 2020.

SRR ATEE RIS o SrRITEd TLERTT 2020 T 6 STt st =roor i

Ans Key: 3

Q-120 Recently who has been appointed MD of Kotak Mahindra Bank?
eng/en
BEOE ver € i e wfaT S o T R e B T 22

01. Dinesh Kumar Khara 02. Uday Kotak
o g AT I&T FTH

03. Dipak Gupta 04. Dr Satithish Reddy
Fro AT ER:EINEE

05. None of the above
IULE 1S Aol

Q-120 Recently who has been appointed MD of Kotak Mahindra Bank?
eng hin . .
& T &1 | Fled AT 9% F vwet fomr s e mar 82

01. Dinesh Kumar Khara 02. Uday Kotak
e AT W I FleH
03. Dipak Gupta 04. Dr Satithish Reddy

Er AT SRR



05. None of the above

S HE Aol
Solution for Question 120 Ans Key: 2
eng/eng RBI clears re-appointment of Uday Kotak as MD of Kotak Mahindra Bank for 3 years.
RBI 7 FTeF AIERT 9% & UHST % &9 H 37 Hleh %l 3 {1 & (o0 he & s
eng hin  RBI clears re-appointment of Uday Kotak as MD of Kotak Mahindra Bank for 3 years.
RBI 7 FTe AIERT 9% 6 UAST % &9 H Ia7 Hleh Hl 3 {1 & (o0 he & s
Q-121 In the following question, three statements A, B and C consisting of two sentences are given. Select the statement(s) of which both the
eng/eng sentences can be meaningfully combined by using the given word in the question.
Although
A. Thave great/the greatest respect for his ideas. I don't agree with them.
B. The doctor was able to treat the disease. He could not put his finger on the exact cause.
C. The rent of this shop is reasonable. The location is perfect.
01. Only A 02. Both A and B
03. Both A and C 04. Only C
05. AllA,BandC
Q-121 fRAfF asKIATEITASTHFTATTR?
01. =% 02. Hg
03. #9 04. geTT
05. =¥ ¥ FIE T2l
Solution for Question 121 Ans Key: 2
In sentence A & B- ‘Although’ is used to express however; but.
In sentence C: ‘Moreover’ can be used.
Q-122 In the following question, a sentence has been divided into five parts which are not in their correct order. Rearrange the parts to make a
meaningful sentence.
rather than face a negative return on capital (A)/ double up efforts to lend or worse, park money in government bonds (B)/ now withdrawn which means
that lenders will (C)/ with the central bank as one-day operations are (D)/ banks cannot park their idle money (E)
01. EBCDA 02. ACBDE
03. EDCBA 04. ADBCE
05. CDEBA
Q-122 = 2w 70 9% W W AT F TEA ST SAAH AT AT FAA: (1) 2T (6) FT AT & WL F 3AH A0 § A AT ST FT AL AWM H AT (7),
(T), (7),30 () FT FJeAqT ¥ T {1 T A TR 3Ad 70 | Tl gl Ivg &9 8 e (a0 0 et § 7 3t w0 g, s agt a #7 Fai
2l
(1) orifer = Tag & ot o
(@) o=t 2 a1 ga & S-S
(%) F Tamr % forg agraar it sraeaswar
(1) T, @, A
(F) T Z2ATAL AT THEATS
(6) | Z9TATIRAT T AZTAAT Fd g
01. 77 02. v
03. 77 04 g7
05. g4I
Solution for Question 122 Ans Key: 3
eng/eng  Banks cannot park their idle money with the central bank as one-day operations are now withdrawn which means that lenders will double up efforts to lend
or worse, park money in government bonds rather than face a negative return on capital.
enghin 9T
Q-123 In the following question, a sentence has been divided into five parts which are not in their correct order. Rearrange the parts to make a

eng/eng

meaningful sentence.



Vodafone RED and this plan will be rolled out (A)/ in a phased manner to cover all circles very soon (B)/ to customers under the premium and aspirational
brand (C)/ beginning with Mumbai, all postpaid products (D)/ and services will be exclusively offered (E)

01. DCAEB 02. ACBED
03. BCDEA 04. DECAB
05. ABDCE
Q-123 H A TRATTTTAFITH qTFT F T S TATAH AT FTHAL: (1) AT (6) FTHBATIT AL I SF 1T H A 1A AT FT ATT AT A
eng hin ~ TEHT (@),(X),(A),3 T @) FTEGATITTE 1 T TTA AT ITAT FA A TG ¢ | Iv¢ &4TH 4 UgH< gy farpeqt & & stwa ww g,
Srea agt arer w71 AT En
(1) AT q=T & TagaHhi
() TEAT g TAT AT 3T
(%) i feard 39 g7 a9
(O EIREUIEETAEIRECIA T
(@) ATF L T e gar
(6) HTE G & IISTAT
01. IT9e 02. TFAT
03. 737 04 FagT
05. T
Solution for Question 123 Ans Key: 4
— Beginning with Mumbai, all postpaid products and services will be exclusively offered to customers under the premium and aspirational brand Vodafone
RED and this plan will be rolled out in a phased manner to cover all circles very soon.
TITTT
Q-124 In the following question, a sentence has been divided into five parts which are not in their correct order. Rearrange the parts to make a
meaningful sentence.
all circles via respective retail and digital channels with little (A)/ to be offered with the help of its subsidiary firms across (B)/ the company promised that
prepaid products will continue (C)/ to no change in the price as India (D)/ is a predominately prepaid market (E)
01. ABCDE 02. CABDE
03. ACBDE 04. CBADE
05. BCDEA
Q-124 A= FRTATTAF 7 F ATT H g S TATH AIMT T HA: (1) AL (6) FTHBATLT TE RN T7F AT T (A TR F M FTAITATN F
FIETHT (A),(V(A), S L@ FTHFRATIT AL 2| T ITU AT ITHTFHF AT 81 Iv¢ &1 & UgH feqwy fasweqi # & Staww AT,
Sraa gt arer w1 A#ATTEN
() TH
(T) TF L =T
() Fraute &y
(<) TIhT TZ AT ARAT
(@) ST T
(6) T B
01. 7397 02. T4T7
03. g7 04, FTTT
05. T
Solution for Question 124 Ans Key: 4
eng/eng  The company promised that prepaid products will continue to be offered with the help of its subsidiary firms across all circles via respective retail and digital
channels with little to no change in the price as India is a predominately prepaid market.
enghin IITYT
Q-125 In the following question, a sentence has been divided into five parts which are not in their correct order. Rearrange the parts to make a
eng/eng meaningful sentence.

to the Indian government is sustainable and it can meet (A)/ the company is actively seeking various forms (B)/ to ensure that the rate and level of payments
it makes (C)/ of relief from the Indian government (D)/ its other commitments as they fall due (E)

01. BADCE 02. ACBDE
03. BDCAE 04. BCEDA



05. ADEBC

Q-125 H A TRATTTTAFITH ITFT F T S TATAH AT FTHAL: (1) AT (6) FTHBATIT AL SF 1T H A 1A AT FT ATT AT A
eng hin ~ TEHT (@),(X),(A),3 T @) FTEGATITTE 1 T TTA AT IFAT FA A TG ¢ | Iv¢ €41 4 UgH< gy farpedt & & stwa ww g,
Sraa agt arer w1 /At En
(Hagtaaarag g &
(F) T AIAT G T T Ao Sy
(%) TRt Sft =737 7 roft T e
(QEEEHCERICEIET
() ST gEad 7 grar 2
(6) BTT AT FaT|
01. 397 02. ¥T97
03. 7% 04 g7
05. g ¥q
Solution for Question 125 Ans Key: 3
eng/eng The company is actively seeking various forms of relief from the Indian government to ensure that the rate and level of payments it makes to the Indian
government is sustainable and it can meet its other commitments as they fall due.
enghin T3 7«
Q-126 In the following question, a sentence has been divided into five parts which are not in their correct order. Rearrange the parts to make a
meaningful sentence.
on course for its weakest expansion since 2009 (A)/ and boost demand in an economy (B)/ shored up efforts to bring borrowing costs down (C)/
unconventional policy tools again, as it (D)/ India’s central bank resorted to (E)
01. EBCDA 02. ACEDB
03. EDCBA 04. ACBDE
05. BCDEA
Q-126 = FRTATTAF 7 F 17T F TgS W TATAT AIM T HAL: (1) AL (6) FTHBATA AL RN T7F AT T 1 TR F M FT AT AT F
FIEHT (T),(V)(A), 3 (@) FTHRATIT TS 1 T T AT ITHT FH F 7T 21 78 &1 & gg*h (e y fasweqi & & Saww AT,
Rraa gt arer w1 AT EN
(1) FHT-F+T a7 Fo7AT
(@) Tt e v gfage
(@) FT BT STar g FF
(1) TS H AT E AT IS
(F) TST-THTET % 2T AT
(6) AT ATAT TS 973 & L= B ohaTa-2-hdTa gidl g< g T oS g
01. Iz 02. FI7Y
03. Tg9« 04 FvTT
05. 797«
Solution for Question 126 Ans Key: 3
eng/eng India’s central bank resorted to unconventional policy tools again, as it shored up efforts to bring borrowing costs down and boost demand in an economy
on course for its weakest expansion since 2009.
enghin TI97
Q-127 In the following question, three statements A, B and C consisting of two sentences are given. Select the statement(s) of which both the
eng/eng sentences can be meaningfully combined by using the given word in the question.
Alternatively
A. You can play football with me. You can go to the cinema with me.
B. The agency will make travel arrangements for you. You can organize your own transport.
C. Ithink we can go far away for vacation. We can go where we went last year.
01. Only A 02. BothAandB
03. Both A andC 04. OnlyC
05. AllA,BandC
Q-127 = Td T A ATl § L[ AT T 999 L ST AT ARG Tel ¢l 66T 5 T =777 L
eng hin

(1) Tt U age AT = 9 g & § ug=m



(2) TTHTEAT &1 J0 S 6 AT gl

(3) ST ATRAT faeahe T Faar & & 1% &
01. =T< srorfy &t 02. Fae73
03. Fae 1 04. 13fv2
05. Fae 2
Solution for Question 127 Ans Key: 5

eng/eng In sentence A, B and C — ‘Alternatively’ is used to propose another possibility.

eng hin  fAewd- =Ear g

Q-128 In the following question, three statements A, B and C consisting of two sentences are given. Select the statement(s) of which both the
eng/eng sentences can be meaningfully combined by using the given word in the question.

So that

A. He wants to earn lots of money. He can buy many things that he wants.
B. His father always gives him some money. He needs it for some purpose.
C. His mother gave him some storybooks. He could improve his reading skills.

01. Only A 02. Both A and B
03. Both A and C 04. OnlyC

05. AllA,BandC
Q-128 = &3 73 A ATHAT | AL TAAT FTAIT FX AN ATHT ALE T&T § AT (AHeT 5 HTIAT N

(1) AT T TRHETIEAT Tl T AT U
(2) FRTIT T FT AT &
(3) ATHT T FIAT o

01. Faer 1 02. Fa2
03. =T srgrfe L 04. e 3
05. 1372
Solution for Question 128 Ans Key: 3

In sentence A and C, so that - is used to join two clauses in which one of them expresses action and the other expresses the purpose.

In sentence B: ‘whenever’ can be used.

ATE SFf T

Q-129 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Spree (B) Pretext (C) Excuse (D) Exquisite

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D
Q-129 srfasia 1A asgTATIC?
eng hin
01. sreafe 02. gx
03. W 04. FHATT
05. i
Solution for Question 129 Ans Key: 3

eng/eng — Pretext means excuse.
For other options-
Spree (n) — a sustained period of unrestrained activity of a particular kind.
Exquisite (adj.) — extremely beautiful and delicate.

eng hin fRram=

Q-130 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words



eng/eng Which are most nearly the same or opposite in meaning.

(A) Connote (B) Attain (C) Entail (D) Indicate

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D
Q-130 STHY T HT 17 o8 TATIY?
eng hin
01. e 02. =y
03. SR 04. qITFRYT
05. fa=rgur
Solution for Question 130 Ans Key: 5

eng/eng  Connote (v) — (of a word) imply or suggest (an idea or feeling) and indicate are synonyms.

For other options:
Entail (v) — involve (something) as a necessary part.
Attain (v): succeed in achieving.

eng hin

farpeor

Q-131

Q-131

In the given question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these
parts have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

I. Once the collegium clears the names, (A)/ the Law Ministry has to put up the recommendation to the Prime Minister (B)/ in three weeks who will, in
turn, advise the President. (C)
II. The Memorandum of Procedure states (D)/that appointments should be initiated (E)/at least six months before a vacancy arises. (F)

01. A-F 02. B-D
03. B-E 04. C-D

05. No Error

A2 & 73 v arFa F Fret arr § Afe g awdft § AATATE R AU IAFT AT L A ATHY F et wrr 7 Afe g av fAsweq s 7
FIT HN

(1) FOTEEt 9T H A0, (A) THAATAT ATST & q0q9 (B) @G FT AT Ha207 7 FT 76 (C)
(2) St== 927 9% (D) /25 9ad &9 H(E) /A TgAT1 A112T (F)

01. A-F 02. B-D
03. B-E 04. C-D
05. =g =fe T&r

Solution for Question 131 AnsKey: 5

eng/eng

No Error

eng hin

Ao =TT o AT a0, g5 Jad

Q-132

eng/eng

Q-132

eng hin

In the given question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these
parts have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

1. With the passage of time, (A)/ the number of children suffering (B)/ from the disease have decreased dramatically. (C)
II. Neither of them were present before the judge, (D)/ nor was any affidavit evidence to a (E)/ contrary effect presented on their behalf. (F)

01. C-F 02. B-D
03. B-E 04. C-D

05. No Error

1= 3 7 T avaay F Fordt Ao § Afe gy awdt § A AT § T STFT AT R AU AT F AT AU R qafcagi arRFew s
FITHN

(1) e AT F1,(A) 397 T qaT § (B)/ A9, T, & SI07 FeAT ATRT (C)
(2) TH FAT & &1 21 (D) /AT T TEaa (E) /AT F1 78l AT (F)

01. B-E 02. C-D



03. A-E 04. A-D
05. #TE =Ffe TE

Solution for Question 132 Ans Key: 4

eng/eng
eng hin

Q-133
eng/eng

Q-133

eng hin

Part (C) — ‘Has’ should replace ‘have’ as ‘the number’ takes singular verb with it.
Part (D) — ‘was’ should replace ‘were’ as ‘neither/either of” takes singular verb with it.

Ao T TeraTHT Y, AIAT [EAh

In the given question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these
parts have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

I. He was one of those boys who is too slack to play games, (A)/ and made excuses whenever (B)/ his friends wanted to play. (C)
II. The government is convinced (D)/ that the bombers want to (E)/ frightened away foreign investors. (F)

01. A-F 02. B-D
03. C-E 04. C-F

05. No Error

A= 22 2 v avay F et 9T F Afe g awdt @ AU AT AV START ATT H AU ATFY &6 (6T A F AT gy av Aswea 537
EECETY|

(1) O[T 7 SATHT T SraTsT AT Far,(A) T Tger & forw g9 (BY T91E § 19 % 39 @ 21 (C)
(2) STEATTF 7 (D) /3T ZH(E) /AT 9T TZTIT(F)

01. =rs =rfe =gy 02. B-E
03. C-D 04. A-E
05. A-D

Solution for Question 133 Ans Key: 1

Q-134

Q-134

eng hin

Part (A) — ‘are’ should replace ‘is’ as ‘boys (plural)’ is given in the sentence.
Part (F) — “frighten’ should replace ‘frightened’ as ‘to’ takes ‘v1’ with it.

In the given question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these
parts have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

I. This computer method calculates the amount of (A)/ damaged tissue by comparing MRI signal strength (B)/ among damaged and undamaged tissue.
©)
II. The play is set in the 1970s, (D)/ but almost 30 years later this story of society's (E)/ need for scapegoats remain disturbingly relevant. (F)

01. A-D 02. B-D
03. C-E 04. C-F

05. No Error

A fd 13 Yy are F By v F Afe grawdt g sveafe g arowwr a7 w qaArEy F ot wrr F Afe afi av fawewr s
TITHFLN

(1) =T & 9T SeHT,(A)/ ET FTHH(B) AT=AT 21 (C)
(2) Tor =i F7 srew(D) /Rt fErener §(E) /a8 3a1 &1 92T 7gT{=w 21 (F)

01. A-D 02. B-E
03. C-D 04. A-F
05. 7€ =fE 78

Solution for Question 134 Ans Key: 4

eng/eng

eng hin

Q-135

eng/eng

Part (C) — ‘between’ will be correct here as only two things are mentioned.
Part (F) — ‘remains’ should replace ‘remain’ as ‘story’ is a singular noun and it will take a singular verb with it.

- ¥ F 97,98 3T & HeT ey

In the given question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these
parts have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.



I. Many of us have been persuaded (A)/ that cooperating to power is the only way (B)/ to progressively enlighten and humanise power. (C)
II. Investigative agencies would be better (D)/ advised focus on gathering relevant (E)/ material or moving for an early trial. (F)

01. A-D 02. B-D
03. B-E 04. C-F
05. No Error

Q-135 = {53 73 Trarar & FET A § afe grawdt § are AT § a7 STFT 9T F AT ATHT F Fdt A & Afecagi ar RAwea s #71

eng hin 99 R
(1) FS,(A) 2 (BY F=19 &9 21(C)

(2) TSI TT ATSTOTt 3 FTRT (D) /9T T 9T 98 SATaT & (E) /SHT THT SAAHT 5T F7e7 T (F)
01. A-D 02. B-E

03. A-E 04. C-D

05. =< Afe 7&T

Solution for Question 135 Ans Key: 3

eng/eng  Part (B)— ‘with’ should replace ‘to’ as ‘with’ is the correct preposition for ‘cooperating’.
Part (E) — ‘to *should be used before ‘focus’ to express the purpose.

eng hin  fAoHu- d8d, 9T T 9T &% AT 2

Q-136 In the following question, two sentences with a blank in each are given and three words (A), (B) and (C) as options are given below them.
Choose the most suitable word(s) to fill in the blanks to make the sentences meaningful.

I. Thave a bunch of hoods around some corner wanting ten thousand pounds that I have not got.
II. It seems that old prejudices are still beneath the surface.

A. ruing

B. lurking

C. bereaving

01. BothAandB 02. OnlyB

03. OnlyC 04. Both B and C

0S.  All of the above.

Q-136 FARTITTAFTTITR NHFTATTFETI A& A LSS T (qHeT GATLTYR | S99 4 SMAT AT HTIITHL A1 A Ag ATFA TH
FETU FTFT T ATAT 8 | HRT A5 AT FL I IFeT FTITLH TTH o T FITMT, FEQ Y 1587 & & G718 STLE A5 FT AT
eI
TR 00 HTH & I 90 37T =8 2l
01. =z 02. srawoii
03. orrer=i=r 04, FreaTETE
0S. FHSSIT

Solution for Question 136 Ans Key: 2

eng/eng  Lurking (v) — be or remain hidden.
For other options—

Rue (v) - regret.
Bereave (v) - rob.

enghin  STFTOT

Q-137 In the following question, two sentences with a blank in each are given and three words (A), (B) and (C) as options are given below them.

eng/eng Choose the most suitable word(s) to fill in the blanks to make the sentences meaningful.

I. He seeks to present ideas clearly and directly, and to avoid archaic terms, repetition, and .

II. The message is clear and concise and displays no that one would expect to find in more courtly scenes.
A. triviality

B. wordiness

C. verbosity

01. Both A and B 02. OnlyB

03. OnlyC 04. BothBandC



05. All of the above.

Q-137 A RTTTTAFITR RFEATIGeT g L SES U719 FAFer GATT TR | S99 & ST AT FTITTF LI A I ATFACH
eng hin STl ATFT TTATATZ | ART AT ATT FLIAD (AFHTT HT I H & # & Fpq T, Frg 7w a3 7 § qaffers oy as3t FT997
Ffvrm
LSS L2 - PO T ST THAT B
01. forenshert 02. wfdeaT
03. f=Erer 04. =qTIHFHAT
05. =TT
Solution for Question 137 Ans Key: 4
eng/eng  Verbosity (n) — the fact or quality of using more words than needed; wordiness.
For other options—
Triviality (n) — insignificance.
eng hin  TITIIFHAT
Q-138 In the following question, two sentences with a blank in each are given and three words (A), (B) and (C) as options are given below them.
eng/eng Choose the most suitable word(s) to fill in the blanks to make the sentences meaningful.
I. A road goes straight, rivers , houses are in straight lines and trees irregular.
II. His talk appears to but by the end focuses attention on the true state of affairs.
A. colander
B. meander
C. zander
01. BothAandB 02. OnlyB
03. OnlyC 04. BothBandC
05. All of the above.
Q-138 FATRTTTTAFTITR RF AT FET g€ LA T T T AFer ATC TR | S99 & SMAT AT HRTIITHIIA A I ATFATCH
FAG FTFT T FATATR | AT AT ATA FIIAD (AHT HT IWL F T A o v FIFI, R 77 o153 & & aa{farsw Sugs qsat #1997
Frfvrm
FEd 2 1% IcaTad H TRl F FAra=q aeqal Ht FHat H....... AT Bl
01. srargor 02. =t
03. FEr 04. forfarerar
05. fRafa
Solution for Question 138 Ans Key: 2
— In Sentence I, Meander (v) - (of a river or road) follow a winding course.
In Sentence II, Meander (v) - (of language, thought, etc.) proceed aimlessly or with little purpose.
For other options—
Colander (n) - a perforated bowl used to strain off liquid from food after washing or cooking.
Zander (n) - a large predatory freshwater perch native.
enghin =y
Q-139 In the following question, three statements A, B and C consisting of two sentences are given. Select the statement(s) of which both the
eng/eng sentences can be meaningfully combined by using the given word in the question.
However
A. People tend to put on weight in middle age. Gaining weight is not inevitable.
B. This is a cheap and simple process. There are dangers involved in it.
C. You should hurry up and leave as soon as possible. You will miss your train.
01. Only A 02. BothAandB
03. Both A andC 04. OnlyC
05. AllA,BandC
Q-139 = % 1 i ATt § 79[E AT T FAT FE ST ATHT AT Tal ¢ af FFed 5 F =997 )
eng hin

(1) ST FAT STTAIATE AT AT
(2) ATETIE & & MThT AT ST BT Tl 8



(3) =T Tt T & T €T grav 2|

01. Faer 1 02. Far2
03. FFr3 04. 1372
05. =1 agl'i% qg}
Solution for Question 139 Ans Key: 2

eng/eng :In sentence A and B, However -used to introduce a statement that contrasts with or seems to contradict something that has been said previously.
In sentence C: ‘else’ or otherwise’ can be used.

eng hin  fAey- Wﬁ'ﬂﬁ@"ﬂl

Q-140 In the following question, three statements A, B and C consisting of two sentences are given. Select the statement(s) of which both the
eng/eng sentences can be meaningfully combined by using the given word in the question.

Conversely

A. It was believed she would not come to the party. She came to the party with her friend.
B. The pop festival passed off peacefully. There were the fears of local residents.
C. American consumers prefer white eggs. British buyers like brown eggs.

01. Only A 02. Both A and B
03. Both AandC 04. Only C

05. AllA,BandC
Q-140 = f¥F a5 R TAT ASTRTATTRL?

01. I 02. zrefy
03. auf 04. ity
05. =% FFTE T
Solution for Question 140 Ans Key: 3

In sentence A and C — ‘Conversely’ is used to express an idea that is different from or opposite the other idea mentioned before.
In sentence B: ‘Despite’ can be used.

ol

Q-141 In the following question, two sentences with a blank in each are given and three words (A), (B) and (C) as options are given below them. Choose the
0 most suitable word(s) to fill in the blanks to make the sentences meaningful.

I. The interior has been much destroyed by the ravages of gold-seekers and excavators.
II. Most of the teams were eliminated from the competition in the first round.
A. amateur

B. bungler
C. bohemian

01. Both A andB 02. OnlyB
03. OnlyC 04. BothBand C

05. All of the above.
Q-141 A RTATTAF T rweara gergan g shTSuS vi= fAFer gaAryaw | 577 & SFUq AT FTIAATF IR F I ATHRACF
enghin  FELI ATHFT TATATAT G| TET AT ATT FL IS [AHT FTITLH TTH & Fora M T, Frgarg ors37 7 / qaffars Iog a2 #1997
T

FE qH AT T 5. ATAT 2

01. 97 02. I
03. wify 04. vz
05. |99
Solution for Question 141 Ans Key: 1

eng/eng  Amateur (n) — non-professional.
Bungler (n) - a person who is incompetent or inept at a particular activity.
For other options—
Bohemian (n) - a socially unconventional person.



enghin  S97

Q-142 In the following question, two sentences with a blank in each are given and three words (A), (B) and (C) as options are given below them.

eng/eng Choose the most suitable word(s) to fill in the blanks to make the sentences meaningful.
I. The training scheme at Halton has produced over thirty-five thousand graduates.
II. When I finish classes, I'm hoping to land a summer job as a chef's
A. benefice
B. sporadic
C. apprentice
01. Both A andB 02. OnlyB
03. OnlyC 04. Both B and C
05. All of the above

Q-142 A RTTTTAFITR NF AT GET A€ AT SES 779 FAFer ATC TR | S99 & ST AT FTIITF IR A I ATFAICH

enghin ST ATHFT TTAATATE | FET AT ATT FL IS [AHT FTITLH TR & Fova HIINT, Frgarg o153 7 & qaffars Iqg asa1 1997
Ffvrm
S-S U B AT Jg § h{SATS i it
01. feerar =T 02. 3T =T
03.  Herqr =T 04. =T T
0S. szar T

Solution for Question 142 Ans Key: 3
Apprentice (n) — a person who is learning a trade from a skilled employer, having agreed to work for a fixed period at low wages.

For other options—
Sporadic (adj.) — irregular.
Benefice (n) - a permanent Church appointment.

Q-143 In the following question, a sentence with four words given in bold type is given. Choose which of the following pairs has been interchanged
and after putting them at their right place the sentence becomes meaningful. If all the words are correctly placed, choose option (5) i.e. No
change required.

Plastic solutions (A) say that earthen cups and paper bags are portrayed (B) as manufacturers (C) but these too come at a cost to the environment
(D) as they are made from top soil and wood pulp.

01. A-B 02. A-C

03. B-C 04. C-D

05. No change required

Q-143 A RTTTTAFITR NF AT FET A LSS T FAFeT ATC TR | S99 & ST AT FTIATTF IR A I AT CH

enghin LU ATHFT TTATAT | TET AT ATT FL IS AHT FTITLH T H & Fova FIAT, Frgarg o153 7 F waffars Iug a3t #1997
EIE
AT FT TATIATHAT 9T5F AL B---

01. 9ror 02. 9°
03. 9% 04. T
05. =zt & e T

Solution for Question 143 Ans Key: 2

eng/eng  ‘Plastic solutions say’ is meaningless as ‘solutions cannot say anything but manufacturers can’ and ‘portrayed as solutions’ is meaningful. So, exchanging the
places of (A) and (C) will make the sentence meaningful.

enghin qT

Q-144 In the following question, a sentence is given where four words are given in bold. Choose which of the following pairs has been interchanged

eng/eng and after putting them at their right place the sentence becomes meaningful.

High costs of reinsurance (A) due to erratic (B) weather, a spike in claims and political interference (C) in crop loss estimation are reasons that forced
some insurers (D) to leave the business.



01. A-B 02. A-C
03. B-D 04. B-C
05. No change required

Q-144 A RTITCTAFATR NHFEATTFLIGAE LSS TTF [ AHeq GATC AT R | S99 4 ST AT HTIAITHL A S T ATFA TH
enghin ST ATHFT TTATAT G| TET AT ATT FL IS [AFHT FTITLH TTH & Fora R T, Frgarg ors3T § & waffars Iog asat #1997
EIE L
= o areat @ Forer o Ame ereg Fare?
01. wT&FT 02. <fr
03. A 04. HTIUZ
05. weTHT
Solution for Question 144 Ans Key: 5
eng/eng  No change required
eng hin  FHTHT
Q-145 In the following question, a sentence is given where four words are given in bold. Choose which of the following pairs has been interchanged
eng/eng and after putting them at their right place the sentence becomes meaningful.
Auviation fuel tensions (A) make up 30-50% of an airline’s total costs, which is why the simmering (B) purchases (C) in the oil-rich Middle East have
made the country’s airlines all the more vulnerable. (D)
01. A-B 02. A-C
03. B-D 04. C-D
05. No change required
Q-145 A A RTITTAFITR RF AT GETgA & LA TTF FAFer ATC TR | S99 & STHT AT RTIITHLIAT A I ATFICH
Ff Ul ITFT FAATAT R | TR AT ATT HLIAD (AFHT HT I H & | & Fopg T, Frg g o= § § qaffes sogw as3t FT97
Ffvrm
i orez =7 FHTTT oreg TaTEI?
01. == 02. wTIr
03. =919 04. x4
05. =% ¥ FTE TET
Solution for Question 145 Ans Key: 2
- “Tension’ means ‘mental or emotional strain’. So, ‘tensions cannot be the part of total costs’ but ‘purchases comprise thirty to fifty percent of total cost’ is
correct. So, exchanging the places of (A) and (C) will make the sentence grammatically correct and meaningful as well.
Q-146 In the following question, a sentence is given where four words are given in bold. Choose which of the following pairs has been interchanged
eng/eng and after putting them at their right place the sentence becomes meaningful.
India issued its first travel advisory (A) on January 17 which was followed by more stringent (B) measures including virulent (C) of visas for Chinese
and foreigners travelled to China as the virus grew more cancellation. (D)
01. A-B 02. A-C
03. B-D 04. C-D
05. No change required
Q-146 A RTITTAFAITIR NHFEATTFGITIGA & LSS T 9 [ AHeq GATCTY R | S99 4 SMAT AT HTIITHL AT 4 A ATFA TH
enghin ST ATHFT TTATAT G| TET AT ATT FL IS [A4FHT FTITLH TTH & Forag MY, Frgarg o153 7 / waffars Iog a3 #1997
T
FHA HT TATAATHT 9758 F-----
01. A 02. T
03. g 04. q=ti=w
05. iy i 7S Y
Solution for Question 146 Ans Key: 4

eng/eng  After ‘more’ an adjective or plural countable noun should be used while ‘cancellation’ is a singular noun hence, ‘more cancellation’ is grammatically



incorrect, apart from that “virulent’ is an adjective which is not at all suitable for ‘of visas’ So, exchanging the places of (C) and (D) will make the sentence
grammatically correct and meaningful as well.

enghin AT T FIS H@
Q-147 In the following question, a sentence is given where four words are given in bold. Choose which of the following pairs has been interchanged
eng/eng and after putting them at their right place the sentence becomes meaningful.
One of the most precise (A) apps for any person with a smartphone is the Google Maps app as it provides useful (B) directions to places, almost
everywhere in the world and to deliver this service smoothly, (C) the app constantly (D) keeps updating itself.
01. A-B 02. A-C
03. B-D 04. B-C
05. No change required
Q-147 A RTTTTAFITR NF AT GET A€ LS 779 FAFer ATC TR | S99 & ST AT FTIITF LI A I AT CH
enghin Y ATHFT TTATATATE | FET AT ATT FL IS AHT FTITLH TR & Fova BTN T, Frgarg o153 7 & qaffars Iqg asa1 1997
Ffvrm
EP ket i i —
01. THAT AT 02. ez =f<h
03. sz =Afh 04. Tt sEee g
05. =% ¥ IS Al
Solution for Question 147 Ans Key: 1
‘Precise’ means ‘exact’ and ‘most exact apps’ is meaningless but ‘most useful apps’ is not and ‘exact directions’ is grammatically correct and meaningful as
well. So, exchanging the places of (A) and (B) will make the sentence grammatically and contextually correct.
Q-148 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.
(A) Scream (B) Divulge (C) Conceal (D) Arrange
01. A-B 02. B-D
03. B-C 04. C-D
05. A-D
Q-148 TTETT FT AT AT TATIW?
01. wref=ft 02. yr=ht
03. wrare 04. weTe
05. srqeTaT
Solution for Question 148 Ans Key: 3
eng/eng  Divulge means make known/reveal some information.
Conceal (v): hide, is the antonym of divulge.
eng hin  Haiex
Q-149 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng/eng which are most nearly the same or opposite in meaning.
(A) Excurse (B) Vend (C) Explicit (D) Vague
01. A-B 02. B-D
03. B-C 04. C-D
05. A-D
Q-149 ATHIFRT A= asT AT
eng hin

01. g<g 02. 3797

03. TEegHT 04. T3¢
05. sorrsad



Solution for Question 149 Ans Key: 4

eng/eng — Explicit (adj.) — clear.
Vague (adj. — uncertain) is the antonym of explicit.
For other options-
Excurse (V) — to journey or pass through; make an excursion.
Vend (v) — offer (small items) for sale.

eng hin 93T

Q-150 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
eng/eng Which the given word has been correctly used.

LECHEROUS

1. A lecherous smile played on his lips and his hair was set loose, dark bangs falling over his forehead.
II. Lawsuits accusing male bosses and co-workers of lecherous behavior are unfortunately common in courts across the Western world.
IT1. She looked cool and rested in a white dress with a lecherous gold chain round her throat.

01. Only I 02. Only II
03. BothIandII 04. Both Il and 11T

05. All of the above
Q-150 '=ITH 5T §?

01. e 02. 9g=
03. 29T 04. fFeoft
05. =H | FIE Tal

Solution for Question 150 AnsKey: 3

In Sentence I and II, Lecherous (adj.) — characterized by inappropriate behavior.
In Sentence 111, Chaste (adj.) — simple or restrained can be used.

Passage for Question 151, 152, 153, 154, 155 (ST-2078 RRB PO MAINS E (6-10) 2020)
eng/eng Passage

Read the following passage and answer the questions based on it.

From the Tigris to the Indus and the Yangtze to the Nile, rivers were essential to the emergence of human civilization. Millennia later, hundreds of millions of people
still depend on rivers to quench their thirst, grow food, and make a living. And yet we are rapidly destroying the planet's river systems, with serious implications for
our economies, societies, and even our survival. China is a case in point. Its dam-building frenzy and over-exploitation of rivers are wreaking environmental havoc
on Asia, destroying forests, depleting biodiversity, and straining water resources. China's first water census, released in 2013, showed that the number of rivers had
plummeted by more than half over the previous six decades, with over 27,000 rivers lost. China may be the world's largest dam builder, but it is not alone; other
countries, from Asia to Latin America, have also been tapping long rivers for electricity generation. The diversion of water for irrigation is also a major source of
strain on rivers. In fact, crop and livestock production absorbs almost three-quarters of the world's freshwater resources, while creating run-off that, together with
industrial waste and sewage discharge, pollutes those very resources.

In total, almost two-thirds of the world’s long rivers have been modified, and some of the world’s longest—including the Nile and the Rio Grande—now qualify as
endangered. Of the 21 rivers longer than 1,000km that still flow freely from their mountain sources to the sea, most are in remote regions of the Arctic and in the
Amazon and Congo basins, where hydropower development is not yet economically viable. These trends strain water resources, destroy ecosystems, and threaten
human health. For example, heavy upstream diversions have turned the deltas of the Colorado River and the Indus River into saline marshes. Moreover, lower river-
water levels impede the annual flooding cycle, which in tropical regions helps to re-fertilize farmland naturally with nutrient-rich sediment. In periods of below-
average rainfall, a number of rivers increasingly run dry before reaching the ocean, and even when they do make it, they are depositing less of the nutrients and
minerals that are vital to marine life.

Humans are hardly exempt from the health consequences of river destruction. In Central Asia, the Aral Sea has all but dried up in less than 40 years, owing to the
Soviet Union’s introduction of cotton cultivation, for which water was siphoned from the sea’s principal sources, the Amu Darya and Syr Darya rivers. Today,
particles blown from its exposed seabed—thick with salts and agricultural chemical residue—not only kill crops; they are sickening local people with everything
from kidney disease to cancer. Free-flowing rivers play a critical role in moderating the effects of climate change, by transporting decaying organic material and
eroded rock to the ocean. This process draws about 200 million tons of carbon out of the air each year. In short, the case for protecting our rivers could not be
stronger. Yet, while world leaders are often willing to pay lip service to the imperative of strengthening river protections, their rhetoric is rarely translated into action.
On the contrary, in some countries, regulations are being rolled back.

In the US, almost half of the rivers and streams are considered to be in poor biological condition. Yet last October, President’s administration repealed “Waters of
the US," which had been introduced by his predecessor, in order to limit pollution of streams, wetlands, and other bodies of water. Last month, the administration
replaced the rule with a far weaker version, called the “Navigable Waters Protection Rule." Likewise, in Brazil, The President has relaxed environmental rules in the
name of economic growth. The absence of water-sharing or cooperative-management arrangements in the vast majority of transnational river basins facilitates such
destruction. Many countries pursue projects without regard for their cross-border or environmental effects.

One way to protect relatively undamaged river systems—such as the Amur, the Congo, and the Salween—would be to broaden the implementation of the 1972
World Heritage Convention, and add these rivers to the World Heritage List, alongside Unesco World Heritage Sites. This would be in line with recent efforts in
some countries—Australia, Bangladesh, Colombia, India, and New Zealand—to grant legal rights to rivers and watersheds. For such initiatives to work, however,




effective enforcement is essential. As for the rivers that are already damaged, action must be taken to restore them. This includes artificially recharging rivers and
aquifers with reclaimed wastewater; cleaning up pollution; reconnecting rivers with their floodplains; removing excessive or unproductive dams, and implementing
protections for freshwater-ecosystem species. The world's rivers are under unprecedented pressure from contamination, damming, and diversion. International
cooperation can save them, but first, we must recognize the consequences of doing nothing.

eng hin Passage
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AT AT & T ST Fefaar &1 T et [Afeawaar 21 Foieg Set & 71 § 19 g6 UH RN $1 @d @ ST [QF-27d 1T F 67 (787 a9 gu g af gest
T AT &A1 oAt o foreme o= S @ S g/ 3!, At w7 F07 39 TF F gERHT H gad a9 gl

S8

J—rren‘rrﬂTTﬁrcﬁ?aﬁHWTﬁ&TWTWTWEF?WWWﬁ*luww ?Prugm g FoFeft el T2 T ST et 2Afeh I8 WeAT-g27 Fgel T 2l
g A STaT ¢ T 0% a0 § Y o E1 ART Ta12 a9 T8 FT AT F 9o I T@-91T Fd 21 I ATY 36 T FT a7 o U AR 6l SIS I T Sle-
FEHTL FL FH H TG F2 ﬁwﬁ?wmwﬁﬂﬁwﬁwoﬁﬁm?wrwmﬁaﬁraﬁrmamwﬁaﬁarﬁ|r1ar1| ¥ ST AT

ST FH AT T UHeH " T8 FT Fae AT F wEd § g0 {39 gl

Q-151 Which of the following points has/have been not been exactly conveyed in the passage?

01. The act of diverting the rivers for irrigation is 02.  The country whose all of the rivers are in the best condition is the US.
the major source of strain on them.

03. Asia is the largest country in the world to ~ 04. Free-flowing rivers are those that help in moderating the effects by decomposing organic material.
build dams and use them for electricity
generation.
05. Both2and3
Q-151 T T=rier AT 9:9<h 3T TET T2 T AT FH10T 82

eng hin
01. =T gHAT 02. f3sFerrT gMT
03. 3 TS BT 04. = & FTE T
05. I grAT
Solution for Question 151 Ans Key: 5

eng/eng The answer can be inferred after reading the passage carefully.

enghin I AT
e 3T dEY TRITE A g

Q-152  Asmentioned in the passage, how can the damaged rivers be replenished?
eng/eng

01. By reconnecting rivers with the area of land 02. By removing the dams, status of which is unproductive.
adjacent to them.

03. By recharging rivers and aquifers withthe ~ 04. By protecting the species belonging to the freshwater ecosystem.
usage of wastewater.

05. All of the above.



Q-152  g=aT ¥ Aea F fi= TATRGHT FIT T & FHTL0T 74T 2

eng hin

01. ¥ =3f<h T T TSR & &1 AT 02, 371 2=E FF AS1g4T a7 SATET FHTH 4T FTed &l
GEIERS]
03. St @ AT gt A1 s A A g 04, 3R F AL THH

05. ST T =7 F EIFAATT ART AL A %
T F T § H= o 2

Solution for Question 152 Ans Key: 5
eng/eng  The answer lies in the last paragraph of the passage.
eng hin  ST& U& a7 EITATE ART GAL a9 6 q@ % A% § G 0 g
Q-153 According to the passage, which of the following exert(s) pressure on rivers?
eng/eng
A. The action of making rivers impure by polluting.
B. The action of diverting them.
C. The action of restoring rivers through the power supply.
D. The action of building dams across the rivers.
01. Only A 02. OnlyC
03. Both Band D 04. All except C
05. All except B
Q-153 3 wrerter ¥ srga<y M T AT F ALTFT A IV A G137 &2
01. ofiafq =T worge =t 02. 3y =T <7 fFer =
03. oTrore i oiTfore =t 04. Tfesrft oz Fe ot
05. =% & F1E T2l
Solution for Question 153 Ans Key: 4
— The answer lies at the end of the passage.
et ST ST a
Q-154  Which of the following countries is/are making efforts to grant legal rights to rivers?
A. France, Russia and Germany.
B. Australia, India and Columbia.
C. New Zealand and Bangladesh.
01. Only A 02. OnlyB
03. Both AandC 04. BothBandC
05.  All of the above.
Q-154 Fgadt e 7qe F1 e a1 & =i Tg=dt 82
eng hin
01. TR 3T LT 7 &0 S@HT| 02. R T TEET F T@HT
03. il 3 g7 R I AT Ege AT 04, SRR T T-faere ST
TETI
05. =it i 78 7
Solution for Question 154 Ans Key: 4

eng/eng  The answer lies in the last paragraph of the passage.

eng hin iR 7 ANT-FaeTe T@+7
e Ao 39 at=e RTE 7 2l

Q-155 According to the passage, which of the following things is/are observed when regions witness low rainfall?

eng/eng ) ) )
A. Many rivers get completely dried up before reaching the ocean.

B. Some rivers that manage to reach the ocean provide less nutrients than required.
C. Many rivers start holding sufficient amount of minerals required for marine life.

01. OnlyA 02. OnlyB



03. OnlyC 04. Both A and B

05. All except A
Q-155 XA 7 e q & Aee(EW) AT FTFATAL §2

eng hin

ST
01. Z<TE AT 02. 3=Ter AT
03. @ { T AT 04. ey eraat § FY ST ATAT A2TE
05. =8 F1E T
Solution for Question 155 Ans Key: 4

eng/eng The answer lies at the end of the second paragraph.

eng hin Wﬁ?r?lﬁﬁaﬁﬁﬁww

Passage for Question 156, 157, 158, 159, 160 (ST-2078 RRB PO MAINS E (31-36) 2020)
eng/eng Passage

Read the passage carefully and answer the questions based on it.

Can phrases such as IT cell and fake news morph into issues related to human rights and the intersection of business and human rights? Certainly, as India diligently
monitors itself, suppresses itself, and misleads itself. It’s heartening to see UK-based Institute for Human Rights and Business (THRB) flag harnessing collective
power to combat lies and propaganda online as that watchdog’s key agenda for 2020. It acknowledges the reality of, say, an American and Indian surge of neo-
nativism, among several similar trends in a swathe from Eastern Europe and Turkey to hardened practitioners Russia and China, to bring risk and culpability to the
doors of governments and businesses alike.

Freedom is the core on which the internet is predicated, a default to override the suppression of information by governments and powerful interests, as [HRB puts it.
To extend the premise, if flow of information is a human rights necessity, then to block that flow or distort that flow, as in the Union territory of Jammu and Kashmir
and intermittently in other regions of India, amounts to a violation of human rights in the name of political imperative and national, and even, nationalistic, security.
Equally, IHRB posits that the troubling spread of misinformation and disinformation" online presents serious challenges, including for business, and that purveyors of
false information or fake news find newer ways to reach their targets for a growing range of purposes.

All this greatly impacts human rights, as in India—most recently in a disturbing string of events from mid-2019 onward. It began with the implementation of the
central government’s Kashmir policy, which included the isolation of Kashmir through blocking of the internet, incarcerating Kashmir’s political leadership, sieving
entry, and massively modulating news of Kashmir through government agencies. The impact of human rights then extended to spin related to the Citizenship
(Amendment) Bill and its legislative avatar of the Citizenship (Amendment) Act, 2019, and to portray as benign the National Register of Citizens and the National
Population Register. It then extended to the ongoing and massive media, social media/digital media effort to counter citizens’ protests against, and concerns about,
all three exercises, and, most recently, the virulent campaign for elections to Delhi’s assembly on 8 February.

When one side of a debate or campaign has access to sophisticated technological tools to intervene on a matter of public importance and manipulates human
thinking towards a specific outcome, democracy is undermined and consensus stifled. Policies based on misinformation and poor analysis can affect businesses,
adversely impacting their viability. For example, those denying climate change and resisting the transition to a non-carbon economy are not only undermining public
policy, but also the viability of companies investing in clean technology.

That chimes sweetly in the post-Davos haze of good cheer, after business and political leaders exchanged pro-forma climate-hugs, as it were, alongside being
reprimanded by climate-change wunderkind Greta Thunberg. However, it is the oldest open secret that several businesses do whatever it takes to distort reality,
even create alternative realities, for the bottom-line, just as several political parties and politicians do for votes and power. Moreover, businesses in
telecommunication and data and media-flow caniot jettison responsibility simply by stating they are service providers, ot creators or distributors of conteiit.
Companies that provide gateways to the internet, web service providers, those that facilitate dissemination of information, and those that catalogue information and
make it accessible, are at the centre of the fake news storm. These companies have argued for too long that they are safe harbours, merely the providers of
infrastructure, such as roads or power cables.

Such assertions no longer fly because such service providers give in to bullying or requests from governments and businesses to remove content these influencers
consider inimical or ideologically threatening. Under pressure, providers close or severely curtail the internet. Regulators—governments, really—are given access to
data. “The companies involved have also been using their own policies aggressively to control what is said—or not—on their infrastructure.”" “In future, companies
like Facebook will have to reckon with the fact that they are publishers, not merely carriers," IHRB states. It’s difficult to disagree in the face of Facebook Inc.’s
operations and that of WhatsApp Inc., of which it’s the parent. In the face of Twitter’s operations too. It’s all out there. It’s often ugly. And it needs to be called out
before it can be cured. That’s the message.

eng hin Passage

= frgag g #1 samaga & g o T 38 o swatie vt F ST AR e er F gy, fewag frawedi § § g9@ Sy fAwer w 1
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Q-156 As mentioned in the passage, which of the following facts has/have been propounded by the IHRB?

01. Those who spread misinformation are 02. Businesses are at serious risks.
finding methods to reach out to their targets.
03. The spread of misinformation is increasing at 04. The fake news is in demand and is sought by many.
an alarming rate.
05.  All except (4)
Q-156 X3 T AqAR AT F TSR §—

01. FSIT a7 T FeAT 02. & T ToTd FEeA T FeAT
03. Sreft § g et T Felr 04. =oH T IS TS
05. Sfiae S sfiT dee Fit Fer
Solution for Question 156 Ans Key: 5

eng/eng  The answer can be inferred from the end of the second paragraph.

eng hin  fAwrd- 3T T=rter + Uget LRTE § 3

Q-157 Which of the following do/does affect the ability of the businesses to work successfully?

eng/eng
A. The policies backed by misinformation.
B. The alternative realities.
C. The poorly executed analysis.
D. The hindrances created by the government.
01. A,BandC 02. Both A and C
03. A,CandD 04. All of the above
05. B,CandD
Q-157 =fas farar STt AT F g FaT rATF R
eng hin
01. FfSATE % q97 99 7@ &7 02. Zr=t % =1 AT &
03. Zr=t § FEg i AR T 04. ZT=T § TR F AT T

05. =98 ¥ FI< q8T



Solution for Question 157 Ans Key: 2
eng/eng The answer can be inferred from the mid of the fourth paragraph.
enghin  fAeFd- I =T F T 2
Q-158 With reference to the passage, who all are prone to the threat of being misinformed?
eng/eng
01. The web service providers. 02. Companies that provide gateways to the internet.
03. Those who spread rumors. 04. Those who make a list of information and make it available.
05. All except (3)
Q-158 X3 =i & ATATT ATATIS ATAATH & QAFHIT HT FIT TG FIIAE?
eng hin
01. FiEHias Freor 02. I=TfRe 20T
03. seaTioEes FHTCU 04. =¥ T FIS AT
05. fce fovear &1 Feor
Solution for Question 158 Ans Key: 5
eng/eng The answer can be inferred from the fifth paragraph.
enchin =Y. 397 M=o F ARTOTE W 2
Q-159 As mentioned in the passage, there will be a black day for a democracy when-
A. An individual ensures to get something done as per his wish only.
B. A unanimous agreement results into an upheaval despite impartial decisions.
C. A particular group has an exclusive say in a significant matter of public interest.
01. Only A 02. Both B and C
03. OnlyB 04. Both A and C
05. Not mentioned in the passage.
Q-159 T3 ¥ TIA F ATIARX TAF ITAF FHT THRITTF TR & FHa @3 )
01. s =798 02. gETEFEETT
03. AEEF =T 04. 123, %79
05. 9% F FIS AT
Solution for Question 159 Ans Key: 4

Q-160
eng/eng

Q-160

eng hin

The answer can be inferred from the fourth paragraph.

Fowd- AoT- ST =9 F i WETE 2

Which of the following facts has/have been exactly conveyed by the author?

01. Businesses in telecommunication and data  02. The implementation of the central government’s Kashmir policy led to a violation of rights.

and media-flow cannot get rid of their
responsibilities easily.

03. The internet service providers either close  04. If information flowing everywhere is a human rights necessity then to block/damage that flow, comes

or impose a restriction on the internet under under violation of rights.
pressure.

05. All of the above.
&3 72 rert e F FAgar< e #7 gaedr Fg vHTCHFHT AR

01. STeTehi T SAMF9THAT FT & § T@FT 02, FHTS F FodT F1 &9 | TEHT
03. HeRf FT e i T 04. =7 & 7 T
05. 13T 23T

Solution for Question 160

Ans Key: 5

eng/eng

The answer can be inferred after reading the whole passage carefully.

eng hin

e~ 3T IT=rier % =T WHRTE A g




Q-161

eng/eng

Q-161

eng hin

The time it takes a device to locate data and instructions and make them available to the CPU is known as

T2 oY FAer T aaT SR ST I HIH FT IUelsd FIIA § N ATer THT R IR EEICIEICIE
01. clock speed 02. a processing cycle
03. CPU speed 04. access time

05. None of these
The time it takes a device to locate data and instructions and make them available to the CPU is known as

T2 SfT¥ TR T OaT SR Y Ieg HIH FT ITAsH FAIA § N AT THT T & § ST AT 8
01. clock speed 02. aprocessing cycle
03. CPU speed 04. access time

05. None of these

Solution for Question 161 Ans Key: 4
eng/eng The time it takes a device to locate data and instructions and make them available to the CPU is known as Access Time.
T2 ofr¥ FAert T aaT SR ST I W T STl FA § N Aol THT FT U 275H €7 § ST ST 8
eng hin  The time it takes a device to locate data and instructions and make them available to the CPU is known as Access Time.
T2 #fre FAert T aaT SR ST I W T STl FIA § N Aol THT FT U 275H €7 § T 14T 8
Q-162 For selecting or highlighting, which of the following is generally used?
T AT AT  forw, oy 1% g7 Rerfertea o 5 frerr s & Srar 22
01. TIcon 02. Keyboard
03. Mouse 04. Floppy Disk
05. None of these
Q-162 Forselecting or highlighting, which of the following is generally used?
AT AT EIEATLIET o [0, &\ 772 92 (Aetertad o 7 et Saaer e srar 22
01. Icon 02. Keyboard
03. Mouse 04. Floppy Disk
05. None of these
Solution for Question 162 Ans Key: 3
For selecting or highlighting, Mouse is generally used.
T AT EISATS (T F [0, 3 ¥ I Aot g § | ATSH T STANT (AT 141 2
in  For selecting or highlighting, Mouse is generally used.
T AT SSATSIE F [0, 3 1% 9T Mg § 7 ATSH T STANT (HAT 14T 8
Q-163 shares hardware , software and data among authorized users.
-------- AT, FAIFEdIT 1Y STT HT ATeFHd 1T & a1 AT FLAT g
01. Network 02. Protocol
LCCEd e
03. Hyperlink 04. Transmitter
EIERREET TiEHTeT
05. None of these
TH q TS AR
Q-163 shares hardware , software and data among authorized users.
enghin  -------- BTEATT, ATHEAIT AT ST HT ATAFT ToTL F A9 AT FAT B
01. Network 02. Protocol
pEech TIEThieT
03. Hyperlink 04. Transmitter
£ st
05. None of these
TAH TS AR
Solution for Question 163 Ans Key: 1

eng/eng  Network shares hardware, software and data among authorized user.

T, TEATT, ATFAIT ST STeT ATAFHA ST F A= AT FaT 2|




eng hin  Network shares hardware, software and data among authorized user.

Feash, grEaTY, AFeadT ST TTeT A Io1T F = 9a¥ FdT B

Q-164 The Physical arrangement of elements on a page is referred to as a document -

engleng  TST T¥ UferHwe % THISTHer 7aet &1, SFIH .....ccovveee. FEd Bl
01. Format 02. Feature
FiHe =7
03. Grid 04. Pagination
e EIEEEE
05. Layout
qATSE

Q-164 The Physical arrangement of elements on a page is referred to as a document -

enghin T 7T UferHwe % TSt =raem &1, SRgH= ..., FEd Bl

01. Format 02. Feature
HHE =
03. Grid 04. Pagination
fire EIECRLE
05. Layout
Solution for Question 164 Ans Key: 1

The physical arrangement of elements on a page is referred to as a document format.
HHE
The physical arrangement of elements on a page is referred to as a document format.

HHS

Q-165 Different memories can be classified according to the concept of
T AT F AT AT 7t &7 anfiga Foha o ashar 8

01. Access mode/capacity and cost 02. Access Time
03. Transfer Rate 04. All of the above
05. None of these

Q-165 Different memories can be classified according to the concept of
T AALTIO 6 AT AT ATRT T AR (63T ST TFaAT &

01. Access mode/capacity and cost 02. Access Time
03. Transfer Rate 04. Al of the above
05. None of these
Solution for Question 165 Ans Key: 4

eng/eng  Different memories can be classified according to the concept of Access mode/capacity and cost, Access Time, Transfer Rate.
Access mode/capacity and cost, Access Time, Transfer Rate. #¥ STAEITIOIT o STAATY fATH ATIT HT AF(19d AT ST THaT §

eng hin  Different memories can be classified according to the concept of Access mode/capacity and cost, Access Time, Transfer Rate.

Access mode/capacity and cost, Access Time, Transfer Rate. #T SO o STAATY fATH ATIT HT A1 AT ST THAT &

Q-166 Which of the following is not used in the storage phase of a computer-based information system?

engleng  FHTIET ST FAAT TOMAT 6 W0 =20 H Heferterd & & freent saamr wgt o strar 22

01. Magnetic tape 02. Keyboard
03. Diskette 04. Hard disk

05. None of these
Q-166 Which of the following is not used in the storage phase of a computer-based information system?

enghin  FTIEL AT TAAT TOMEAT F WSO =207 § Frferterd & & fheepr Sonr 7t e Sstrar 22

01. Magnetic tape 02. Keyboard
03. Diskette 04. Hard disk
05. None of these
Solution for Question 166 Ans Key: 2



eng/eng

Keyboard is an input device.

FATE TF Y Bared 2l
eng hin  Keyboard is an input device.
FIETE U TAYe feared &)
Q-167 Memory unit is one of the part of
engleng HHIRI IFE F AT H T UF 2N
01. Monitor 02. Central Processing Unit
03. Output Device 04. Keyboard
05. Mouse
Q-167 Memory unit is one of the part of
enghin HWIRI IfAe F AT H T UF 2
01. Monitor 02. Central Processing Unit
03. Output Device 04. Keyboard
05. Mouse

Solution for Question 167

Q-168

Q-168

CPU has three parts ALU (Arithmetic Logic Unit), CU (Control Unit), MU (Memory Unit)

Hd % T 9RT § ALU (31101 a6 33072), CU (Fere ZfHe), MU (HHET IHe)

CPU has three parts ALU (Arithmetic Logic Unit), CU (Control Unit), MU (Memory Unit)

Hd % T 9RT § ALU (331101 a6 3a079), CU (Fere ZfHe), MU (HHET IHe)

The circular Disk shaped magnatic component of Hard disk drive are called

BTE oo F e R o araTe & AT FFOAee &l oo, Fgd 2l
01. Sector 02. Read and write head
03. Cylinders 04. Platter

a\ E\: CES ‘ﬁa—
05. Track
The circular Disk shaped magnatic component of Hard disk drive are called
2Te foww F oo f3eF & amare & fufes Framee T . FEd 2l
01. Sector 02. Read and write head
03. Cylinders 04. Platter
05. Track

%

=

Solution for Question 168

Ans Key: 2

Ans Key: 4

eng/eng  The circular disk shaped maganetic component of Hard disk drive are called platter.
BTE o5 F7 g8 [SF ST #UTeah FFIIAwe & AL FT AT & 34 el Fgd &l
eng hin  The circular disk shaped maganetic component of Hard disk drive are called platter.
BTE o F7 g8 [T ST #UTeh FFIIAwe & AL FT AT & 34 el Fgd &l
Q-169  Which of the following is an example of connectivity?
engleng  THHTITET # & 7 Fr &t 1 TF IZELT 22
01. data 02. floppy disk
03. Power cord 04. Internet
05. None of these
Q-169 Which of the following is an example of connectivity?
enghin  FETIET & § F17 FafAeEE F1 0F 3T 82

01. data 02. floppy disk



03. Power cord
05. None of these
Solution for Question 169

04. Internet

Ans Key: 4

eng/eng Internet is an example of connectivity.

IV FATFEIALT T UF AL

eng hin  Internet is an example of connectivity.

ZITAT FATFE AL T UF I 8

Q-170 Which of the following is not a term pertaining to spreadsheets ?

engleng TS & & AT Egefiz & wE TE 27

01. Formula
03. Browser
EISSES

05. None of these
TAH HFIS Al

02. Cell
T

04. Character
FFIL

Q-170  Which of the following is not a term pertaining to spreadsheets ?

eng hin TS & & T Swefiz 8w T 27

01. Formula
03. Browser
ATISTL
05. None of these
TAY T TS A8l
Solution for Question 170

Browser is related to Internet.
ATSSY, Teav S F TR (e 2T 2l

Browser is related to Internet.

EISN 2\, Q"E;\E L@l"ﬂ Ia. ai ?,‘E éQ-l

Q-171 PSTN stands for
PSTN T 0T =9 4T 14T &

02. Cell
T

04. Character

01. Public Switched Transformation Network ~02. Public Switched Telephone Network

03. Public Serviced Telnet Network

05. None of these
TR A TS TR
Q-171 PSTN stands for
enghin  PSTN =T q07 & 7 FTa1 &

04. Can't be determined
Rt 78t o ST gear 2

01. Public Switched Transformation Network ~ 02. Public Switched Telephone Network

03. Public Serviced Telnet Network

05. None of these
TH T IS Thl

Solution for Question 171

04. Can't be determined

Fratfia 2t frar ST aear 81

Ans Key: 3

Ans Key: 2

eng/eng  Public Switched Telephone Network

eng hin  Public Switched Telephone Network

Q-172 World wide web was proposed by:

eng/eng TS qTET 9 e g7 T AT I o

01. Bill Gates

03. Tim Bemers Lee

02. Bill Rogers
04. None of these

T A AT T



05. Can't be determined

et T2 o ST aehar 2
Q-172 World wide web was proposed by:
enghin S ATEE 49 A BILT YEATTA {37 2T 4T
01. Bill Gates 02. Bill Rogers
03. Tim Berners Lee 04. None of these
TAH T FS AR
05. Can't be determined
et 72 o ST ahar 2
Solution for Question 172 Ans Key: 3
eng/eng  World wide web was proposed by Tim Berners Lee
a7 AT5S 9 Tim Berners Lee  FT2T T&ATad [T ST 4T:
eng hin  World wide web was proposed by Tim Berners Lee
a7 AT5S 9 Tim Berners Lee  FT3T &A1 [T ST 4T:
Q-173  Which of the following is the first computer to use Stored Program Concept?
engleng THHTITET # & 1T &7 FETT FIAFHH ATLTIOM FT ITART F2 ATAT Tgel FOI2L 2
01. UNIVAC 02. ENIAC
03. EDSAC 04. Can't be determined
IREIESERRERISIEEn
05. None of these
TAH H IS T
Q-173  Which of the following is the first computer to use Stored Program Concept?
Referad 7 & F19 a7 G T FIAHA AT FHT STAN Fd AT Tgell FHET 82
01. UNIVAC 02. ENIAC
03. EDSAC 04. Can't be determined
fFreta T8t T ST 9T gl
05. None of these
TAH HHE Tol
Solution for Question 173 Ans Key: 3
EDSAC (Electronic Delay Storage Automatic Calculator) is the first computer to use Stored Program
EDSAC #EId FTAFHH ATLTIOM FT ITART FIA ATAT TgeT FTYT &
EDSAC (Electronic Delay Storage Automatic Calculator) is the first computer to use Stored Program Concept
EDSAC T FTAHH ATLTIOM FHT ITTNT Fd ATAT TgeAT Hg2T g
Q-174 Inaspread sheet, the point at which a column and a row intersect is called a
engleng  EIeefE #, Ag wAtee O 0% TF w09 9ii¥ UfRF Lo0HFE T & T oo, T AT 21
01. Cell 02. Row
Gl i
03. Field 04. Information
e TR
05. None of these
TAH FFIE TR
Q-174 Inaspread sheet, the point at which a column and a row intersect is called a .
enghin  F=efie #, 98 atere [ T2 UF &0 ST GfTh 22007 Fd 8 IH v FgT STAT Bl
01. Cell 02. Row
G i
03. Field 04. Information
fee TR
05. None of these
TAH F FIS TR
Solution for Question 174 Ans Key: 1

eng/eng

Cell is the point at which a column and a row intersect to each other.



AT (P Wig< © o8l U W 3R U T TOX 3l §evdde od © |

enghin Cell is the point at which a column and a row intersect to each other.

A (P Wig< © o8l U W 3R U T TOX Pl §evdde oxd © |

Q-175 A setof choices on the screen is called a(n)

engleng BOIT TT SATEH & HE T covevvnnrrennnne T SATAT Bl
01. menu 02.
a7
03. action plan 04.
THIT AT
0S. template
T
Q-175 A setof choices on the screen is called a(n)
enghin 01T T SATEH & HE T oo FET T4l 2l
01. menu 02.
KRS
03. action plan 04.
TFI AT

0S. template

Solution for Question 175

A set of choices on the screen is called a menu.
P S o N
THIF 9T =aTeH &1 UF He, T Fgardl gl

A set of choices on the screen is called a menu.
ThIF 9 =aTeH &1 UF He, 9 wgardl gl

reverse video

et it

editor

e

reverse video

editor

Q-176  The blinking symbol on the computer screen is called the

FIET Tl T oA ToRT T oo FEATAT Bl

01. Mouse 02. Light
HSY ATZE

03. hand 04. Cursor

05. None of these

TAH | &S Al
Q-176 The blinking symbol on the computer screen is called the
enghin  FFAEL B I oo el oo, FEATAT &l
01. Mouse 02. Light
HISH NI
03. hand 04. Cursor

&=
05. None of these
TAH HHE T

Solution for Question 176

FHT

eng/eng  Blinking symbol on the computer screen is called the cursor.

FFAY GhiA T fecdTaT e FHY Fgarar gl

eng hin  Blinking symbol on the computer screen is called the cursor.

FFAY GhiA U fecdTaT Foeae FHY Fgarar gl

Q-177 The operating system is the most common type of

software.

engleng ST FFEH, Lo, I FT Tgd AHT THE &

Ans Key: 1

Ans Key: 4



01. Communication

02. Application

FRLHT TfteaeTT
03. System 04. Word Processing
ez EERIGIET
05. Network
GEEED
Q-177 The operating system is the most common type of software.
eng hin TSN FAFTH, oo, TIFeaT FT Tgd GHT T 2|

01. Communication

02. Application

FEL DT [ ERIC]
03. System 04. Word Processing
freew EERIGIEN
05. Network
BCCEd
Solution for Question 177 Ans Key: 3
eng/eng  Operating system is the most common type of system software.
ot ey, ey aiveese &7 39 T 2
eng hin  Operating system is the most common type of system software.
T e, R afreae 57 o9 T )
Q-178  Which part of the computer can display the User's work ?
FFAET HT A HT AR IS F FTH B TIANT FT THAT 22
01. Mouse 02. Key board
03. Disk Drive 04. Monitor
05. None of these
TAH HHE Tol
Q-178  Which part of the computer can display the User's work ?
FFLET T HIT T AN ISTL o FIH H1 TR F THAT 82
01. Mouse 02. Key board
‘ NG
03. Disk Drive 04. Monitor
05. None of these
TAH A ATS Tol
Solution for Question 178 Ans Key: 4

Monitor can display the user's work.

AT, TS F FHT T TETT FHaT &

b= T -

eng hin ~ Monitor can display the user's work.

AT, TS F FT 1 TET FaT &

Q-179 To move the text from its original position to another position without deleting it is called___.

eng/eng U TPud & 2k AT fAAT 2218 TH &I 9% GF FAT oo FEATAT B
01. Scrolling 02. Searching
TR AT 9 HAT
03. MOViIlg 04. Copy]ng
T FEAT FIUT FLAT
0S. Halting
gToa FTAT
Q-179 To move the text from its original position to another position without deleting it is called___.
enghin ¥ TPafd & 2oz 7 fa9T 2218 gAY &I 9 99 F7AT .o, FEATAT 2l
01. Scrolling 02. Searching
RIS AT 9 HwAT

03. Moving

04. Copying



0S. Halting
BT FTAT
Solution for Question 179 Ans Key: 4
eng/eng - To move the text from its original position to another position without deleting it is
called copying.
SHRT Bl ol UM A T W W fI7 3/ Y Jd HRAT DA HeaAm & |
enghin - To move the text from its original position to another position without deleting it is
called copying.
TRT P I UM W TR W R 971 39 8SY 7@ HAT DUl FSAT © |
Q-180  Which type of software is similar to an accountant’s worksheet?
engleng [ THTT FT AIFATL STHTSe T qefie F 7 §2
01. Word Processing 02. Database
03. Spreadsheets 04. Graphics
05. File Manager
Q-180 Which type of software is similar to an accountant’s worksheet?
3T ToRTE T TTFITT AT e it FFefie F war 82
01. Word Processing 02. Database
03. Spreadsheets 04. Graphics
0S. File Manager
Solution for Question 180 Ans Key: 3
Spreadsheet is a software similar to an accountant’s worksheet
Spreadsheet is a software similar to an accountant’s worksheet
Q-181 A directory within a directory is called .........
s fAEforrT  fiae uw R FerSmare ...
01. Mint Directory 02. Junior Directory
03. Part Directory 04. Sub Directory
05. None of these
Q-181 A directory within a directory is called .........
U it o v R Fer ST e L
01. Mint Directory 02. Junior Directory
03. Part Directory 04.  Sub Directory
05. None of these
Solution for Question 181 Ans Key: 4
eng/eng A directory within a directory is called sub directory.
T directory F 3a¥ directory T Ta TTELFH Y Fgl SITAT &
eng hin A directory within a directory is called sub directory.
U directory F 3a¥ directory T Te TTELFH Y Fgl SITAT &
Q-182  Printers and screens in computer system are common form of—
eng/eng Foe? e | 9T siT shia J1g =9 8
01. Processing device 02. Computation units
03. Input units 04. Storage units
05.  Output units
Q-182  Printers and screens in computer system are common form of

eng hin

Fee ffeen | fiew oty wfia amm =9 8



01. Processing device 02. Computation units
03. Input units 04. Storage units
05. Output units

Solution for Question 182

Ans Key: 5

eng/eng  Printers and screens in computer system are output device

fSfex 3iT =i Frgex [Beew § U aeee Rarsa g

eng hin  Printers and screens in computer system are output device

e oiT & Frges e § U aeeye Rara g

Q-183  Computer programs are written in a high-level programming language, however, the human-readable version of a program is called

engleng TS TUTH TF IF-FTLA TIUTHIT AT0T H ford ST 2, grerifen, el T o qre-a= 1 S0 7 FGT ATAT &

01. cache 02. instruction set
03. source code 04. word size

05. None
Q-183 Computer programs are written in a high-level programming language, however, the human-readable version of a program is called

enghin  F7IEL TUTH UF IF-FqLT TRITERT AT07 # fore Srar 2, greriteh, Tl TR o A - 1 S0 1 FET SIS

01. cache 02. instruction set
03. source code 04. word size
05. None

Solution for Question 183

Ans Key: 3

Computer programs are written in a high-level provramming language, however, the human-readable version of a program is called source code.

FOYET TITH U IF-TTLA TUTHNT AT H forg Sray €, gretifes, ot S o Area- s+ S0 T 919 F1E gl Sl §

Computer programs are written in a high-level programming language, however, the human-readable version of a program is called source code.

FOYET TITH U IF-TTLA TUTHNT AT0T H forg ST1ay €, gretifes, et S o ArHa- s+ §Eheor &l §14 F1E Sgl Sl §

Q-184 is abbreviation for Modulator — Demodulator.
T Hferd 9 Modulator 3T Demodulator &

01. keyboard 02. mouse
03. printer 04. modem

05. None of these
Q-184 is abbreviation for Modulator — Demodulator.
=T T2 =T Modulator 3T Demodulator &

01. keyboard 02. mouse
03. printer 04. modem
05. None of these

Solution for Question 184

Ans Key: 4

eng/eng Modem is abbreviation for Modulator — Demodulator.
HIEH FT "erd T Modulator 3% Demodulator &

eng hin  Modem is abbreviation for Modulator — Demodulator.
AIEH FT "erd T Modulator 31T Demodulator &

Q-185 Microsoft Word is an example of ---------- .
engleng  ATESHIHIFE TS--mmmnm- T ITTEL 2|

01. An operating system 02. Application software

T St ey TTHATH T ATHFITL
03.  An output device 04.  Aninput device

TF ASee RareH LEEE R CAEEIEL]
05. None of these

TAH H A TRl

Q-185 Microsoft Word is an example of ---------- .
enghin  HTSHTHAIEE FE--o-oo--- T IIET E



01. An operating system

02.  Application software

T AT ey TSI ATFEATT
03. An output device 04.  An input device
TF A3 fRares REERKCAREIES
05. None of these
T
Solution for Question 185 Ans Key: 5
eng/eng Ms word is an example of a software used for writing and lot of things. it is made by microsoft
eng hin  Ms word is an example of a software used for writing and lot of things. it is made by microsoft
Q-186 - software helps you carry out tasks such as typing a document or creating a spreadsheet.
eng/eng  STFIHE T TTET FTAT AT TSN AT H ST ATHEATL HEE FLAT © A ------=- HTFEAIT FEATAT 82
01. User 02. Computer
g L
03. Programming 04. Application
TRITRET ufteraner
05. System
freew
Q-186 - software helps you carry out tasks such as typing a document or creating a spreadsheet.
SIFIHE T 22T FIAT AT T2efie T9 | ST AT 7 FAT 8 TG --mm-mmmemm ATFRATT FZeATdT 22
01. User 02. Computer
TR T
03. Programming 04. Application
TR eI
05. System
ey
Solution for Question 186 Ans Key: 4
Application software provides a facility to type a document or creating a spreadsheet.
e ThR HTHEER STaHRE i 213H i i AT BISI(E oI 3h Fferein J& Hid @l
Application software provides a facility to type a document or creating a spreadsheet.
SRR TTHESRR ST ol 2157 it ol AT BISTIE ST el e T i 2
Q-187 A@m) is text that you want to be printed at the bottom of the page.
e O " U Sae g TS o Ut 3 = e AT =R 2
01. header 02. end note
03. foot note 04. footer
AT T
05. None of these
TAH FFIE AR
Q-187 A is text that you want to be printed at the bottom of the page.
enghin  ------------- U T g T T O o = foive #2ar =g 21
01. header 02. end note
=7 e
03. foot note 04. footer
AT T
05. None of these
TAH F FIE TR
Solution for Question 187 Ans Key: 3

eng/eng Footnote

e

N

eng hin  Footnote

Hele

N




Q-188  Which of the following is a programming language ?
engleng T H & FI TFH TR AT 82

01. Lotus 02. Pascal
e ITER
03. MS Excel 04. Netscape
TH.TH. T =T

05. MS Office
TH.UH. AR

Q-188  Which of the following is a programming language ?
enghin ¥ & & FI7 TF TR 4797 82

01. Lotus 02. Pascal
Al TR
03. MS Excel 04. Netscape
TH.UH. T =T
05. MS Office
TH. U, R
Solution for Question 188 Ans Key: 2

Pascal is a programming language.

YTkl Weh STHTERT HTST 2

Pascal is a programming language.

Tehed Weh STHTET HTST 2

Q-189  The two broad categories of Software are ------ ?

I D RN TRy 1) E— B &

01. Word processing and Spreadsheet 02. Transaction and Application
T TTHTET 3T Breefie TSI 3T TCATh e

03. Windows and Mac 04. System and application
ESEEREET e 3T uwiisae

05. None of these
TAH  HIS ARl

Q-189  The two broad categories of Software are ------ y)

IR EE PR T I 1 L G— 2T €l

01. Word processing and Spreadsheet 02. Transaction and Application
T TIEET AT Tsefte TR STY Toeftahere
03. Windows and Mac 04. System and application
[EEEIIRE:ED ey T Uwdi
05. None of these
TAH T FIE TR1
Solution for Question 189 Ans Key: 4

eng/eng  Software can be categorized into two parts are as follows.
(1) System Software

(2) Application Software
WA AT & AT T FieT ST Tl 2

(1) Toreem amaeaeR
(2) TAHIH TTFERIT

eng hin  Software can be categorized into two parts are as follows.
(1) System Software

(2) Application Software
T T & AT § 1T ST Feha 21

(1) e weaT
(2) TR AT

Q-190  Reftesh Rate of monitor is measured in .
eng/eng Aifder it Rom e H AT ST %"I

01. Hertz 02. Meter



=3 Hew

03. Volts 04.  Ampier
ElE i
05. None of these
TH q TS AR
Q-190 Refresh Rate of monitor is measured in .
eng hin Aifve it b 3= H AT ST %I
01. Hertz 02. Meter
A ticas
03. Volts 04.  Ampier
Bl i
05. None of these
TH q TS AR
Solution for Question 190 Ans Key: 1
eng/eng  Refresh Rate of monitor is measured in Hz.
Aifeer &1 ok ¥ gest | AT ST 2l
eng hin  Refresh Rate of monitor is measured in Hz.
Aifeer &1 Rk ¥ gest | AT ST 2l
Q-191 A hard disk is divided into tracks which is further subdivided into .
RET CA L ieC s e R E RS IR A A | ) g — T Iutarsriorg gt 2l
01. Clusters 02. Sectors
03. Vectors 04. Heads
05. Cell
Tq
Q-191 A hard disk is divided into tracks which is further subdivided into .
e A L ieC s e R E RS A AT I ) — H SafaartorT g 2l
01. Clusters 02. Sectors
FACZL TFeH
03. Vectors 04. Heads
05. Cell
I
Solution for Question 191 Ans Key: 1

A hard disk is divided into tracks which are further subdivided into sectors.

T 2S [88h o | faarioa gt g ST o Jeed | Ssufa«riorg 2l &l

eng hin A hard disk is divided into tracks which are further subdivided into sectors.
U gTe foww o | farsiirg gt g ST o Heed | 3ufarsierd gl gl
Q-192  One petaflop is the equivalent of one calculations per second.
eng/eng TF TETFAT TF ......... FAFALT T FHFee F THE AT 2
01. trllion 02. million
fefer IEIERE]
03.  quadrillion 04. billion
Frigferas IEISER]
05. None of these
=78 RS
Q-192  One petaflop is the equivalent of one calculations per second.
eng hin  TF YETFATT TF .......... FAFALT T e o TH 21T &l

01. trillion 02. million
fefer IEIERE]
03. quadrillion 04.  billion

EUSIGRE fafera=



05. None of these
TAH HHIS Tl

Solution for Question 192 Ans Key: 3
eng/eng  One petaflop is the equivalent of one quadrillion calculations per second.
T TETFATT, T TS 1A HARALT T qohee 6 FHIT 21aT &l
eng hin  One petaflop is the equivalent of one quadrillion calculations per second.
T UETFATT, T TS 1T HARALT T qohee 6 FHIT 21aT &l
Q-193  The ribbon is used in .
eng/eng | G [ (. frsl?ﬁWﬁWTGﬂ‘dT%’l
01. Laser Printer 02. Line Printer
e fiex AT ffex
03. Ink-jet printer 04. Dot Matrix printer
FF-3< fifax gl ffew fiex
05. Plotter
e
Q-193  The ribbon is used in .
enghin fET-mmmmcemmmees H AT foRaT ST 21
01. Laser Printer 02. Line Printer
03. Ink-jet printer 04. Dot Matrix printer
-3 fifex Tie ffea ffex
05. Plotter
Solution for Question 193 Ans Key: 4
The ribbon is used in Dot Matrix printer.
R, =i Afesre fiex ® geaure e Smar 2
The ribbon is used in Dot Matrix printer.
e, =te ffesm fier § zeqwme R STar 21
Q-194  Which of the following is a popular programming language for developing-multimedia web pages, websites, and web-based applications?
e & & I oY Ao H ST 3 ST, FTET2l, ST AT AT U TheIe ST FIA o [oIT T AR TRITHT AT9T 82
01. COBOL 02. Java
FraTT ST
03. BASIC 04. Assembler
05. None of these
THH T HTE LT
Q-194  Which of the following is a popular programming language for developing-multimedia web pages, websites, and web-based applications?
enghin T8 ® & F1 1 AiM=AT 3 I, Fq@TEL, AT 97 TR TA 169 1 STAT F 6 (o710 TF ATRTIT TIATHIT AT 82
01. COBOL 02. Java
EACIC Srar
03. BASIC 04.  Assembler
ElGER FHaAT
05. None of these
T A A
Solution for Question 194 Ans Key: 2

eng/eng Javais a popular programming language for developing-multimedia web pages, websites, and web-based applications.

STTAT AEETHITSAT 38 UST, JeHTEel, 3T 36 SLTRT TSIl & S TUT o (o7 Uah AR TITHET ST 2l
eng hin  Java is a popular programming language for developing-multimedia web pages, websites, and web-based applications.

STTAT AEETHITSAT 38 UST, JHTEEl, 3T & SMATRT TSl & S U o (o7 Uah AR TITHT ST 2l
Q-195 Apple Macintoshes (Macs) and PCs use different to process data and different operating systems.

eng/eng  TTTH HTARETLT (THUHTUH) SiT¥ ieft, 2T THTERT 2T otemt o fear e 3 o0y semr- oo —-onee e FT T FT



01. languages 02. methods
CIEIE [EIERL
03. CPUs 04. storage devices
GIRIRY TS STHLIT
05. None of these
TIH q IS Aol
Q-195 Apple Macintoshes (Macs) and PCs use different to process data and different operating systems.
eng hin  TT ATAETeT (TAUETTE) ST e, T TRIRRT ST sromt AT foeew % forg Sert- e oo T AT FH7d &
01. languages 02. methods
CIEIE [EIERL
03. CPUs 04. storage devices
GIRIRY EEILST ITHTT
0S. None of these
TIH T HIS Aol

Solution for Question 195

eng/eng  Apple Macintoshes (Macs) and PCs use different CPUs to process data and different operating systems.
weqer AfSrearer (AF) Sire fefY TeT TE AT ¥ forg sremt-srent stra i frew sie stemt & fY 7 &7 w3 #:3 €

eng hin  Apple Macintoshes (Macs) and PCs use different CPUs to process data and different operating systems.
Trorer Ffererrer (fR) it et ST wrE T B s sy At Ry Sy si srer o oY o ay w2 )

Q-196 VDU is also called----
1 ff T ST 2
01. Screen 02. Monitor
03. Printer 04. Both1 &2
ez 1 3f¥ 2 Frat
0S. Scanner
Q-196 VDU is also called----
] ] ) (U ftFgTSTaT
01. Screen 02. Monitor
03. Printer 04. Both1 &2
ez 1 3f¥ 2 Tt
05. Scanner
Solution for Question 196
eng/eng VDU is also called screen and monitor.
FE B T Fid e @ Fgarar gl
eng hin VDU is also called screen and monitor.
FE B T Fidre {F Fgarar gl
Q-197 A system is a small, wireless handheld computer that scans an item tag and pulls up the current price as you shop.
engleng  ------------ T BT ATALAT GUSeE HET & ST ATSEH o &l Thel FAT | ST AT FIa T o il o al gl
01. PSS 02. inventory
froas EREES)
03. POS 04. data mining
frsroe TTeT AT
05. None of these
TAH F ATE TR
Q-197 A system is a small, wireless handheld computer that scans an item tag and pulls up the current price as you shop.
enghin  ------------ TF BT ATALAT IS0 HET & ST ATSEH o & Thel FAT 2| ST AT T2 T o il o al g

02. inventory

ELEC

04. data mining

Ans Key: 3

Ans Key: 4



EiEiL) FTeT AT

05. None of these

e S
Solution for Question 197 Ans Key: 1
eng/eng A PSS system is a small, wireless handheld computer that scans an item tag,
PSS foeeq UF Gl a7 gvegee H4e g ST STZeH o1 &l Thd HedT 2l
eng hin A PSS system is a small, wireless handheld computer that scans an item tag,
PSS foeeq UF Gl a7 gUegee #4e & ST ATSeH o1 &l Thd HedT 2
Q-198 A translates a high-level language (that is easy to understand for humans) into a language that the computer can understand?
engleng  ------ BT e ST (A ST TTa ZIT AT & THAT ST T ) FT 3T ATIT H TTEAS FAT g Ore Hege THH Tl g7
01. Computer 02. Device
FrgeT [EEIEL)
03. Decoder 04. Transistor
IEETAS Titoreax
05. None of these
AT F FIE ARl
Q-198 A translates a high-level language (that is easy to understand for humans) into a language that the computer can understand?
eng hin ~ --—---- FTE T VT (A ST HI9A ZT9T SATETAT 3 FHAT ST 5 ) T 39 AT9T § T76eE Fq7 2 o 22T THe 9967 22
01. Computer 02. Device
FL EEIEL
03. Decoder 04. Transistor
0S. None of these
TAH T FHE AL
Solution for Question 198 Ans Key: 5
A Compiler translates a high-level language (that is easy to understand for humans) into a language that the computer can understand.
TF FFATSAL gTS Aae ATIT(STT AT ZTT SATETAT & FHAT ST FRAT & ) T 3T ATHT H 16l HedTl g ol Hege TR Tl &l
A Compiler translates a high-level language (that is easy to understand for humans) into a language that the computer can understand.
TF FFATSAL gTS Aae SATT(STT A G STETT 8 HHAT ST FHaAT g ) T S ATHT H ZTEI HdT & o6 Hege THE Tl gl
Q-199 _ Isthe virus that they will attach themselves to EXE files, compressed files like ZIP files and driver files?
-------- FIAH g ST 1T wreetl ST STeaY WIeal il g SR Wi, SUFTs ®Iedl & 97 g3 T gl 1 2
01. File infector virus 02. Network virus
TS TAHACE ATA7H qaae T
03. Boot virus 04. E-mail virus
ECEIREC THA ATIH
05. None of these
e S
Q-199 Is the virus that they will attach themselves to EXE files, compressed files like ZIP files and driver files?
enghin  -------- FIATH g ST oI BIEAT 3T TT2aT Bl 61 g HEAd BISAl, SUFAS BT F AT G3 HA7 g1 1 &l
01. File infector virus 02. Network virus
HEA SARFS ATAH TS AT
03. Boot virus 04. E-mail virus
st
05. None of these
e A
Solution for Question 199 Ans Key: 1

eng/eng  File infector virus is the virus that they will attach themselves to EXE files, compressed files like ZIP files and driver files.
HTEA THFEL ATATH U ATAH g ST #43 Fl EXE FTS, FFIE 1A o 57T FIEd i 129 5 8 e HY d 8l
eng hin  File infector virus is the virus that they will attach themselves to EXE files, compressed files like ZIP files and driver files.
HEA THFEL ATATH U ATAH g ST #43 FT EXE FTS, FFIE IS o 57T RIS T 129 B 8 e HY d 8l
Q-200 Time during which a job is processed by the computer is

eng/eng

FFAEY T T (0 g0 S & a0 &l ---- Figd 2|



01. Real time 02. Down time
R EET 2T 2TeH

03. Execution time 04. Delay times
THFFAT 28 Rererew

05.  Access Time

T 21EH

Q-200 Time during which a job is processed by the computer is
eng hin  FFIET G W&H BT g0 STla o 790 F7 - Fgd &l

01. Real time 02. Down time
st e 23T a5/
03. Execution time 04. Delay times

THFFAT 28 [EECIET]
05.  Access Time

T 21EH

Solution for Question 200 Ans Key: 3

eng/eng  Time during which a job is processed by the computer is Execution time.

FET ZIT TI8H 30 g0 Sifer 3 #0 FT UHAF9 2T2d Fgdl 2|

eng hin  Time during which a job is processed by the computer is Execution time.
FFAEY T TEH (0 g0 S & G907 F TFTFg2T ST2H Figd 2l



